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��������	� N = {0, 1, 2, . . .} 
���
�� 	�������	� 
�� ������� ������	�� �� Z = {. . . ,−2,−1, 0, 1, 2, . . .} 
���
��
	�������	� 
�� ������� ��	������ �� ������ a ∈ Z ���� 
�� ������� 	������ a ≥ 0� �� ����������� ������� 	������ a > 0�
���� �� ������	� A ���� �� ������ Card(A) ��� ���
���	� ��������
��� 	� ������ 
��	������ ����	 ���������

���� ������		����� ���� 	� �	����� 
� ����� ���� 
�� �������		�� �������� ���� a ≤ b� �� ������ ]a, b[  ����� [a, b[�
]a, b] �� [a, b]! 	�� �������		�� ������� ���������� 
�� ������� k ∈ Z ��	� ��� a < k < b  ����� a ≤ k < b� a < k ≤ b ��
a ≤ k ≤ b!� ���� ������������� 
��� 	� �����
� ������ 	�������	� 
�� ������� ���	� α ��	� ��� 0 < α < 1� �� ����
��������� � �� ������ 	� 	� ������� ��" ��������� 
��������		�� ���	�� #��� 	� �����
� ������� 	� ����� $ ����� %

���
���� �� ������ ���	 α� ����������	� ��	 ��� 0 < α < 1�

�� 	����� A 
���
���� ���&���� �� �	�'����� ��������
��� �� ������	� ���	������� 
��� 	�� �	������ ���� ����	��
	�� 	������� ��� �	�'����� ��� ���� �����
����� �������� (��� ������� �� 	�')���'*�� 
� �����
� ��� A ���� ���&����
�������� 	� ��� ��'����� �� ��� ��� A 
���
�� �� ��� ���� ��������
��� �� �	����� 
� 	� ������� 
��&����� ∪n≥1A�
�� ��	 ��� u ������� 
� ����*�� ������ u1u2 · · ·un ���� �� ������ n ≥ 1 �� 
�� 	������ (ui)

n
i=1� 	������� n �� ����

�	��� |u| �� ������		� 	� 	��
���� 
� ��� u� +� ������ A+ 	�������	� 
�� ���� ���� ��� �� �	�'���� A�

,� u = u1u2 · · ·un ��� �� ��� ��� ��� �� �	�'���� A� �� ���� ũ = unun−1 · · ·u1 	� ��� ������ 
� u� +� 
�� ���
	� ��� u ��� �� ��	��
����� �� ����	 ��� ��	��
�������� �� u = ũ�

�� �	����� 
� ��� ����	����  ��������������� ����"� ���������!� ������� �� 
����� 	������ 	� ��� ��
� ���
�����
��� �� �(�� ����� ��� 	�� ���� ���� ������
��� -����� ��� ���������� �� ���� 
� 	��
�
�� ���� �� 	��
 
� ��

������� .

	� ����� $ ��� % 
���
���� �� ��� ��� ������
��

#� �	��� ��� ����	���� ������������ ������� ��� ������� � �� ��� ����� x �"�� +� ������ 
��� �������� ��� 	��
�	�'����� �����
���� ���� ���� 
��������	���

�� ��� ����� x ��� �� �	�'���� A 
���
�� �� ��� ����� � 
������ �� ��� �� �	����� 
� AN� ��� �� ����
x = x0x1x2 · · · �/ 	�� (xi)i≥0 ���� 
�� 	������� #��" ���� ������ x = x0x1x2 · · · �� y = y0y1y2 · · · ���� �
��" �� ��
���	����� ��� ���� ���� i ≥ 0� xi = yi�

�� ��� �������� ω ��� �� �	�'���� A ��� �� �	����� 
� AZ� +� 
��� ��� 
��" ���� ��������� ω = (ωi)i∈Z ��
τ = (τi)i∈Z ���� �
��" 	�������	 �"���� �� ������ k ∈ Z ��	 ��� ���� ���� i ∈ Z� ωi+k = τi� ,� x = x0x1x2 · · · ��
y = y0y1y2 · · · ���� 
��" ���� ������ �� ����

ỹ · x
	� ��� �������� ω = (ωi)i∈Z 
����� ��� . ωi = xi ���� ���� i ≥ 0 �� w−i = yi−1 ���� ���� ������ i > 0�

���� x �� ��� ����� ��� �� �	�'���� A� �� 
���
�� ��� ������������� 
� x ��� �"�������� 
� 	� �����

x = u1u2u3 · · ·
�/ 	�� ���� (ui)i≥1 ���� 
�� ���� �����

+� 
�� ����� ��� v ��� �� ����"� 
��� ��� u �� v = u �� ���	 �"���� �� ��� ��� w ��	 ��� u = vw� #� �(��
�� 
�� ����� ��� w ��� �� ��0"� 
��� ��� ��� u �� w = u �� ���	 �"���� �� ��� ��� v ��	 ��� u = vw� ����
x = x1x2x3 · · · �� ��� ����� ��� �� �	�'���� A �� n ≥ 1� �� ����

Pn(x) = x1x2 · · ·xn
	� ����"� 
� 	��
���� n ≥ 1 
� x� +� ����

T : x = x1x2x3 · · · ∈ AN �−→ T (x) = x2x3x4 · · · ∈ AN
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 �
 x �� ��	 ����� �
 ��

����
 T k(x) ���� �� 

�	��� k ≥ 0� �� ��	 ����� y 
�	 �� ����
 �
 x ������
 y = x �� ����� 
���	
 �� ��	 ��� u
	
� ��
 x = uy� 
	 �� ��	 ��� u 
�	 �� �����
 ���� ��	 ����� x ��������� 
���	
 �� ��	 ����� y 	
� ��
 x = uy� ����
�� ��	 �������� ω = (ωi)i∈Z� �� ������
 ��� �� ����
 �
 ω 	��	 ��	 ����� �
 �� ����
 y = ωkωk+1ωk+2 · · · ����

�� k ∈ Z� �� �����
 �
 ω 
�	 �� ��	 ����� �
 �� ����
 x = ωkωk−1ωk−2 · · · ���� �� k ∈ Z�
�� 
�������
�� ��
��
���
 AN 
���
 ����	 �
 �� 	�������
 ������	 ����
��
  �� 	�������
 ���
�!	
 ��� A� ����

x �� ��	 ����� ��� �� ������
	 A� �� ��	


Ω(x) = {T k(x) | k ≥ 0}

	 �� ���
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ω = (ωi)i∈Z ���	 	��� �
� ����
� ���	 �
� ����
�	� �
 Ω(x)�
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�����	� �������� "��� ����� ��
��#�� ��������	���
� �� ��		�"��	 ��� ����	������� ����
��������� ���� 
� ������� ������� �� �� ������	�� ����
���	�������� 
� �
���� ��� ���� ���� 
��	���� ��� �� ������� ���� 
������� ��	������ �	��	�
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��	���� ��� �� ������ ���� �
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��� ��	 ��
�
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 �� �����	��� �� ��� �� �����%�� ���	�� �� �� �������	��� �� �. ������
� ���� �� �������� ���	 y 
� ������	

�� ������	� �������
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��� ��	 �� "����� ��
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� ����� 	�	�� �
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�	�

�	���	����	 ��������	� ����	���� ��	
���� 	���� �
� �� �
�	� ��� ���

�
�� ��� ��
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� ������� ����
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��	� y �	 Tuk(x) ���	 �	���	����	 ��������	�� �	 ��
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	 k ≥ 1� ���	 ≤k 
� ����� 	�	�� �
� A 	�� �
� Tuk(x)
���	 �� "����� ��
� ������� ≤k� ����� ��� �����	���� ���� �	 �� ��� !� ��
	 �
������ ���� ���	� �� 
�������	� �
�

���������	 A ��	 ������������ ����	�	
� ��� ��		��� �����������	 ���� x� !� ������%�� ���������	 B ����	�	
� ���

��		��� �����������	 ���� y� !� ����	 B ����� �� ��
���� ��������	� B = ∪Fi �(�� F1 ⊂ F2 ⊂ F3 ⊂ · · · � ����������

Fi �	��	 ���������� ��� i �����%��� ��		��� ��
� � ��
� ���	���	�� �����������	 ���� y� �� ���������� B ��	 ���� ��		�

�
�	� �� ���	��� ����� ��	 ����� ���� ���� ����	�������� ��� ���� �� �
�	� �� �� ������	��	���� /�	�� �
�
�� ���� ��

�������	��� �� �. �����	���� �����%� �� 	����%�� �� � � ��		� ���	�� B �� ��
	 ��� 0	�� �����

'�
� 
� �������� X� �� ��	� Ot(X) ���������� ��� ������ 	�	�
� �
� X� �	 �� ������%�� ���������� ����
�	

Γ =
∏

i≥1Ot(Fi)� !� �
��	 ��	 ������ �� �� 	�����
�� ����
�	 �������� � �� 	�����
�� �����%	� �
� ����
� ���

��������� ���� Ot(Fi)� �	 �������� 	�����
��
� Γ ��	 ����� ������	� �	 ��	���
�� "�� �������	���� �� ���	���	����

���
����	 
�� �������	��� ��	
����� ��,��	�(� Ot(B) −→ Γ� �	 
� ������	 ≤ �� Γ ��	 ���� �����
� �� ��		� �������	���

�� �	 ��
�����	 ��� ��
� 	�
	 1 ≤ i ≤ j �� ���	���	��� � Fi �� �� ���	���	��� � Fj �� ≤ �������� �(�� �� ���	���	��� �

Fi �� ≤� +��� ���	�� �
� �����
� �� Ot(B) −→ Γ ��	 ������� �	 ���� ������	�� 1� ����	� ���� 
�� ��	���	��� ��

�� �
�	� (uk)k≥1� ����	#�#���� 
�� �������	��� ψ : N∗ → N∗ �	���	����	 ��������	�� �	 
� ����� 	�	�� ≤ �
� B 	���

�
�� ��
� 	�
	 ��	��� i ≥ 1� �� �
�	� ��� ���	���	���� � Fi ��� ������ 	�	�
� ≤ψ(k) �	�	����� ��
� k 
���� (��� ��

���	���	��� � Fi �� ������� 	�	�� ≤�
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��� ��� ������� ������������ ���� �� ������ �� ����
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�
|w|+ 1 + l �� y ������������� � Fi� ��� ������
����� �� � ���������� ψ� �� ������ 
� ������ k ≥ 1 ��� 	
� � 
�� ����
|wψ(k)| ≥ |w| + l + 1� �� ��� 	
� � �
��� ����� �� �
��� ��� ������������ � Fi ��� ������ ����
� ≤ψ(j) ���� j ≥ k ����

��������� ���� j� ����� � �� ����������� � Fi �� ≤� �
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� �� ��� Tψ(k)(x) ��� �� 
����� ��
� � ����� ≤ψ(k) ���
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� ��� ������� ��������� ���� ��� ��
� ���� ������������� � Fi� �� �����
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� �� ����������� �� ≤ψ(k) � Fi �������� ���� ≤� �� �� ���
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� y < T l(z) ��� ���
���������� �� � ����� ����������!�	
�� #����� �� ��� y ��� $��� �� 
����� �� �� ����������� �� ����
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� �������� ��
��� �������	
� x1x1x1 · · · �

��� �����	 
� ��
��

����� �����	� �	������ �� �	������ ���������� �� �������� ��������� �� ����� �����	� ��� �� ���	���� ���� �


�� ����%� �� &���� ���� ��� ���� ���� ������ �
� 
� ���!�$�� ���� ��� ������� ��
���� '��� ���������� � ���
�������������� (�� %������ 
�� �
��� �� ���� ���� 	
� ���� ������� ��� 
�� ��� �
����� �� �� ��
� ����� ������ �
������ � �
� 
� ��� ������ ������ �� ��� �� &����� �� ��� ��� 
� ��� ����� ����� �
� 
� ���!�$�� ������ �� �������
�� ���$��
��� ���������� �����	
�$���� )��� ����� �������� ��
� ���������� ��� ���� �� ������� ��
���
�� �� ��
��
����������� *�
� ���������� �
��� 	
��	
�� ���
����� ���������� �� ����� ��� �������� �� � ��$��� ������	
� �
 ���
�� &���� � � ���� ��� ���$��� 2+���	
���


�� ����%� �� &���� ��� ��������� � '��� ���������� �� ���%����
� �� �'�� ����� 	
� ��� ��,������ �����
�
���������� ��� ����%� �������$��� �
� ��� ���� ������� 
� �!"�� ��� ����%� �������$�� ��� �����
 
� �
-�� �������
�+
��$�� ���
�� ��� �����
� %������
�� �� #� .!
� /�01� �0�2� 	
� � �������� �� �340 � ��������� � 
� ��� ����� ����
%����
�� ������ �
� 
� ���!�$�� � 5 �������� ��
� ���������� �� �336� 7� 8��9��� /�442 � �������� 	
� ��� ������
�$������ ������� �����$��� �
� 
� ���!�$�� � 1 �������� 
� ������������� ��� ����%� �� &���� �������� 	
��� � ���� �

%��� 	
 ��� ���� ��� ����%� �������$��� ��
� ��� ���� ������ �
� 
� ���!�$�� ���� ����� ��������� %����������� ���
����%� �� &���� ��� ��������� ���� �� ����� �� �� 
��!���� /��02� 
� 	
������ ��� ����%� �������$��� ��� � � ��������+
���� �� ��
���
�� �������� ��� ���!�����	
��� ����� �� �������� ��� ������� �� ������� �����
� �� :� ;��� �� .�
<�! /662� 
�� ����%� �� &���� %��� ������ ��� ����%� 	
� ���� �������$��� ���� ��� ��������� ��� ��
� ������
� =���
���!�$��� ����>� �� ���� ����� ��"� ��
���� �� ��� ��
� ���
��
�� �
� �
������� %�������� ���� /�?� �3� 042� @�� ��
��
��� %����
�� �� &���� � ��� ��� �� ����������� �� �������� ���� ��
� ���������� �������� ���
����� �	
�������� ����
��� �,���
�� ���� � ������� /?62�

�
������� �	�	�

!� �	������� �
�������� ��
�� AX = {x1, x2, x3, . . .}� ��� �	��"� �� #���� �	�� ��� �	�� 
��� (Zn)n≥1 �	������� $
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���� �� �� ������	� �� ���������� �������� %

Z1 = x1� �� Zn+1 = Znxn+1Zn �	�� n ≥ 1�
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Z1 = x1� Z2 = x1x2x1� Z3 = x1x2x1x3x1x2x1� Z4 = x1x2x1x3x1x2x1x4x1x2x1x3x1x2x1�

����� 	�
� �
�	� ������
�� ��� ������ �� ����	 ��	� �	�
������� �
� ��� ��������� �	��� ������������ �
� ��
�
��
� ��� �	�	� x �
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	 �������� �	� A �� ��
� n ≥ 1� �� ������ 
	 ��������� ψ : AX −→ A+ 	�	���� �	�
!"����������� ��	� �����#� �� "���
� ������ ��� 
	 ��� 	�	�
���$ ��� �
� ψ(Zn) ���� 
	 ��"��
� �� x� 
��� [���]�
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����� �� "��� ������ �� ���	�� �� ��� �� ����	 "���� ��
	��
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� ��� ���� Zn ��
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∏
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xval2(k)+1 �� val2 �
� �� ���
����	 2�����
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�� Z �
� ��
	��
� ���	� � � �
 ������
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 (Un)n≥1 �� (Vn)n≥1 ��� ��
 �������	
 �� ���
���	�� 

���	��
 �

" U1 = V1 = x1�
" Un+1 = xn+1U1U2 · · ·Un ��
� n ≥ 1�
" Vn+1 = VnVn−1 · · ·V1xn+1 ��
� n ≥ 1�

6	 �������� ��
� n ≥ 1� ��� �������	� �
�
�	��� 7
8 Zn ��� 
	 ����	������ �� Ũn = Vn�
8 |Zn| = 2n − 1� �� |Un| = |Vn| = 2n−1�
8 Un+1 = xn+1Zn �� Vn+1 = Znxn+1� 3� ��	�)�� ��
�
���	��� Zn = U1U2 · · ·Un = VnVn−1 · · ·V1�

6	 �	 ���
�� �	 �����"
���� �
� �� ��� �� ����	 ����� �� ��"���������	 7

Z =
∏
i≥1

Ui�

,�
� ��
� ������� �	��� 	�	�
���� A �� B �� N∗� �	 ���	�� ��� ���� 7
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UA =
→∏
i∈A

Ui = Ui1Ui2 · · ·Uik �� A = {i1 < i2 < · · · < ik}

��

VB =

←∏
j∈B

Vj = VjkVjk−1
· · ·Vj1 �� B = {j1 < j2 < · · · < jk}

�� ���	 
��� �
� ������� ��� Un = U{n} ���� n ≥ 1�
���� n ≥ 1� ��� ������ ������� �� Un ��	� ���� �� �
 ����� UA �� ∅ �= A ⊂ [1, n[� ������ ���� ���� A ⊂ [1, n[�

Zn−1 = V[1,n[\AUA �� Un = xnV[1,n[\AUA�
�
� ��� ���������� �� �
 

��
���	 ��
����� val2� �	��� ���� �������	��� ��	������
�� ���	� ������ xk 

�� k ≥ 1

�
	� Z �� ����
� 
� ������ ��� ���� ��
�����	� �	� �������	�� ���	� ������ xl 

�� l > k� �	 � ��� �� n �� m ��	�
���� �	����� 

�� n < m 
���!
	� val2(n) = val2(m)� ���� ��� ���� ���� �	����� n < p < m �	 
�� val2(p) �= val2(n)�

���� ���	���� q = (n + m)/2 
���!� val2(q) > val2(n)� �� �� ��� �	���� �
� �	��� ���� ���� �	����� �� ����
��
��
	�����
�����	� �	 �	���� �� �"�� 

��
���	 2�
����� ��� n� #	 ��!	�� 
�	�� �� ������ k(u) ���	 �
����� u �� Z
�
� $

k(u) = max{k ≥ 0 | xk 
��
�
%� �
	� u}�

&�� �	���� ��� �
�
������� �
� �
 ��������� ���

	�� $ u ��� �	 �
����� �� Zk(u) �
�� 	���� �
� �
����� �� Zk(u)−1�
�� ���� �� 
��� �
������	� ' ��
��� �� �
 ��!	����	 �������
� ��(�� ��� ���� Zn ���� n ≥ 1 �� �� �
 ��!	����	 �� Z
����� ������ ��� ���� Zn �
	� �
 ��!	����	 ��(��� )�
��*� �� ��+�� �� �� �
�
,�
�-�� �
 ������ xk(u) 	�
��
�
��
����	� ����� ���� �
	� �	 �
����� u �� ��� �� .���	� ���� ��
����� ���	�� �� 
�� ��� �� ��� �� .���	� �	 �����

��	������ /012� 3
 ����	���
���	 ��� ���������� ���

	��� ���� "��� ����
�� �
	� /4�2� �-���*�� ��

�������� 	
�
�

���� ������	 u 
� Z ��
�	�� 
� �����	� ������ ���� �� ��	�� �

u = UAxk(u)VB

�� A,B ⊂ [1, k(u)[�
���	 u �� v 
��� ������	� 
� Z ���� ��� k(u) < k(v)� ����

u = UA1
xk(u)VB1

�� v = UA2
xk(v)VB2

�� A1, B1 ⊂ [1, k(u)[ �� A2, B2 ⊂ [1, k(v)[� �� � �

�� �� ��� uv ��� �� ������	 
� Z �� �� ��������� �� k(u) /∈ A2 �� B1 = [1, k(u)[\(A2 ∩ [1, k(u)[)�

�� �� �� ��� uv ��� ������	 
� Z ���	�

uv = UA1∪{k(u)}∪(A2∩]k(u),k(v)[)xk(v)VB2

�� �� ��� u ��� ����� 
� v �� �� ��������� �� k(u) ∈ B2 �� B2 ∩ [1, k(u)[= B1� �� � ��� u ��� �� !	
"�� 
� v
�� �� ��������� �� k(u) ∈ A2 �� A2 ∩ [1, k(u)[= A1�

3� �-���*�� �������	� ������ ��	� �� �
	�*�� +�5����
� ��� �
������ �� ��� �� .���	� �� �� �6�� �� ������
�
������ �� ��
������ ��� �
����� 
�,�+������ ��� ��� �
����� �� N∗ �	 ����� �� ��
��� ��� �
����� ��� ��� �
������ ��
��� �� .���	� ����� �� �����,	�	� ��� ������
�� �+��	�� �
	� /4�2�


��������� 	
�
�

#����� u, v �� w �	��� ������	� 
� Z ���� k(u) < k(v) < k(w)� $��	� �

�� �� uv �� vw ���� ������	� 
� Z� ���	� uvw ��� ������	 
� Z�

�� �� uw �� vw ���� ������	� 
� Z� ���	� u ��� ����� 
� v�
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 ���
 �� ������ �� �����
 �� �����

���� ��	
��
����	

 ��
� �� �
��
��� �� �� 

�	

 �� �
� �

� ��
��	�� ��� �� ��
�

� �� ����� ��
	� ���

���
����
 ��� �
� �
	� 
������	����
� ���� ���
	 ��� �
 �������� 	
�
	� 

�� �




� ��	
��
�
� �
 ������� 


�
��	�	�� �� ��� �
�� �


� ��� �� �
� ��  	�	
� ����	� ��
� �� ���
	�	

 �!"!#! $� ���� ��������� %�	� ����	�� �� ����
�	��� ��� �� ���
���� �� &�	���
� �����
�� ��
� '��()� ��� �	*���
�� ��������� �����
� �
 ��	��
�� ��� �	�
� ��	���
�
�
��� ��� �
�� �� ��
�

 �� ��� �
�	%� ��  	�	
!

�� �����
�� �� ��
���� ���	�
+����	��� ��
� ��� ��
������ �� %���
�	���	

� ��� �
�� 
���� ��� �������
� 	��������
��� ��� �	���� ��������� �� �� ����	���� ��	� ���� ����	 �	�� �
 ��	��
�� ��
� �� ����	��� # �
�� �� �� ���

�����	


�� ���
���� �� �� %���
�	���	

 �


���
���	���!

�� �
� ��  	�	
 ��� �
 ������� �� �
� 	
�
	 �

� ��
��	�� ��� �� ��
�

� �� ��� ��

 �

��� ��
� �� ��
�
�	�	


��	��
��! ,
 �������� ��� Ω(Z) ���	+
� ��
��	�� ��
��	��� �� �
� ��  	�	
� �� ���� ���� ����	� ��
� �� ��� �� �
�
��  	�	
 �
��� ���
������ ��� �
�� 	
�
	� ��� AX �����+��
� ��� ����� %������� ��� �� �
� Z!

����� �����

���� �����	� Y 
� ����
��� 
�	������ Ω(Z) 
� ��� 
� ����	 ������� 
� ��	���� �	���� ���� �� �����

Y = YM =
∏
i∈M

Ui

���� �	� ������ �	�	�� M 
� N∗�

������� ,
 � �� ��� ����� �� ���
	�	

 �!"!" ���

Z =
∏
i≥1

Ui!

&
	� Y �
 �����
� �� Ω(Z)� ��� ��

 ���	� �
��� �	�	�� �� %������� �� Z - Y = limwn ���� �� ��	�� (k(wn))n≥0

���	�����
� ��
	���
��! ��
�� �
 ���	��
� wn = UAnxk(wn)VBn ��� �� ���
���� �!"!.� ��	���� �
�� �
�� n ≥ 1� wn

��� ������ �� wn+1� 

 � -

Y = limn UAn � k(wn) ∈ An+1 �� An = An+1 ∩ [1, k(wn)[�

�� ����� �
��� ������� �� ����	� 	
�
	�⋃
n≥0

An =
⋃
n≥0

{k(wn)} ∪ (An+1∩]k(wn), k(wn+1)[) =M �



 �	� ���
� ���� An =M ∩ [1, k(wn)[ �
�� �
�� n ≥ 0 ��

Y = YM =
∏
i∈M

Ui!

�� ����	� 	
�
	� M �	
�	 �

����	�� ��� �
	�����
� ������	
��� ���� ��� ��������	��� ��� ��
���� �������	�	

 ���
������� ��
� Y - &	 ��

 ���	� M = {a1 < a2 < a3 < · · · }� �� �	 ��

 

�� xk <Y xl �
�� k �= l �
����� �� ������ xk
������	� �
�� �� ����	��� %
	� ���
� �� ������ xl ��
� Y � ��
�� 

 � -

xa1 <Y x1 <Y · · · <Y xa1−1

<Y xa2 <Y xa1+1 <Y · · · <Y xa2−1

<Y xa3 <Y xa2+1 <Y · · ·
· · ·

xai−1−1 <Y xai <Y xai−1+1 <Y · · · <Y xai−1

<Y xai+1 <Y · · ·

��	��������� �
� ������ xk �
	� ������	��� �� �
� Zk−1 = U1U2 · · ·Uk−1 ������� �!"!� �� �!"!#!

�	
��
�� �����

�� ��� 
� ����	 ��� �	 ��� 
�	� ����
��� ��� 
� ��	
�	�



���� �����	 
� ����
 ��

������� �� ���� 	
 ��
��
� ��
 ���� �
� ����

�� 	
 Ω(Z) ��
� 	
 ��
	�
� ���� Y ∈ Ω(Z)� ��
 ���
 �����

Y = YM =
∏
i∈M

Ui

���� �

 �����
 �
�
�
 M 	
 N∗ 

 �
��� 	� �
��
 ����� 	���
���� ������
� M = {a1 < a2 < a3 < · · · }�  

��
��	!�
 ��� �����"�#
� AX ����	�
 ����� ≤M 	�

� ���

xa1 <M xa2 <M xa3 <M · · · <M xai <M · · · <M x1 <M x2 <M · · ·xa1−1 <M xa1+1 <M · · · <M xa2−1 <M

xa2+1 <M · · ·
��� 
�� ���
���
 ��	�
 ����� ��� AX 	�
� �
� �
��������
� $ M 
� ��
 �������

����
 ���
��	

� ��
� ���	�
 �
	��� ���
N∗� 
� �
� ��
 �
� ����

�� 	
 M ���

� ���� ������
�

� ���� �
���� ��
 �
� ����

�� 	
 ��
 �������

����
 	�
�
N∗� %�
���
� ��
 YM 
�� 	
 ��
	�
 ���� �
� ��	�
� &��� k ≥ 1� �� �� 	��
����
 	
 ≤M � �� T

k(YM ) 

 ����

�

��� ��� �� �
���
 xa1

� ����� YM <M T k(YM )� �� T k(YM ) ����

�
 ��� �� �
���
 xa1
� ����� �
 ��� Ua1


�� ����'

	
 T k(YM ) ��� �� 	��
����
 ����(� 
� �� �
���
 ��� ���� �
 ����'
 
�� 	
 �� )���
 xl ��
� l > a1� �� l �= a2� �����
YM <M T k(YM )� 
� �
 
�� 	�
� ���

� �� ��� �* Ua1Ua2 
�� ����'
 	
 T

k(YM )� �
 ��
��
��
� �
 �����


�

��
�
 

 	�	��� ��
 ���� �
� ���� YN ���� �

 �����
 �
�
�
 N ⊂ N∗ 	����
��
 	
 M ��
� ������
�

� ���� +��
	 ��

YM ���� ����	�
 ≤M � 	��* �
 ���������

�����	
� �

�
 	�
� �
 �"�����
 �� 	
 �� ��
,
����
 ����( 	
 �� )�����������
 ���
�-��
��"��������
 
��
����

	����#��� �
� ��

� 
� 	�.��

�
� 

��
 �
� ���'
� 	��
 ��� �
�
� 
� �
� ����

�� +�
����' 	
 ��
 ��#��
 	�
�����
�
/��� 	�

�
� 	�
� �� ����
 	
 �
��
 �
����
 �

 	
��������
 $ ����	
 	
� 
��#�
� (-�	���
� 	
 �
� 	�.��

�
� ����
�
 ��� 	� ��� 	
 0���
� /��� 	�

�
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 ���������
� �

 	
��������
 �����!�
 	
� ��#��
� #�-�
�
�
� 	�
� ���� �
�
���'
� ��
� 	
� ����

�� 	
 ����#��
 	�
�����
 	� ��� 	
 0���
� 1
�� �!

 $ �
 ���
���
 	
 	������ 

��
 �
�

����
� 	
 ����'
 
� 	
 ���'
 	��

 ��#��
 #�-�
�
�
� 1
 ���
 	
 �������� 
�� $ �
���
 

 ������!�
 	��
�� ��
� �
�
��������� �#�

�� 	�
� �� �
��
	
 �����
 	
 �
 	�������� �� ����
�� 	� �"���!�
 ����(� /���
 ��	�
 	����	
 	
 ��
��
,
����
 ����( 	
 �� )�����������
 ���
�-��
��"��������
� ��� ��
����
 $ ���	�
� �
� 	�.��

�
� 

��
 �
� ���'
�
	��
 ��� �
�
� 
� �
� ����

�� 	
 ��
 ��#��
 	�
�����
� ,�����
 �� ����

�
 	
 �
 �������� 	�
� �
 �"�����
 	
 �

	�������� /��� 	�

�
� �
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 �����!�
 
� #�,
����
 	
 ����#��
 	�
�����
 	� ��� 	
 0���
 $ ����	
 	�
����!�
 	
 
��������
 	
� 

��
�� 

 #��
 (� 1
 ��

 

��
 �
 ����!�
 	
 
��������
 

 #��
 ( 
� �
 ��� 	
 0���

�
�� 2��
 ��� 

 ������!�
 ��
� �
� ���	
� 
'����
�
� 	
� ���� ����������
� 345� ������
 ����
 
��� �����
� �����+
�
$ ���������
 	
 �� 	��
����
 ����(� �
 ��� 	
 0���
 
�
�� ��� ���
 	�2��
 �
 ��� (-����������
 ��������� 
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�
�'
 	��
 ����"���
 (-�
�)���
� /��� ����
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� �
��
 ���	
 ��� �

 	
��������
 	
� ����'
� 
� 	
� ���'
� 	�
��� 	
 0���
 $ ����	
 	� ����!�
 	
 
��������
 

 #��
 (� 1
 ���
 	
 �������� 
�� $ �
���
 

 ������!�
 ��
� �

�������� ��(�(�

����������� 	
�
�

��	
 m ≥ 1� ��� 
��� ���	
 m =
∑N

i=0 bi2
i �� ���� ����� �� 
�� (bi)

+∞
i=0 ��
��
 � �� � �
 ���
 ��
� � ���
	� ���� ���
�	�

����� �
��� 
�� m�	� �� ���!��� �
 ��"��� �� Z ���
 ������ ��� #

Pm(Z) =

N∏↓

i=0

V bi
i+1 �
 Tm(Z) =

∏
i≥0

U1−bi
i+1 �

������� 1
��
 ����������
 	�����
 	
� ��������� �����
� �� 	��
����
 ������

 
 ��
��	!�
 ���


�� 	
� 

��
�� 2-�	���
� Z2� 	��
� ����
 �� �����
 ���,
����
 	
� 

�
�#�
� Z/2nZ� ��
�
	
� ����"���
� 	
 ��	�����
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��#�
 2-�	���
 γ ������� 	
 ��
�!�
 �
���
 γ =

∑
i≥0 bi2

i� �*
bi ∈ {0, 1} ���� ���� i ≥ 0� �
� ��������
� 	��		����
� 
� 	
 �������������
� ����

�
� 	
� ����"���
� 	
 ��	�����
��
 
 ��
��	!�
 �� �
�����
 	��������

�
 ��� �
� 
��#�
� 2-�	���
� 	�

�
 ��� �
 �����

� ��� �
 +����
 �		���) 	
�


��
�� �
����)�� ��
��-$-	��
 ��
 	
�' 
��#�
� 2-�	���
� �
��
� 	��� �������

�� ����� ��
� �+��' $ �
 

��
� �
����)
��!�� �� ���
 ��
��	!�
 	
�' 

��
�� (-�	���
� ��� 

 ��
� ��� 	
� 

��
�� �
����)� γ =

∑
bi2

i 
� ρ =
∑
ci2

i� 	��
 ������
��
� �������

�� �
��

� $ 	��
 ��
 bi = ci ���� ���� i ≥ 0 ���
8 +��
	� 9�����
 ����� 	��
 ��
 γ =

∑
bi2

i 
�
�� ���
�
 

��
� 
����
� �
��

� $ 	��
 ��
 bi �= 0 ���� �

 �
�
��� 	��
	��
 i ≥ 0�



�� �������� 	
 ���
 �� ������ �� �����
 �� �����

��������� �	
	�

���� γ =
∑

i bi2
i �� ����	
 ��
����
� �� γ ��
�� �
� �� 
���
	 �
��	
�� �� ������ �
 ��� ����� �

P̃γ(Z) =
∏
i≥0

U bi
i+1�

��
��	
 �
	�� �� −1− γ ��
�� �
� �� 
���
	 �
��	
�� �� ������ �
 ��� �����

T γ(Z) =
∏
i≥0

U1−bi
i+1 = P̃γ(Z)�

�� γ = −1− γ =
∑

(1− bi)2
i 
�� 
��
�� �
 �������
��
�	
 �
 γ�

�� ����� � 	
���
�������� � ����
�
 �� ������� ��� �� ������
�

∑
i∈A

2i =
∑
i∈Ac

2i


� A ⊂ N ��� �� ����	
�����
�� 
���
� �� �� Ac �
�
��� 	� ����	
�����
�� N\A �� A ���� N� ���� �������������

���� 	� ����
��� � ��� ���
�� �
�
	�
�� ���������� 	�� ���� �����
��� �� 	� ������� �� ���
���
�� ����������
�

����������� 	
�
	�

���� γ =
∑

i bi2
i �� ����	
 ��
����
� ��� ��
�� �
� �����
�
�� � �� �� 
 �
 	
�
���� �
 	����	����� �

T γ(Z) = P̃γ(Z)�

�
 ����� �
 ��� ��������

T̃ γ(Z) · T γ(Z)


�� ��
 �	���
 �
 ������ 
� �
�� � ���� �
� ��!"
� ���� �
� ����
��� �
 Ω(Z)�

#� �
	������
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 �
� �	���
� ��������
� �� ��� �
 ����� 
�� 
� ��$
����� �
��	
��
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�
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 ��������
� �
� ����	
� 2�
����
� ������ ��
��
���
 �
� 
���
	� 	
�
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� ���	�� �
�
�� M = {m1 < m2 < m3 < · · · } �� N 	���� �
� �� �������

(mn1
+mn2

+ · · ·+mnk
)k≥1,n1<n2<···<nk

���	 ��
�������	��
��

��� ��
� 	�
	� ������	��
 �� Pf (N)� �� ����	� 

� ���	�� �
�
�� M = {A1 < A2 < A3 < · · · } �� Pf (N) 	���� �
� ��
�������

(An1
∪An2

∪ · · · ∪Ank
)k≥1,n1<n2<···<nk
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�������	��
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���� ���� ���� �� ��
��	������� ��������� �� $� ��	�����
 �� �%�� ���� ��� ����&� ���	 $��$�	�� ��	 ���' ����$�	
i) �� ii) �� ����� 
� ��%�� 	��� �� (��� ����&�����	
 �� ���� ����� ��	 ���' 	�������		��� ) ������ �� �� $����	������$�
��*�$��&� ����� ��	 ������	 �� ��	 ������	 ����	 �� N ������ ��� ��	 $��+$����	 �� ���$������ ���� ������ �� ��	� ��

,��	 �����	����	 �� ����� 
� �� "���
�� �� $������� -
 ���	��� ���	 ���������	 �� ����� 
� �� �� (�$����	�����
	����.
���$���
������� �� ����� 
� �� "���
�� ��
�� �� ��
����	�	 $��	�����$�	 �� �����$�����	
 ���	 ��	
��
����	 ��� �'�
��� �� �� $�
���������
 ��	 �����������	 �� �� �� �������� �� ����� 
� �� "���
�� $��$���� ��	
	�

�	 ����	 ���� ��	�
���
 
��	 �� ��
����	�	 &�������	 �'�	����� /�� $��*�$���� �
�������� �� �� ������� ��
0�
	�1 	������ ��� ���� ����� $��������� �� N
 �� �'�	������ ���' ������	 x �� y ���	 ��� ����	�
���

{x, y, x+ y, xy}

	��� �� $������� 2 �� 
���$���
������� 3� ��	����� ���	� ��	 ��
�����
 
��	 ��	 ��	�����	 ������	 ��� 4� 5������
�� �� 6�����	�� ��-� 
������� ��� ���� ����� $��������� ��	 ������	 N �� ���� ����&�� ��� ����� �� �� (��
�
{x + y, xy} ��� 	��� 
���$���
������� ��	 ����� 
�	 �� �� ������� �� 0�
	�1 �
�������� �� 7 
������� 8 ��	
���������	 ����������	 �� �� 
�������$�����	 	��� �� 	 ������	 �� (��
��� ��	 ����� 
�	 �� 	 	��&��� ��&���	
 �� ��	
��
��	�������	 �� 4� 5������ �� �� 6�����	�� �����	��� ��	 
������	 ���������	 
������ �� �&����$� ��	 ������$����	

����$���	 ) �������
 ����� ��	 �1��
����	 ��	 ���������	 ����������	 �� �� 
�������$�����	�

�� ����� 
� �� �� (�$����	����� 
���$���
������
 ��
����� ���	 $� ��$����� ���	 �� 	�$���� !��2# $�

�
$����������� ����$����� �� $���� ���
� �� ������
 	���	$��� ���������
��� ���	 �� $��		� ��	 ����� 
�	 �� �� �������
�� 0�
	�1
 �� �����$����� $��' �9 ���� 
����� ��� ��	 &�������	 ��	 ����� 
�	 $��		����	 �� �� ������� �� 0�
	�1
����� ��	 ���� ���	 $������	 $����'��	� ���
�	 ��	 ����� 
�	 �� $� �1��
 �� ���� $���� ���'�
��� �� :� ;������	<� �%�%�
����� $��������� �� P2(R) ����� ����� ���'�	�� ��	 �� ������ X ⊂ R ���.����
������ !������# ����� ��� P2(X) 	���

���$���
������� =� �������	 ���
�	
 �� ����� 
� �� 0�
	�1 �� 	������ ��	 ���� ��	 ��	�
���	 ���.����
������	
�� R�

��� �� ����� 
� �� 0�
	�1
 ���� ����� $��������� �� N
 �� ���� ����� ������ ������ X ⊂ N
 �� �'�	�� ��� ������
������ Y ⊂ X ����� ��� ����	�
���

(Y + Y )\(2Y ) = {x+ y | x, y ∈ Y, x �= y}

	��� 
���$���
������� ,� "���
��
 >� ������ �� ?� ;����		 ��� �'���� ���	 ��-�
 �� �����	��� ���1���� 	� �� $������

��� $��������� �� R ����� ����� ���'�	�� ��	 �� 	��	.��	�
��� X ⊂ R ���.����
������ ��� ��� (X +X)\(2X) 	���

���$���
������� �� ����� 
� ��@A���	 �%--�
 ����� ) ���
 ��
���� ���� �	� �� ��
��� 
���
�� �� $������
����� $��������� 	���	(��	��� ) �� ��������� 	��&���� B ���� ����� ������ ������ X ⊂ N
 �� ������ X + X ���	� ��	

���$���
������
 �9

X +X = {x+ y | x, y ∈ X} = (2X)
⋃
(X +X)\(2X)�
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⋃
(X +X)

�� �
�� �
� 	
�
� �
	
��&���
'��
�� ��(� ��� ��
���	�� �� �
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	��* #
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)
�
 +,-� ,�� -./0 �
��� ��� �
�
������
��
� ���� ��	��� ��� 	
������ A �� �
���� n×m � �
�1������ ������� ������
&�� ���&�
��
�

Ax = 0


2 x ∈ (N∗)m 
�	���� �
�� �
��� �
�
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� ��� ������� �
�!���� N∗ ��� �
����
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�
� �
	
��&�� 3�����!�!����
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�� ��� �
�1������ �� x �
�� �� �
 	"	� �
�����4� '���� �
�����
� ��� �&���
����� � �
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�����
� ��� �
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���� 5
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� �
�� c1, c2, . . . , cm ��� �
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����� A� 
�
�� ����� �������� ��
������ ��� �&���
����� 
� #
�� &���� ������
��� �
�����
� S1 ∪ S2 ∪ · · · ∪ Sp = [1,m]� 
��� p ≥ 1 ����� &��

∑
i∈S1

ci = 0 ��
∑

i∈Sk
ci ��� �
	���
��
� Q!����
���

��� (cl)l∈S1∪S2∪···∪Sk−1
�
�� �
�� 2 ≤ k ≤ p 3�� �
��������� ����� �
�����
� ��� ����(
��� �
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��
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���� �� #
�� &��� �
�� ����� &�����
��
��� ������ �
�
�
��
�� �����
���	��� ����������� �
�� �
��������� �
� ������ ��������
�� ��� ������� ����
�� �
 �
����
�� ���� �������� ������ �
�!���� �
�� ��� �
�� ��������

)���		��� 
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� � ���� �
������
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��
� x + y = z2 
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��&�� �
�!�����
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��� (x, y, z) �=
(2, 2, 2)4� '�����
��� �� ������ ��� �
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���� ��� �
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� ���������� 
� �
�
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�
����� &�� �
�� ��%������� �� ������ �� �i/2� �� �i/2� + 1� �� �
�
��� �
�� �� ���
�� ��	�� �� ������ x �
		� �

�
����� ���	����	��� ��(��� �� �
 �
������ i �� �
� �������� �� �
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����
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��� x ≤ y &�� �
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������ i ≥ 3 �� �
�� 2 3�� ��
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�� ��� �
� i = 0, 1 
� 24� 
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������ �� ���������� �� �
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���� �������	
���� ���
	����� 
�� ������� ��	�����	
��� �� �����	
��� �� ����� �
���� �� ����� �� ��� �� �����
����� ������� ��� �� ������	���	�� �����������	
�� ���� 
� ��
����	�� CTM,3� � ���	� ���
����� ����	� ���� ��
������� u �� TM �� 
� ���	 �� ��	!���� "

# CTM,3(u) = � �	 u ��� �� ����$� �� TM ����	���� ��� 
� 
����� 0�
# CTM,3(u) = � �	 u ��� �� ����$� �� TM ����	���� ��� 
� 
����� 1�
# CTM,3(u) = � �	 u ����� ��� �� ����$� �� TM �

%������ ���	������ 
� ����������	�� �� �� ����
���� &�������� 
����� ������	���	�� TM = u1u2u3 · · · �����
�������	
�� �$	���� �' u1 ��� �� ����$� ����	���� ��� �$���
� ��� 0� (� ����	������ �� 	��	�� i ≥ 2 ��
 
��
|ui| ≤ |ui+1|� ��	�
�� ���� 
�� ui ���� i ≥ 1 ���� ��� ������ �� ��� ����$�� �� TM � ui ��� �� ����$� �� ui+1� ��	�
�
��� 0uiui+1 ����	��� �� ���!���������� ���������	�� �� ������� �� 
� ����� avava �' a ��� ��� 
����� �� v �� ���
��	 �!�����

����� !	��� (� 	
 ��� )	�� ����� 
�� 
� ��� �� ���������� ������� ����� ���!���������� !�	� *+,�

-	���� 
� ��
����	�� ��	!����� � ���$ ���
����� ����!�� ��� .� /����	�� �� &� 0!����	��!	�� 1������)
	��2� ����

�
��

� 
� ��� TM ������� ��� �� ������	���	�� �����������	
��� &�	� μ : 0 �→ 01, 1 �→ 10 
� �����	��� ��
����������� ���� TM ��� ��	�� �$�� .� �	� 
���� ������� u �� TM ��� �����	
�� ��	
 �$	��� �� ������� v 1
�	 ���
�
��� ��	
��2 �� TM ��
 
�� u = μ(v)� �� �� �	� 
���� ������� u �� TM ��� �	��� �� 
� 
����� 0 1����� �� 
� 
����� 12
�	 |u|0 ≥ |v|0 1����� |u|1 ≥ |v|12 ���� ���� ������� v �� TM �!�� |v| = |u|� .� ����	� 
� ��
����	�� CTM,2 ���� ��
������� u �� TM �� 
� ���	 �� ��	!���� "

# CTM,2(u) = CTM,2(v) �	 u ��� �����	
�� �!�� u = μ(v)�
# CTM,2(u) = � �	 |u| ��� ��	� �� u ��� �	��� �� 3�
# CTM,2(u) = � �	 |u| ��� ��	� �� u ��� �	��� �� 4�
# CTM,2(u) = � �	 |u| ��� 	���	� �� u �������� ��� 3�
# CTM,2(u) = � �	 |u| ��� 	���	� �� u �������� ��� 4�

�� ��� �� ���������� TM ������� ��� �� ������	���	�� �����������	
�� ���� 
� ��
����	�� CTM,2� �� 
� �������
����	�� ������ � ���!��� ��� 
� ��	� 
�� 
� ��� �� ���������� TM �!	�� 
�� ���!�����������

/��� 
����	���� ���5������ �� 
� ������	���	�� �����������	
��� ���� �	����	��� �� 
��
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��
�� 6��)��	 �� 0� �� ���� *44+� 4�3, ��� �������� 
�� 
� ���5������ ���	� !��	� ���� 
�� ���� ������	���������
���������� ��� �� �
���)�� ��	� �� 
�	 ���������� � �� �����)
� �� ������ �
�	�� ���� 
� ������ �����	� ��	������
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�� �������� ����� ������	���	�� �����������	
�� �	��� ��� 
�������� ���	�������� 0� <������	��� =� /������
�� �� &	
!� *�>, ��� ������ 
� ���5������ ���� 
� ��� ��� ��	��� �$�� �� �����	���� ��������� �������	���)
���
-�������� ��� ����
���� ��������	��� ��� �
����� ������	���� �� ����� %��� ���� ��� ����
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� ���)�� ��
���
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���� ���	� �
���� �
�!�� �� �
�� �� �������� ��� ����� ���� ��� ���� ����	��� /�� �$���
�� ���� 
�
��� �� ����
��� �� 8� &�
� �� 7� �9��: *4;;,� ���� �� ��� x 
	���	������ ��������� ���	���	���� � |w| ≤ K|u| ����
��� ��������� K > 0� ���� ���� ������� u �� ���� ��� w ���� 
�
��
 u ������	� �$�������� ���$ ��	�� ���� ���

����� ��?$� �� w� 
� ���)�� �� ���
���� �)������ ���� @��� ��5��� ��� 
� 
����	�� 2+
∑K5−1

i=0 2Ki(K+1)2i� ����

� �����	��	�� 
�� 
�� �������� ������	����� ���� ��� ������	���	�� �����������	
�� ��	��� �� 
������� ���	�������
%��� 
� ��� ��� ��	��� �$�� �� �����	���� ��������� �������	���)
�� ��� �
��� �)����� ��� ��5����	�� �� � �����	 ���
��������� �� 
�	��	�� �� �������	���)	
	�� �� �����	���� /��� 
� �
���� ��� ���� �����	���� �� �)����	� ���������
��� ��
��	�� � ���	� ���
����� 0� ��)�� �� ������� ��������� �� �� �	�����	� �@�� ��� �� ��
��	�� � ���$ ���
����
���� 
� ��
 )�� ��� �� A	)�����	�

%��� �� �������� ���� ��������� ���� �� ���	 �� ���	��
� � 
� 
����	�� �� �� <��B�� �� �������	����� ���� ��
��� 	���	 x �������	��	
��� ��� ��
����	�� � ���$ ���
���� ���� 
�
��

� x ������� ��� �� ������	���	�� ���������
���	
��� �� ����������	�� ��� �� �!	����� 
�� �	C������� �������	�� ������

�� 
��	
 �$	��� ��� 
�� ���� 	���	��
����� ��� �$���
� 
� ������	� ����	������ ����� ����� �� ����� 
�$	�������	
�� ��� 
������)
� ��� ���� 	���	�
��� �� �
���)�� A �����	� � �� ����� ����
 ��� A� � ����	����� 
������ 
�$	�������	
�� �����	� � 
������ ����
 ������
��� A� -� ���� �� �����
�� ���
	��� 
�� 
	��� �$	����� ����� 
�� 	���� �� ������ �� 
� ����� �� �� 
� ������	���	��
�����������	
���

D��� ������� ��	������� ��� �������
��	�� �� ����� �� �� 
� ������	���	�� �����������	
�� � 
��	�� �� 
�
���	�� ���
����
����� .� ���!�	� ��$ ��!����� *;E� +F, ���� ��� ����� �
�� �� ����	
� �� ����� ���	�� ��������	
���



���� ������	
	��� 
�� �����	
	� ����	
�	� ��

�� ����	 
�� �� 	�
	�
�	 X 	
� �� 
��
�	�
	�
�	 F �	 P(X)� ��	�
	�
�	 �	
 �����	
 �	 X� �������� �	
 ���������


������	
 �

� ∅ /∈ F � X ∈ F �
� ����	 ���	�
	����� ���	 ������	��
 �	 F 	
� �� ����	�� �	 F �
� �� A ⊂ B ⊂ X 	� A ∈ F � ����
 B ∈ F �

���	� ��	 �� 
	����	 ����	 �	 �	
 ���������
 �������	 �� ��������� X ∈ F � ��	�
	�
�	 X ����� �����
� ����	 ��	
���	�
	����� ���	 �	 
�� ��	�
	�
�	 ���	�

�� ����	 F 	
� �� ���������	 ���
����� �����	 ����	 �	
 ���������
 �������	��	
 
������	
 �
� ���� ���� A ∈ F � A �� X\A �������	�� ! F �
� ���� ����	 "�����	 ���	 (Ai)

n
i=1 �	 �����	
 �	 F � 
� ∪n

i=1Ai ∈ F � ����
 �� 	 �
�	 �� �����	 i ∈ [1, n] �	� ��	
Ai ∈ F �

� ���� ���� ����	 G 
�� X �	� ��	 F ⊂ G� �� � F = G�
�� ���������	 F 	
� ��� ������� ���
����� 	 �
�	 �� ����	�� x ∈ X �	� ��	 F = Fx = {A ⊂ X | x ∈ A}� #�	�
	�
�	
�	
 ����	
 ������� 	
� ���� 	� 
�$	����� �����	��	 ��	� X� #�	 �
�	��	 �����������	 ����������� ��	
� ��

�
�	 ��	

�� �� 	�
	�
�	 X ����� 	� ��	
� �

���	 ��	 ��� ��� ���	 �� �%�� 	� �	 �	��	 �	 &����

'� ���	 βX ��	�
	�
�	 �	
 ���������	
 
�� X� 	� �� �	 ����� �	 �� ��������	 �����	 ��� �� 
�
	 �����	��


({F ���������	 
�� X | A ∈ F})A⊂X �

#�	�
	�
�	 βX 	
� ����
 �� ������� 
����� ���� �	��	 ��������	� ���� �	��	� ��	�
	�
�	 �	
 ��������	
 ������� 
	
� �	�
	� 	� �� �	�� ���������
	� βX ����	 �������	 	
���	 ����������	 
���
"��
��� ! �� ��������� ����	�
	��	

������	 � ����	 ����������� �������	 X → K �( K 	
� �� 	
���	 ����������	 ������� 
������ 	� �( X 	
� �����
�	 �� ��������	 ��
��)�	� 
	 �������	 �	 ����)�	 �����	 	� ��	 ����������� �������	 βX → K� *	��	 ���%��	 �	
��������������� 
����	��	 �� ��������������� �	 ����	� +*	�%� ���� ����	��	 ��	 ��"��	��	 	
� ,�-.�

�� �� 
����
	 �	 ���
 ��	 X 	
� ����� ����	 ��� �	 
	��������	� 	� ���
 �	 �� ��������	 ��
��)�	� ����
 �	��	 ���
������ 
�� βX �� ��� �	 
	��������	 �����	 ���

p.q = {A ∈ P(X) | {x ∈ X | {y ∈ X | xy ∈ A} ∈ q} ∈ p}
��� ��	�� �	��	 �	 X� 	� ���� ����	��	 �� �������������� ! �����	 ��� �� ����	�� �	 βX 	
� �������	 	� �� ��������������
! ����%	 ��� �� ����	�� �	 X 	
� �������	� �� �	��	 �	 /���
�����0��� ,�-. �������	 ��	 βX �����	��	 �� ����

�� ��	����	�� ���� �	��	 ���� 	� �	
 �����	
 �	 X ��� �������	��	�� ! �� �	� ��	����	�� �	 βX 
��� ���������
�	

��� �� ��������� ���	��	
 �����	��	�� �� ����
 ���
 �	
 �������
 ���
 �������
 ����	 �	�����	 
���	 ������	��
 �	 X�
	� �	 �1�	 �	 ��������� 	 �����	 �������� �	
 ���������	
 �������

	�� ���
 ���
�	��
 ���
�)�	
 ���
�������	
�

#	 �%���)�	 �	 �� "������
����� �����%��������	 �	�� ���
� 2��	 �	"������ 	� �	
 �	��	
 � �� ��� ����� x 
�� ��
���%�
	� A 	
� ���������	 
� 	� 
	��	�	�� 
� �� 	 �
�	 �� ���������	 ���
 βA+ ���� ���
 �	
 ����	��
 "�����

	�� ��
	�
	�
�	 �	 "���	��
 ! ����	�
 �	��	� x 
	 "������
	� 3������
 ��	 �	��	 �	���)�	 �

	����� 	
� �������	��	 ! �	 ��	
x ���	��	� ���� ����	 ���������� �	 A+� ��	 "������
����� �����%��������	� 4��� �	 
	�
 ���	��� 	� �������������
A+ 
	��� �� ������� ���	 "����	 �	
 �����	
 �����%��������	
� ����
 �����������	 ��� 	 �
�	 ��� %1���%)
	 �����	��
���
 �	
 ����	��
 �	 A+ ����	 �	�����	 ����	��
� 	� ��� �	
 ���������
 "�����	����	
 �	
 ���������	
� x ���	� ��	
"������
����� �����%��������	� 4��� �	 
	�
 �����	��� ��	 �
�	��	 ����	 "������
����� �����%��������	 ���� ����	
���������� 
�����	 ��	 ���� ����	 ��������� ���	 �	 A+� x 
	 "������
	 
	��� ��	 �	 �	
 �����	
� �� ���� �������	 �	
�	��	 �	 &��� ! �� "�����	 �	
 �����	
 �	 A+ �	��	
 ��	 ����	
 �	��
 ���������
 ���	
 ���	��	�� �� �	�
�	 ! ����	�

�	��	� x 
	 "������
	� �� ����	�� ������� ���� �������
��� ���
 �	��	 "�����	 �����	�� �� ��������� �%	��%�	�

���
 ������
 ���
 �� 
���	 �	 �	��	 
	����� �	 ����	 �	 �� �%���)�	 ��5�6 �	 �� "������
����� �����%�����
����	� 4��������	 ������
����� �	 �	��	 ��	��)�	 �����	 �	 ��������� �	 ��
����� "�����	���� �	��	� �	 ����	� ��	
���������
����� 	� �	��	
 �	 ���������� �	
 ���
 ���������	
� #� �����
�������� "��
��� ���	��	��� �	
 ����	
 �	 ����
����%���	
 	
� ���
 �� ���������� �����	��	 �	
 ���	
 �	 #1����� ���
 ������
 ! �	 ����	 	� ��	��	� ��	� ��	 	���	
����6 �	
 ���
 �	 #1����� ���� �	
��	�
 �� 
	 ��")�	 �� �%�����	 6� 	� ���� ���
 ������
 �������� �	 �� ���������
�	������
�	 
�������� �����
 �����	��	�� ��
 �	 "������
����� 	� �	��	 �	 �	��
 ���� 	
� ��	
��!����	 �	 "������
�����
�����%��������	 ���� �� ���������� ���� ���	� *	� 	 	���	 	
� ���� ��2��	 ������� ���
��	 ���
 �	 ��
 �	
 ���




�� �������� 	
 �����
�� �� �� ������������� ���������������

�� ������	 
� ��
�
����� CW 	 ������ �� ����� �� ���
������� 
� �������
����� �� ����
��� ����� �� 
� �����
�������
������
��������	 �������� ���� 
� ��
�
����� �
�����
�� ��� �����
� ���� ���� � �� �� ��� ��
����
��
 ����������
	
!���
�
��� " 
#�����$
� ��� ���� ������	 �� ���� 
� �������
����� � ���� " 
� 
���
����� �� ����
��� ����� �� 
�
�����
������� ������
���������

%��� ������� �#�$�
� 
� ��������� �� 
� ��
�
����� �
�����
�� ����� ��
�
�����	 " ���� ���
��
�	 ��� ��������	
���
 �� ��� ����� x ���	 " ����
�
 
�� ���� ��� ���� �
����� �� x �� ���� ��� �� 
� ���� ���	 ��� ��� ��
�
�����
����
�

� " �������
�
	 �� ��
����
��
 " 
� 
����
� �� 
� 
���
����� ���� 
� ��� ��
����
��
 ��� ���� �� ������ �����
�� �� 
#���
������� �� ����
��� �� &����� ������ ���� 
� �
��������� ������ '� 
����

� ��� 
� �������� Pn(x)
����!��	 ���
 �� �����
 n ≥ 1 �� �� ��� ����� x ��
 �� �
���$�� A	 
� �
���� �� 
��!���
 n �� x� �#���� ��
�������
�
 ����
����� 
�� �
����� �#�� ��� ����� x �� ��� ���
�� ������
� �
������ �� 
� �
��������� ����� �� �� ����
��� ���� ��� �����
������� �#�� ��� ����� x	 
� �
����
 ��
�� �� 
� �����
������� ��� ��������
����� �� �
���� ��
x	 ���
 (���)�

*��� x �� ��� ����� ��
 �� �
���$�� A� �� ��
�
����� �
�����
� ��� 
� ��
�
����� CP ������ ���
 �� ��� ��� u
��
 A ��
 +
, CP(u) = ����� �� u = P|u|(x)	
, CP(u) = ���� �� u �= P|u|(x)�
%��� ������� ���������� 
#������ ����� �� ���� ��#�� ��� �� ������ �#����� ��� �� �����
������� ������
�-

������� ���
 
� ��
�
����� �
�����
�� �� ��� ��� ���� �� ������ ��� ���� ������
����� 
���
� ��
 
� ��
�
�����
�
�����
�	 ������#�
 �#�!�� �#��� ��
�
����� " ���� ���
��
�� ����� ���� 
#����� ���
����	 ��� �����
� ��� ��� �����
����������
� ���� 
� ����
�������� �� 
� 
���
����� �� ����
��� ����� �� 
� �����
������� ������
��������� ��
�
���� �� ����
��� ����� �� 
� �����
������� ������
�������� 
����� �� �����
� ��������

� ��
 
� �������
����� ��

#�
�
� 
�����!
������� ������� " �� �
�
� ����
 ��
 
#�
���$�� A� ����� ����	 �� 
�
��
 ��� �����
�������� ��� �
�
��

�����!
�������� �� �����
��� 
�����!
����������� �� ��� ����� " ��� �� ���	 ��� �� ����
 ��� ����� ��������
�� ������ (���	 ���)� �� �
��������� �������� �#��� ��������� ��� ��������
� �#�� ����� �� ��� 
�!���� ���
 
�

���
����� �� ����
��� �� 
� �����
������� ������
��������	 �� 
������ " (��.) ���
 �
�� �� �����
�	 
� �
���������
�������� ����� ������� ����� ����������� �� ��
�

��
� ��.� /��
 ����� (�00)�

���	�
����
 �����

�� ��� �� �	���� �
����� ��
 �� �������
����� ��������������� ���� �� ���������� ����������

%��� ������� ���������� �� ������ ��� ��
��� �#����
�
� 
� ����
��� �� 
� �����
������� ������
��������
���� 
� ����
�� !���
�
� �� &������ �� �
��������� ����� �������� �����
� �� �1��	 ����� ����������� �� ����
���
�� &����� �����	 ��� ���
 ���� ��� ����� �� ����� ��
�
����� ��
 
#�����$
� �� ��� ������
�	 
� ��� ����� �������
�
������� �� �� �� ��������� ��� �����
������� ������
��������� '� ���� �2�� �

�
 �
�� 
���	 �� !�
����
 ��#��
��
 �� �� ������
� ��� �����
������� ������
��������	 ���
 
����
 �� �
�� ������ 
�� �������������� �� ������
�
3��������� ���� 
� �����
������� ��
���� �� �����$
� ������
��������� ����� �
��
���� ����
����� ���� ���� ��
��
��
 �� ��� ���

��� ����
���
� ����� ��� �$��
������ �� ����
��� ����� �� 
� �����
������� ������
���������
4� �
��	 ����� �
��
���� ����� ����
� �� ��� 
� ����
�� !���
�
� �� &����� ����
�� ��� �
�$
��������� �� �����
�-
������� ��� ���� ������ �� ��� ��
�
������	 ����� ��� ����������� �#�� 
���
��� ����������
 ����� �� ����� ����
���
�� ����
��� ����� �� 
� �����
������� ������
�������� ��
��� �� ���
 ��� 
#����
� �� ����� ����
�� ��� �
�$
����

��� ��� �����
�������� ������
��������� �#�� ��� ����� �� 
����� �� ���
��� ��
�� " 
� �
��������� ����� ���������
����� �
��
���� ����
� ����� 
� ��
������� �� 
� ��
�
����� �
�����
�	 �� 3������ ����� ��� 
#�� �������
� ����
�����

�� �
����� �#�� ��� ����� �� ��� ���
�� ������
� ���� ���
� ����� �� ����
��� ����� �� 
� �����
������� ������
�-
�������� �� �
�� �� ����
��� ����� �� 
� �����
������� ������
�������� �� �
���� �� �1�� ���� 
� ����������� ���
�
��� ���� ����� �� ������
�	 ����� ����� �� ��� ����� ���� ����� �
��������� � ��� ������
�� ���� 
#�
���
� (�5.)�
/��
 (��.)	 �
��������� ����

���	�
����
 �����

���� A �� �������� ����������� �� x �� ��� ����� 
�� A� ���� ����� ���������� ��
 ���
 ���
 
�� A� �� ��� x �����

�� 
���� �	��� ��� �������
����� ���������������� �� ���
� ����� �������
����� ����  ��� ����
�� �� ����� 
���� ���

�
��
����� ��
 �������������
 �� �������
 !������
�
 ���
 �� �������
����� 
��� ����������������



���� �����	
��

�� �� 
������� �� �� ���
��
	�

�� ����������

��� �

���	�������	 ��

������	�
��� 
�� ���� ���� ��� ����� x ��� A �� ����� ���������� 
�� ���� ���� ��� A� �� ������ �� ������ k ≥ 0
�� ��� ������� 
� ���� ���� (ui)i≥1� ���� 
��

T k(x) = u1u2u3 · · ·
�� ���� 
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���� ��� ����� x ��� �����
�
��� ������	�
���
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��� ��� �������� 
� �� ����� x = uuu · · · ���� �� ��� ��� u� �� �� ��������� ��� ���� ����� ���������� ���
�������!�� 
� ��� ��������� �� �
��� ��� ������������� ������������
��� 3� ��� ���� ������ 
� '��� 
�� �� �� ���
x ��� �����
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��� �� ������� 
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�������������� ������������
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����
���������� ��� �������!�� 
�� �������� 
� x ���� ��
����� x ���
����� ��� 
� ������������� ������������
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���� ��	 ��
(
�
� ��
�� �� ��
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�
��  �� ��� 
�����

��� u ��� A ��� ����� �� �� ��������� �� ux > x 	��� ������� ���������	
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�� ������� � ������� ����� ��� A�
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���� ������	 
� �
	����� 
� ���
��� �� ��������	 ����������	 ��

�� ������	
�� ��� ���
�� �� x�
�� ������� ��������� ���� 	�� ����� ��� �� ������� ������������ ��� ������� �� ���� ���� �� 	�� ����� ����������

�� ��� ����� 	�� ����� ��� ��������� �� ���� ��� �������� ���� ���������� ������� �������
�� A ��� ���� ��� ��
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���� �� 	�� ��� v
��� ��� u1vu1 ���� ������� �� z� �� �� ���� ����� u2 = vu1� 0�������� 	��������� ��� u1, u2, . . . un ������ ����������
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u1u2 · · ·unvu1u2 . . . un
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��� 
����
�� 


L(vivi+1 · · · vj) = j − i+ 1

���� ���� 1 ≤ i ≤ j ≤ L(u)�

#������ +� �)��� 	���� ����	 ��� �	
�����
�
�� 
���	
��
�� ��,
���� u = v1v2 · · · vL(u)� ����� �� �	��
�
�� ������
���� ��� ������ ���� �	
����
������ �� �������� 
���	
��
�� ������ 1� 
�� �
��� 
� �,
�����
� ��� �	
�����
�
��

���	
��
�� �	��
� �� ���� �� u �� �������� ���

������ ���� ������ ��� �� �������� 
���	
��
��� �� 
������

�
��
���
 �� �	��
�
�� ����-� %� ��
���� ����
� �� �� ������
�
�� �� ������ �� �� �.�� ���
���� �� ���������� ������
�	
�����
�
�� �,���
�� ����� �	
�����
�
�� 
���	
��
�� ��� ��
��� 
���	
��
���

%� �������� 
���	
��
�� �	��
� �� ����-� �� ���� ��� ��������� ��� ����	� � �� 
�������� 
���� ������ �����"
����� �� �������� 
���	
��
�� ����� 
��
��	���
�� �� ���, ��
������ �.�� ������	� 
���	
��
�� ����� ���� � ����� ���
�	
����
������ �� ����� �� ���� ���, ��������� 
���	
��
��� ����� ����-� ���������� �� �
����� ���� ��
��������
����/� ���
���� ���� �� ������� ��	���
	 �� �	���� �� �� �������� 
���	
��
���

���
������� �	�	� $�	���� �� �� �������� 
���	
��
��&
���� x �� ��� ����� ���$���������� �
���	���� ��� �� 
���
��� A� �� L �
 �������� ����
������ 
�����
�� ������ u
�� v 	��� �
������ ����
������ 	� x� !���� �� 


L(u) + L(v) ≤ L(uv) ≤ L(u) + L(v) + 1�

#������ 0��� �� ����
��� 
�	���
�	� �


u = v1v2 · · · vL(u) �� v = w1w2 · · ·wL(v)

���� ���, �	
�����
�
��� ��,
����� �� u �� v� '� �� �	��
� ��� �� �	
�����
�
��

uv = v1v2 · · · vL(u)w1w2 · · ·wL(v)
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�
��� �
 
�� ��� ��
� ���� ��

��	� 
�		�� �	��
	��	����


�	���� ��

��� ����	�
���� ��
�� ����� �
���
� 
�� ��
� �����
�� u �� v ���� ����	�
���� ������� ������
��
� 
� �������� 	�������

uv = v1v2 · · · vL(uv)


�� �	����������� ������
� �� uv� ���� 1 ≤ i ≤ L(uv) 
� ������ ��
 �
� v1v2 · · · vi−1 ���� 
� ��	��� �� u ��
vi+1vi+2 · · · vL(uv) ���� 
� �
��� �� v�  
��� ��� ��
� �	������������ ���� ��� �	������������ ����	�
������ �	�����
�� ������ �
 �
� u �� v ���� ����	�
����� ��
�� ������ �� �� � 
�� ��
� ��	!�
��	�

L(v1v2 · · · vi−1) = i− 1 ≤ L(u) �� L(uv)− i ≤ L(v)

���" 
� �	�

��� ����# �� ��������

$
 ��
� ������� �
� 
��� ��� L(uv) �= L(u) + L(v)� ���� ���� ��	 
�����
	 u �� v ���	�����
	� ��
 �������� ���


�� ���

x = abcdef(acd)(bfc)edsuiacdzemiadsuovd · · ·
�� ��	 ���� 
�����
	 U = acd �� V = bfc� ��� 	��� ���	�����
	 �

���������	� �� �

L(UV ) = 3

�� �� �������	����� ���	������� UV = (ac)(db)(fc)�
��
	��� ��	 ���� 
�����
	 ���	���
�	 �� 	��� ��	 ���	�����
	� 	���� ������ �� �������
 ���	������� �� ���
 ������

�������� ���� �
�	��������� �������
�

����������� 	
	
�

������ x �� ��� ��	�� ���
���������� �
�������� ��� �� �������� A� �� L �� �������� ����
������ ������
�� ������

u �� v ���� �������� �� x ���� ��� uv ���� �� ������� �� x� �� ���� ��� B(u) < A(v)� �� B(uv) �= B(v)� ����� uv ���

���
��������� �� B(uv) = B(v)� ����� L(v) ≤ L(uv) ≤ L(v) + 1�

������� �����	��	 �����
� ��� B(uv) �= B(v) �� 	����	��	 ����� ���	�� ��� �������	����� ���	������� uv = v1v2
���� A(v1) = A(uv) �� B(v2) = B(uv)� 	���� ���� �� ������ ���	��� B(uv) ≥ B(v) ����
!	 ����"� �� � �����������

	�
���� B(uv) > B(v)� �� v1 �	� �
�#�� �� u� ���
	 �� �

A(uv) = A(v1) ≤ A(u) ≤ A(uv)

����
!	 ����"� �� ��	 ���������	 	��� ��	 �������	� ���$ ���� ��
�

B(u) = A(u) + |u|
= A(uv) + |u|
= B(uv)− |uv|+ |u|
= B(uv)− |v|
> B(v)− |v|
= A(v)

����
!	 ����"� ����
���	��� ���
� %&���%!	� B(u) < A(v)�
���
 �� 	������ ��
���� �� �
���!
� ��������� 	�������� �� 
���
����� ��� 	� v = v1v2 · · · vL(v) �	� ��� ������

��	����� ���	������� �������� �� v� ���
	 uv = (uv1)v2 · · · vL(v) �	� ��� �������	����� ���	������� �� uv� 	���� ��

��#������ ������ ���
 �� 	������ ���������� ��
����	 uv = v1v2 · · · vL(uv) ��� �������	����� ��������� �� ���	���

B(u) < A(v)

= B(v)− |v|
≤ B(uv)− |v|
= A(uv) + |uv| − |v|
= A(uv) + |u|,



�� �������� 	
 �������
�����
 
��������������������
 �� ������ �����������

������	 
���
� �� � A(u) < A(uv) �� ���� v1 ���	� ��	 ������ �� u� ���� �������� ��� u �	� ������ �� v1 �� ����
v2v3 · · · vL(uv) �	� ��� �������	����� ���	�������� ������ �� 
�
��� ���� 	���� �� v� �� ���	� L(uv)− 1 ≤ L(v)�

�� ������� ��� ��� ��������� 
�
�� �����	���  �	 �� ���	 ��		�! �	 ��  �  ��"���� ���	�������� ����� ���������

�
�� 	���� � �� ������� ��� ���� �	�  ����� ���		����  ����	����� �� #������	 ���������! �	� �����	 �� 
�
�
� ������$���
% ��	 ��	�����	 ��!�������	 ���	 �� ��� ����� x ���&� �������� �����������

����������� 	
	
�

���� x �� ��� ����� ���	�
�������� �
��������� �� L 
� 
������� ����
������ ������
�� �
��� ���� ���� k ≥ 0 �� ����
l ≥ 1� �
 ������ �� ������� u �� x ���� A(u) = k �� L(u) = l�

������� �� ���	����� ��� #������	����� T k(x) = u1u2u3 · · · �'  �	 (ui)i≥1 	��� �		�(  ��"	 ���� "������� ���
B(ui) = A(ui+1) ���� ���� i ≥ 1 �� A(u1) = k� ) ��	 L(u1u2 · · ·ui) ≥ i → +∞� *���� ����� �� #������ u �� x
���� A(u) = k �� L(u) = m ���� m ≥ 1 ��� ���� +��� ���	 ��!����������� "����� �� �� �������� u = v1v2 · · · vm� ��
���� ���  � ��� v1v2 · · · vl 	���	#��� ��� ���������	 ���,���,��	�

-� �������� ��������� 
�
�� ��� ���	 ���������	 ����������  �  ��"���� ���	������� 	���� � ����  � ���	�����
��� #������� ������ 	��  ���	��! � ��	 #������	 ���� ��� ����� ��� ������ �� ��.�������� �� 	���� ���� ��� �����
���� � ����� �� 	�� ��!��� �/��������

����������� 	
	
�

���� x �� ��� ����� ���	�
�������� �
�������� ��� �� �
������ A �� L 
� 
������� ����
������ ������
�� ����

y ∈ Ω(x)� �
��� y ��� �� ����� �� x �� �� ���
����� �� �
 ������� ����� ������ ��� �� ��
��� ���
������
���

������� �� � �� ����� ������ 	��	�����  ��" ���� 	���� �� x ���� ���  ��"���� ���	������� ��!�����������
"������ 0�������������� �� �������� �� �������  ��� ����� ��� ����� y ∈ Ω(x) �	� �� 	���� �� x 	� �� 	�� �����
	�

limnA(Pn(y)) < +∞�

1� �� 	����	� ��� y ���	� ��	 �� 	���� �� x� ���	��� ���	 ��� �������	����� ���	������� ������ � ���� ���
u = v1v2 · · · vL(u)�  � ��� v1 �	� ���������! � �� ���� ������ A(v1) = A(u)� �� ���� �		����� �� ������� ��2������ %
�,���� �� ���	 ��  � 	���� (A(Pn(y)))n≥1 �� #������ ���������! �� ���	�&%&���� ���� ���	�� �� 	��	&��	��! � M ⊂ N�
������ �� ��� #������� ϕ ��2������ ������ 	�� M % �� ���	 ���	  ���	��! � ��	 #������	 ���������! �	 ��� 	��� ������	
�� y� ���� �������� ��� y ����� �� ���!�� ����� �� ������	 ���������! �	�

3��	  � 	���� �� ����� 	������ �� ��� �	�  �  ��"���� ���	������� ���� ���	������ ��� �� ������� ��������� %  �
���2������ ���	  � ��	 ��	 ���	 �����	 �� ��������� ��	 �� �����	 ��!����������� "����	� ����� � �		� �	� � �	 "�����
���  � � �		� ��	 ���	 	��	 #������	 �����	� ���	����� 	��� ���� ���	��� 	� �� 4��56 �� �� ��� ����� 	�� �� � �,�!��
% 	�� ����� ����  �����	� 7���  �	 ����� �	 ,�	�������	 �� )� 8,�� 	��  �	 ���������	 ��	 �����	 4�
�� �
56�

1��� x �� ��� ����� 	�� �� � �,�!�� A� 7��� u �� #������ �� x� �� ������  �	 ������	 ��	��! �	 9
: λ+(u) = {v ���������! � ���� B(vu) = B(u) | B(v) = A(u)}�
: λ−(u) = {v ���������! � ���� B(vu) = B(u) | B(v) < A(u)}�
: ρ+(u) = {v 	���� ���������! � �� u | B(v) = A(u)}�
: ρ−(u) = {v 	���� ���������! � �� u | B(v) < A(u)}�

�� �����/��� % 
�
�
 ����  � ��������� ���� #������ ���������! ��
;�  �	 ���������	 �������	 �� 
�
�� ��  �  ��"���� ���	�������� ���� �� ��� u ��� ���	� ��	 �� ������ ��

x�  �	 ��	��! �	 λ+(u) �� ρ+(u) �� 	��� ��	 ����	� <��	 ������	 ���	  � ��������� 	�������� %  ����� �� ��	
��	��! �	� ��� �� ������� ���	 ���������� �� ������ ��� �� ������� ��  � ���2������ 
���= ��  � #������	�����
	����&�����,��������� ���	  � ��	 ��	 ���	 �����	 �� ��������� ��	 �� �����	 ��!����������� "����	�


�������� 	
	
�

���� x �� ��� ����� ���	�
�������� �
��������� �� L 
� 
������� ����
������ ������
��  � �
���� 
� ��
������� C�
! ����� ���
����� ���� u �� ������� �� x ��� "
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�
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�� ��� ��
� ���� ��

��	� 
�		�� �	��
	��	����


�	���� ��

� C(u) = CNF (u) �� u ����� �	� 
� �	���

 �� x� ����� �	 ��������� ������

� C(u) = ����� �� u ��� �

��
�������

� C(u) = ���	
 �� L(u) ≥ 2 �� �
��� 	 ��� ��	����� �����������

λ+(u) = ρ+(u) �� λ−(u) = ρ−(u)
� C(u) = ��
� �	�� ��� 	
�
�� �	��

�� ����	�
 ����� �	
� ��
�
��	 ���
 ���
�

 ����������	 �	� ����	� ����
�� ������ �� ���	
� ��	 �	 ��� �	  
�
�

	�� �� ��� ���� ����	�
� ��

���

���	
��
 ������

�� �
����� �
� �� ��� ����� x �� �������� �	� �� �	

�� 	
���
	�
����� �
	���� ���
� x ��	���� 	
�
� �
��� 	�	��


�� �	���
��	���� �
��
 �����!
��	���
� ��

 �	 ����
	���� C�

"
�
#�� !�
�

T k(x) = u1u2u3 · · ·
��	 �����

���
�� ���	
"������
����
��	 ���� ����	 �	 x# �	��� ��$�$� %����	 �	�� �	 ����� 	� �	 �����# �� �	��
������	
 ��	 ���� �	� ���� �	 �� ���
��	 &

(un1
un2

· · ·unk
)k≥1,n1<n2<···<nk

���� �	� ����	�
� �	 x� '���
�� �	� 
	��
��	� �
����	�� �� ��(�
�
�� ����� 	� �� ��(�
�
�� ��$�$# �� �	�� ������	


��	 �	� �	
�	� (ui)i≥1 ���� �	 ���)�	�
 ��������
*	 ���� )
���	 ��	 �# 	� �
��
 �� �����

���
�� �	 �	�� ��� +�
	

������
����
��	 ���
 �� ����	�
 ������ ,�
 �� ��(�
�
�� ��$�$# �� ��(�
�
�� �����# �� ��(�
�
�� ����- 	� �� �
����
�
��

�����# �� 	� ����
� ��	 x ���	� ��	 �����

���
�� ���	
"������
����
��	 ���� �	� �	
�	� ���
����� . �� �
��

���

�	� ����	�� /�
��	 . 
	����	
 �	� �	
�	� �	 �� �����

���
��# �� �	�� ���� ������	
 ��	 �	� (ui)i≥1 ���
����� . ��

�
��

��� �	� ����	� & ���
 ���� n ≥ 1# u1u2 · · ·un 	�� �� ����	 �	 un+1� '	 ����# �� �	�� ������	
# �	��� �	�


	��
��	� ��
*��� �� ��(�
�
�� �����# ��	 �� �����

���
�� 	�� ��������
*	# ��	��"."�

	 ��	 B(ui) = A(ui+1) ���

���� i ≥ 1# 	� ��	 A(u1) = k# �*	� ���
�	 �	 ��$�-� �� *� ����
	
 ��	 un+1 	�� �	 ����	�
 
	��
 �	��� �����# 	�

���
 �	�� �� �
����	 ��
 ���0�	 
�����
�� ���
 �	� �	�� �)��
��� ��	��	�0�	� /�
��	 . ����
��
	
 �� �����

���
�� .

��
�

 �� ��� u2# �� �	�� ������	
 ��	 k > 0# 	� �� � *� ���� �	� 
	��
��	� �
����	�� �� ��(�
�
�� ����� ��	 �	��

���
���
� ��	 �	� �	�� 	��	�0�	� λ+(u) 	� ρ+(u) �	 ��
	�� ��� *
�	�� �� ������	 �	 ���� ���� �	
�	� �	 )���
��
���
��	 |un| < |un+1| ���
 ���� n ≥ 1# )
1�	 . ��$�$�

2���
��� ��	 λ+(un+1) ⊂ ρ+(un+1)� !�
� v ∈ λ+(un+1)# ��	��"."�

	 �	� ��	 L(v) = 1# B(vun+1) = B(un+1)
	� B(v) = A(un+1)# ����
�� ��$�-� ,�
���	 B(vun+1) = B(un+1)# ��
� v 	�� �� ����	 �	 un# ��
� un 	�� �� ����	

�	 v� 2�
� ��
���	 v 	�� 


�����
0�	# ���
�� ���
 ����	��	 �� 
	�*�
� . �����# 	� ��	 un 	�� ������� �	 ���)�	�


��������
*	 ���� )
���	 ��	 �# v 	�� ���	���

	�	�� �� ����	 �	 un� ,�
 ����������	 �	� ����	� ��	 ���� � �0�	��	
�� ��0�� �	 �� �������
��
�� . ���
�	 �	 �� �
����
�
�� �����# v 	�� �� ����	 �	 un+1� ,�
���	 ���� � �	 ����

B(v) = A(un+1)# �� 	� ����
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� v 	�� �� ����	
�	 un# ��
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	�	���� ��� ��%�������

����� ��� ������ �
�� �
� ��&�� �� ��� �������� �� �
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�� �� +� 
�	���� 
� ���� !����	������ ��� �
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�� , �	������ �� 	��	������ ��	�� �������&������� 0����&��

�������� 	

������� ����	�� 
�� ����
���� ������
� ���������� 
������� �
����� 
� ���� ���� 
� ���������� 
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������ �	��  �	��
�� �� ��
������� ���	���	 ���

��"�	�� 	��
���� ��� ������	�� ���� ��!��&�	���� ��� ��� ������	�� ���������� �
��	�� ��� ��� �
�
�	��
�� 	�	�� ��

�
� �� ���� ���
��	�� �� �
������� 2�&�� �
�
�� ��� �
�� �� ���
���� �� �	 �	��
���	��
� �
�
���
�	������ ���

�	� ��� �
�	���� �� ���� �� ��
 ���� ��	���� ��� �	� ��� �
�� ��&��� ��  	��� �
��������� 	�
�� ��� �	�� �� �	� ���

�	��
���	��
�� �����)�
�
���
�	������� �� �	� ��� �
�� �
��	�� �	� ������� ��� �� �
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	������ �	� �� �	��
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���� x �� ��� ����� �����
�������� �����
���� ��� �� �
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���� x �� ��� ����� 	�
 �� ��
����� ��� A� �� m ≥ 1� �� ������ �� �
�
�� �� ����� �� ���
� m �� x ����� ��

�
�
�� ��
��� ���� �

� ��	 	�����	 	��� ��������	 
�
 ��	 ������
	 �� x �� �������
 m�

� ���� ������
	 s �� t 	��� 
����	 
�
 ��� �

 �� ��
����� �� ��� �!�� ���� s→ t� ��
	��!�� ���	�� �� ������
 w ��

�������
 m+ 1 ���� s �	� �� 

���� �� t �	� �� 	�"���

,��
 	��	 m ≥ 1 �	 	��	  �	 ����� x� 
�  �	 x �����	 �� ��� �� ���� ��� �
���� �� ����� �� ���
� m ���

Pm(x) −→ Pm(T (x)) −→ Pm(T 2(x)) −→ · · · −→ Pm(T k(x)) −→ · · ·
�' 
��� 
����

� +�� 
� ��	�	��� Pm(x) ������� 
� �
���� �� 
������
 m ≥ 1 ��  �	 ����� x� &� �������
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� ��  �	 x 
��4 5 �� �	 ��� ���
� ��	 " 
����� �
� �� ��� !��	��
�� �� 	��� �� �������
�	���
��
 �	 �� �� �
���
� 
�� ��	�
��	���� ��	
� 
�� �����	� ���� �+��� �	 �� ����	��
�� �� 
��	��� ���  �	� ������� �	
����� �� �����
 
�� �����	� �
����� ����  �	� ������ ��
 ��� ���� �
� �� !��	��
� 	��	 ��  � ��� �����	� 
������
������ ��
 
� ��� �� +���
 �����	 ���� ��� �
���� �� ������

&� �
�����	��� ������	� ��
 �	 �� �� �
���
� 
� �	
��	�
� ����
�
� �� �
���� �� ����� ���  �	� �	�
 �����
,���+�� 
��  �	� �	�
 ���� ���	 
��  �	� �� �
�� ����� �� �
���	� ��
 �� 
��  �	� ���4�
	� � ��	 ��
����+��� ��
��

�� ������� (�)�� �	 (�)�/� 
�� �
����� �� ����� ���  �	� �	�
 ���� ���	 �
�� !���
�� " ���
�
� +�� ���
 ����	
��
 �	�� 6��� 
� ��� �� 
��	��� ���  �	� �	�
 ����� �� ��

� +���
� ��
 �		��	 ��������
 �� ���	��� �
�	� �	�+��
����� ��
 
� ���	� ��� ���	�����	� �� 
� ���	�� &������� ������	 �	��	 ����� ���� 
�� �	���� ���  �	� �	�
 ����� �	
��	 "  �		
� �� ��
�

$
� ���� 
� 	���
$ � ��� 	
��� 
������
�� ���
 -//� )�70�

�
��������� �	
	�

#� �
�
�� �� ����� �� ���
� m ≥ 1 �!�� ��� 	��
���� x ���	�	�� �� �� ��	��� �� ���� �����	� 
�
������� ��� 
�
���

��������

8� �9�	� ���
 	��	 m ≥ 1� 
�  �	 x ���� �	 +���� ���
 !��	��
 ������
 " ������� �� ���
� ��	
��	 2� �	 +���� ���

!��	��
 ������
 " �
��	�� �� ���
� ��
	��	 2� :��� 
�� ��	
�� !��	��
� ��	 ��� ���
�� ��	
��	 �	 ��
	��	 ����� " )� &�
��� �� 
�
���	 
� !��	��
 ������
 " ������ Lm �� !��	��
 ������
 " �
��	� Rm ��	 
� ��
	�� ��  ���  ��	������ ����

� �
�����	���� 6���  �	� �	�
 ���� ��  5 � ���	� ��	  5 � ���� �
� �� !��	��
�� �	 ���� ��	  5 � �
����� ��
������ 6��� �� 	�
 �
����� 
� ��� �� ��  �	 ��
��	�
��	�+�� ��  ���� ���� 	�����
� " 
����
��	 �� !��	��
 ������

" �������

�������� �� 	
�
������

�� ����� ���� 
������� ������	 
� �����	��� �� 
� !���	��� �� 
���	�	���� +�� ���	 5	
� �������
�� ���
 ��
 �	 ����� +��
���+��� 8

� �� �	 ��� ��	�
�
�	�	��� �	�
� ��
 
� �
���� �� ����� ; �
 �����	 �� �
�� 
��� ��� ��
�� �
	������ ����	4"4��
� �� ������	 ��� ���� !��� ��
 
�  5 � ��  �	� +�� ��

������ " �� �
���� �� x� �� ��

�
+�� 
� !���	��� �� 
���	�	��� +�� ���� �������
��� �� �	 
���
�$
� ��	 ��� ��
��
� �������	���� ���
��� ���� ��	
�< �� !��	 +�� 
� !��	��
 +�� ��	 
���	� � ��� ������� �� �
����
� 
� 
���	�	��� " 
��	��� ������	� �� ��
��
 �� 
�
!���	��� �� 
���	�	����



���� �����	�� 
� �
�
�	�	�� �� ������ 
� ����� 
�� ���� �����	��� ��

��������� �	
	


���� x �� ��� ����� 	�
 �� ��
����� ��� A� �� ������� 
��
 m ≥ 1� r(x,m) ����� �� 
��	 �
��� �����
 k ≥ 0 ���
��� ��	 ���	

Pm(x), Pm(T (x)), . . . , Pm(T k−1(x))

	����� ���� � ���� ��	�����	� �� �������� r(x, ·) 	��

���� �� �������� �� 
�
������� �� x�

����� �	� 
����
�� k ����
���� �
�����	� ��
��� ��	��	�� ��	� 
���������� �	� 
��
������ A ��� ��
� �� �
�����
�� 
�
����

�� r(x,m) ≤ p(x,m) ��	� ��	� m ≥ 1 �	
 ��!
��� r(x,m) ≤ m+ 1 ���� 
� ��� �" x ��� ��	��
���

#� $����
�� �� �����
�
�� ��� 	�� $����
�� �	
 ������ ��� !�
�	�� % ��� ��

��� & �	 ���� �" ��� ������������
������
 ����
��� ��
��
��
����� ' (��� ��������� �	� ��� 
����!�

�� ���
��� ����
������ ' ��!��
� ������� #� ���	
���
�	
!��� ��� �� �!
����� �� ������������ ) 
� $����
�� �� �����
�
�� ��� ���� ��	��
��� ��� ���
������� ��������
���
��� 
�������
� ��� ���
��� m ≥ 1 ��
� �	� r(x,m) = m + 1� ����� ����������
�� �� ���� �	� 
�	�
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���� x �� ��� 	��
���� �� m ≥ 2� ��	 ���������	 	�������	 	��� �����������	 �

� r(x,m) = m+ 1�

�� r(x,m) �= r(x,m− 1)�

!
����� #�
��

���
�� (i) ⇒ (ii) ��� �
�
�� �	
��	� r(x,m−1) ≤ m� 0�	� 
� ���� 
��
���� ��
��� Am �� Bm 
�� ��	�
������� �
��
���� �� Gm ��
� �	�

Rm → Am �� Rm → Bm

���� Gm� �� ����
���� 
� ����
�

Pm−1(x) → Pm−1(T (x)) → · · · → Pm−1(T
r(x,m−1)(x))�

���� Gm−1� 1
 ��
��� 	� 	�
�	� ���
�� 0 ≤ j < r(x,m− 1) ��
 �	�

Pm−1(T
r(x,m−1)(x)) = Pm−1(T

j(x))�

2��� Gm �� �� ��	� ��� �!�
� Pm(T r(x,m−1)(x)) = Pm(T j(x)) ��� ���
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�	���
� �	� r(x,m) = r(x,m− 1) 
������
������ ' ����� ���������� �� � ����

Pm(T r(x,m−1)(x)) �= Pm(T j(x))

�� ��� ��	� ���� �
3����� ���� 	�
�	����� ��� 
�	�� ����
���� 
������� 4��
 ������ 
����

�� ��������
�

{Am, Bm} = {Pm(T r(x,m−1)(x)),Pm(T j(x))}
�� ��

� ����� �	� 
� ����
�

Pm(x) → Pm(T (x)) → · · · → Pm(T r(x,m)−1(x))

����� ��� 
�� ��	� ������� Am �� Bm� 4� ����
� ��� 
� �
	� 
��� ����
� ���

���
�� ������5��� �	 ������
Pm(x) ���� 
� ����
� ����
 ��� x �� !	 
� $���� �	 ������ 

 ����� ��� 
�� m+1 ������� �� Gm� 2��" 
� !�
�	�
r(x,m) = m+ 1�

2��� 
� ��� ��� ���� ��	��
��� ��������
��
�	�� ��	� ��	� n ≥ 1 
� ����
�� $����	� �� 
���	�	� n �	
 ��� ������
��	� $�
� ��� �������
������ 	� ������ ����� 
� ������ 
� ������
�
�� �	
!�����

����� �	
	�

���� cα �� ��� ��
����
�	����� �� 
���� α� "��
	

Pm(T r(cα,m)(cα)) = Pm(cα) = Lm
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���� ���� m > 0�

����	�� �� ����	
� ���
��� ������	� 
� 
� 
��	����	 
� cα ����� 
����� 
�� �������� �������� � ������� ����
0 ≤ j < r(cα,m) 
��	���� �	���� ��
 ���

Pm(T r(cα,m)(cα)) = Pm(T j(cα))

�� �������	� ��� 
������
� ��� j �= 0� �
���

Pm(T r(cα,m)−1(x)) �= Pm(T j−1(cα))

�� ��� 
��� ���� 	� 
� !��	� ��� ��� 
��� �����!��� 
������� "	 �	 
�
��� ��� Pm(T j(cα)) ��� ������
 � ������# ��

�	� ��� j = 0# �� ��� ��� �	� ��	���
�����	�

"	 ���	
 
� ��	����	 
� ���������	 �	 
��	����	� r(z,m) ���� �	 ��� �	� z �� m > 0# �	 �������	� ��� z �
���
�	 ������� 
� 
�	����� m �$�	� 
��� �������	��� 
�	� z# ����� 
� ��
��� �����	� r(x,m) ����	�� ���� ����
��� �	�	� x ��
 ��� z ���� ������ 
� x� %��� ���
���	� 
�	� 
� 
���	�������	 
� 
���� �����	� �
������� ����������
����	��� � 
���
� 
� 
�������
�	�� 
�� 
� ���	��� 
��	����	� 
�� ���� ��	����� ��	��	��� 
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��� z = p01q �� 
�� ������� �	�� |p| ≤ |q|� �� �� p �� q ���� ��� ��������
��� �����

r(z, |p|+ 1) = |p|+ 2�

����	�� �� ��	��
������	 
��	 ��� ��	���
 ����� ���� 
� ����� p01q �' p �� q ��	� 
�� ��
�	
����� ������	� 
�
�����!�� ��&���

���� cα �	 ��� ��������������� �$�	� z ����� ������# ��
�	 
� �����!�� ��&��� �
��� ��� 
� 
���� ��(�) �����
�	�
�	 �

P|p|+1(T
r(z,|p|+1)(cα)) = p0�

"	 ������ �
��� 
� ����
��� ��� �������	�� ��� |z|� *������ z ��� �	 ��
�	
���� ��
�	 ��&��# �	 	� ���� �����
|p| = |q|# �� �� |p| = |q| − 1 �
��� q = p0 = 0p# �� 
�	� z = 0|p|+110|p|+1# �� ��� 
���	��� 
� ����
��� 
�	� �� ���� "	
������� 
�	� ��� |p| ≤ |q| − 2 �� �	 ����� q = p01u� �� ��� u ��� �	 ��
�	
���� ������� z = q10p = p01u10p �	
��� �	# 
� ��

� ����� ��� q = p01u ��� 
� 
�����������	 
� q ����� ��� ��	���
# �	���� ��� 
� �����!�� ��&���

�� |p| ≤ |u|# �
��� 
� ����
��� 
����
� 
� 
��$����!�� 
� �������	��� "	 ������� 
�	� ��� |u| ≤ |p|# 
� ��

� �����
��� r(z, |u|+ 1) = r(q, |u|+ 1) = |u|+ 2 ��� �$����!�� 
� �������	��� *������ r(z, |u|+ 1) ≤ r(z, |p|) ≤ |u|+ 2# �	
� 	�����������	� r(z, |p|) = |u|+ 2� +��� z = u10p10p# �� ��	�� �	 ���� ��� 
� ��� u10p0 	���� ��� ������ 
� z# ��
�	 �	 
�
���

r(z, |p|+ 1) > r(z, |u|+ 1)

= |u|+ 2

= r(z, |p|)


��' 
��	 ���� r(z, |p|+ 1) �= r(z, |p|)� "	 ��	�
�� ��� ���
������	 
� 
���� ��(�)�

�� 
���	�������	 �����	�� �����	�� 
� ��
��
 
� 
� ��	����	 
� ���������	 
� ��� ���������������� %��� 
�		���	�
�
�� 
��	 
�� �	�	��� 
�		�	� 
� ��
��� 
� 
� ��	����	 
� ���������	 
�� ���� �������	� ��	�����# � 
���
� 
� 	����

���������	 �����	������ 
�� ���� �������	� ����	�� ��� 
�� �	�������� �����
�� %��� �	 
�
����	� �	 �������
��� 
�

�	����� 
�� �$�
�� ��	������	� 
�� ������� 
� ,��-$ 
�� ���� �������	�� �� 
�	����� 
� ��� �$�
�� ���� .��� �����

�
���� 
�� ����
���� ��	���	�	� 
�� ������	��� 
����������	 
�� �������� 
��	 ��� �������	# �� 
��	 ���� �������
����� ���
� 
�	� 
������
� /((0�

�	
	���

� �����


��� cα �� 
�� ��������������� �� �� ����� α� �� ���� (qn)n≥−1 �� ����� ��� ����������� �������� � �� ����� α� �����

�� � ���������



���� �����	�� 
� �
�
�	�	�� �� ������ 
� ����� 
�� ���� �����	��� ��

r(cα,m) = qn ���� qn − 1 ≤ m ≤ qn+1 − 2�

������� ���� (sn)n≥−1 �� 	
��� �� 
��	 �		����� � α ��
� ���	��
��� �� 
�� ���������	���
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� ��� �����



�� �������� 	
 ��
����
 �� ���������
 �� ������ �� �����

������� �� �����	
�� 	
����	 �� ��� l = 0� �� ��� ������� s−−
n ��� �� ������ ������ 	� Lm �� Lm ��� �� ������

������ 	� ��� ������� s−−
n tns

−−
n−1� 	
���
� ��� �����
��� ������ ����� �� ������ �� ��� z = sn+1s

−−
n = s

an+1+1
n s−−

n−1

��� ������� 	
���
� ����� �� �� � 	���

r(z,m) = qn

= r(T qn(z),m)

= · · ·
= r(T (an+1−1)qn(cα),m),

�� ���� ������  �� cα ������ �� ����� an+1 !��� ������ 	� �"��� ��!������ 	
���
� �� 	�������� ����#�

$��� �� sn+1sn ��� �� ������ 	� cα 	
���
� ������ �� ��� sn+1sn = ztn = s
an+1+1
n s−−

n−1tn ��� �� ������ 	� cα ��

sns
−−
n−1tn ��� �� ������ 	� T an+1qn(cα)� �� 	� �% �� &���  �� �� ��� T an+1qn(cα) ����� �� ������� ���� ��� �� '
���

Rm → R∗
mt

−
n �  �� �
���������� ��� �� �"��� ��!����� 	
���
� �� ��������� ������ (��� ������  �� cα �� ������ ���

an+1 + 1 ������ 	� �"��� ��!������

�� ��� l > 0 ��� ��������� ) �� ��� ������� slns
−−
n−1 ��� �� ������ ������ 	� Lm� �� Lm ��� �� ������ ������ 	� ���

������� sl+1
n s−−

n−1� 	
���
� ��� �����
��� ������ ����� �� ������ �� ��� z = sn+1s
−−
n = s

an+1+1
n s−−

n−1 ��� ������� 	
���
�

����� �� �� � 	���

r(z,m) = qn

= r(T qn(z),m)

= · · ·
= r(T (an+1+1−l)qn(cα),m),

�� ���� ������  �� cα ������ �� ����� an+1 − l !��� ������ 	� �"��� ��!������

$��� �� sn+1sn ��� �� ������ 	� cα 	
���
� �� �����
�� ������ �� ��� sn+1sn = ztn = s
an+1+1
n s−−

n−1tn ��� ��

������ 	� cα �� sns
−−
n−1tn ��� �� ������ 	� T an+1qn(cα)� �� 	� �% �� &���  �� �� ��� T an+1qn(cα) ����� �� �������

���� ��� �� '
��� Rm → R∗
mt

−
n �  �� �
���������� ��� �� �"��� ��!����� 	
���
� ������ (��� ������  �� cα �� ������

��� an+1 + 1− l ������ 	� �"��� ��!������

*��� ��������� �� �������� ��� �� 	������������ 	
�� ����� ���������� ��� +������ 	� ,��-"  �� ���� �����.

������ ��� �� ������ ��  �� !������ ��� ����� ��������������� 	� �"��� ��!������
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 �

 �����
��	
� ��� �� ��	
 �������� ��
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� α �� 
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������� $��� �� �
�������� 	�� !������� 	
�� ��� �������� ��� ������ ��� ���+� ������ 	
���
� �� ����������� ����/�

�� &���  �� �� s→ t ��� ��� '
��� 	� Gm� ����� t̃→ s̃ ��� ��� '
��� 	� Gm� $��� �� ��� 	��� �"���� 	� Gm ���� 	�

���+����� 	�0������� 	
���
� �� �����
�� ������ �� ���� �
��� ����� 	�� 	��� '
����

Rm → R∗
mt

−
n−1 �� Rm → R∗

mt
−
n

���������� �� �"��� ��!������ �� �� 	�	���  �
��� ����� 	�� 	��� '
����

0L−
m → Lm �� 1L−

m → Lm

���������� �� �"��� ��!������ ��� 	��� ���� 0cα �� 1cα ���� ��������� 	
���
� ����/� �� ����� �� ������ �� ��� �� ���

u 	� ���+���� qn ���  �� ucα ���� �������� �� ������ ������ 	� �"��� ��!������ $��� �� cα ������ ���1���� �� �����

��� !��� ������ 	� �"��� ��!����� 	
���
� �����2� ucα ������ �� ����� 	��� !��� ������ 	� �"��� ��!������ $��� �� x
�� cα �����+��� ��� �3��� ��������� 	� !������� 	
���
� ������ �� ���� �� ����� �4����  �
�� ������ �� ��4�� 	�

x  �� ������ 	��� !��� ������ 	� �"��� ��!������
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��� �� �����
������� ����
� �� �������� �

�������� ����������� ���
��� ��� 
��� ��	�

����
���� x �� ��� ���	��
� �
 �
��
 α = [0, a0, a1, a2, · · · ] �
�	��
 ��	 ��� �
�
����
�
�� 
� �	������ �������
� �


����������� (qn)n≥−1� ���	� �� 
����
 �� �����
 ���
	�
�� ��	�
�

ρ =
+∞∑
i=0

bi+1qi

�
 �� �
��
 α� �� �
� ��
���
��� (bi)i≥1 ��������� ��� ���������� �����	������ �
� ��


x = T ρ(cα)�
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���
 ��� ����"� ��	� 
�� 	��

�
��� ���
��
%	�� �� ��

�
����� 
����� ��� �����	� �� &� ���
�'�(�)
 *+,� 
� ���
�� 	� �������
��� �� �� 
��	�� ��
����
����
�� ��	� ��
-��
���� # ����
� ��� �����
���� ��
-
����
��� �� ��� ��������
��� ���� 	�� -��� ���
����

$�� ���	����� ��������� ���� �� �"��
��� �
��
 %	� �� ��������� ��� ��
� ���-.�� �� �� ���/�	-�
���
�� 0 1��
��

��������� �� 2�	�

�� (���� 3� ��������� �	� ��4
�� �
��
 %	� ��	�� ���������
�� # �� ���������� 5��
� 6�	�����
7����
��� # &�����	�� 1������

��� �����	
 �
 �
	������� �����������

�
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 �
����� �
 �����
�� ��� �
 ����
��� 	
��������

$� ���
�� ��
�������� ��� 
��� ��	�

��� 
�����
��� �� 
��
��� �������� ���� �� ��
-��	� �����	� ����������
��� 
��� �� -���� ��
����
��� �� 
��
��� !�������� ����	�� ��� �	
��� ��
�"
��
%	��� ����
������ 
��	�� ��� ��
-���
���
���� �����/#/�
�� ��� �	
��� �� �� ���
� (nα���� 1� )n≥0� �� -��� ��	.�	�� �	� ��� ���	����� �� ����
���
�
�� ���
��
-��� ����� �	 ���
��� ���� �� �8���
� �� �	
����
�� ��9����(�)
� ��
� ��� ���
��� *55:� ;�� <=� 5+:� 5+>� 5+;� 5+��
5� 5�:� <<� 5:�,� $� ���
�� ��
�������� 
�����
��� ��� %	� ���� ����
���� ������
-�� ��� 
��� ��	�

���� �����/#/�
��
���� ��� �
�	��
��� �? ���� �� �� �


�� ��� �	 ���!�!� %	�
�� ����
������

@��������� ��� �
A������� ��	��� �� -����� ��	� �� ��	���� �	� �� ������	��
�� �8��

%	� ��� 
��� ��	�

����
��	� ��
�� �� �	� ��!��
%	� ����
%	� �	� ��������
��
��� �	 ������� �� 	�
�
���� ��� ����
�
��� �������� ��� 
�/
�������� %	
 �
�B�"��� �����
� �� ��
�� �� �
�� ����� ��� ��������
���
��� �	
��
%	�� �-���	�� ��	� ��� 
���������
�����
%	��� �� �� ������	��
�� ��
-
����
�� ��� 
��� ��	�

��� ��	�
���  �	� ���������� ���� �� �������� 	� ���
�/
�
�
� ���
������ �� ������	
�� ��
-
����
��
��� ��� 
��� ��	�

��� # ���
�� ��	�� ����
�
�� ���
���� ��� 
����������
�A���� 	� ��	���	 ��
�� �� �	� ���
������ �� ��
�
� ��

��� ��� ���
�	��� ��9����(�)
 ���� ���
��� -
.���
��
���
���� ��� 
��� ��	�

���� $�
�����	��
�� �� �� ���
��
�
� �� ��� ��	�� ���
����� ���� �	� �����	� ��
����� ��
-�����
�� ��	� ��!��� ��	���	 �� ����	� �� �����
��
��� �� ������	��
��� ��
-
����
��� ��� 
��� ��	�

���� ��

�
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��� %	
 ��� �� �"�
� �� �� �"��
��� >� �	 ��� ��� ������
���
���� ��

� �� �� ����� �	 �"��
��� ;�

 �	� ������� 
�
������� �� �����
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�� �����
%	�� -���� �	� ��� 
��� 
����
%	��� ��� 
��� ��	�

��� �� �� ��	�

�������� ����� ��	� ������"� �8��

%	�� $� �����	� 
�������� ��	��� ����	���� *55;, ��	� ��	� �� ����
�� ����������
����� ������"��  �	� ���
������� # �� �� �� ����� ����
�� ��	� �� ����
� �	� �� �8���
� �� �	
����
�� ��9����(�)
�
$� ��-	� �� ����� ����
�� �����
�	� ���� 	� -��� ������ �� ���	����� %	
 ���
��� ����	� �	 ��-	� �� �� ���������

$�� 
��� ��	�

��� ���� �-���	� �� ���C��� 	�� �
!�� ���
�� ���� �� ����� �	� ��%	�� �� � ����� �� %	���
���!�
���� ��� 
��������
��� ���� ������� ��� ��� ��
��� # ����������� ���
����� 9� ��	�
� ��� ��
��� ��
��������
��� �� ��
���
�� ������ ���� �� %	���
���!�� �� ������ 	� D ����%	� �� ���
�� ����
����� ���
�� �� %	���
���!� ����� 	�� �
!��
"��
'������� �� �� ������ 5 ����%	� �� ���
�� ���
�� �� %	���
���!� ����� 	�� �
!�� ����
����� E� �����	���� �� ���
��
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������ �	 
����	� �� �
��� ��� ����		���� �	 �����	� �	� ����� �� � �� �� � ��� ����� �	 ��� �������	 �������
�� 
�	�� �� �� ������ ��	������� ��� �������		����� �� ���� ��� ���� �������	� ��	� ����	�� �� ����� ����	� �����
������
���	 ��	����� 
����� �� ���� �����	� ��� ���� �������	� ��	� ��	�������� ����� ��	��������	 �����������
������
�	� � �� �� 	����	 ��� ! �����	� �����	��� "� ���� #��$% 
��� 
��� �� ��������

&� �� 	����	 ��� ���� ����	����� �����	� ��	��
��������	� � �� �'�� �(���� �'�� �� �� ��	��������	 ����	��
��� �	 
���� 
�� ��)���	��� *	 
��� �� 	�� ���������	�� ���� α �� ρ ���� 	������ ������ ���� 0 ≤ α ≤ 1� ��� ����
����	����� ��
������� sα,ρ : N → {0, 1} �� �	�������� sα,ρ : N → {0, 1} 
�� ��� ��������� 
��� n ≥ 0 +

sα,ρ(n) = �(n+ 1)α+ ρ� − �nα+ ρ��
sα,ρ(n) = �(n+ 1)α+ ρ� − �nα+ ρ�


��� ���������� �� 	
��� 
�� ��,���� �� ���� ��
����� ��	� �)��������	� � ������� ��	� �
�	������ {0, 1}� &�� ����
����	����� �������	� ����� �	� �	���
�������	 ������������ 
�� ��-� �����	�� �� ����� ������
�	��	� 
��� ��� ! ���.
��	� �����	��� " + 
��� �(���� ���	� ��������� �� 
��	 �
������� �	��-��� �	 ��	���-�� ��� ���� 
��	�� � ������		���
�	��-�� ������ ��� ����� ���	�� ���������	� �� ������ �� �	 ������� �� �� ������ �
�������	 y = αx+ρ� &�� ���� 
��	��
������
�	��	� � �	� �������� n �� ��� ���� 
��	�� ������
�	��	� � �
������� n+ 1 ����	� ��� ����		��� ��� ����	�
���� �	�(�	����� ���� �	�����	����� ��	� �� 
������ ��� �	 ��������� �� �/����� �� �� ��	� �� ����	� �� �/����� �� &�
��� ��	�� ����	� ��� �������	 �� �� �������	� �� �� 	����� α ��� �������		��� 0�������	�� �� ���� ����� ��	������� ��
��������� �� ��� �1 �� ������ y = αx+ρ 
���� 
�� �	 
��	� �	����� �� ��� �� ������
�	��� �� ��� �������	 
����������
��� ��� �� ��� ���������������� *	 ��	���� � #��$% 
��� ��� ������� ��	���	�	� ��� ��	��������	�� ����� �������� ��
	����� α �� ������
�	��� � �� 
�	�� �� ��� �������	� �� �� 	����� ���� ρ � �
�	�����
��

����� ��	��������	 ����������� 	� ��� ��
�	��	� 
�� ���2���� �	 �����	�� ������	�� 
��
������ �����	�������
��� ���� �������	�� 3���	 ��� ��	��������	�� ���� �	�����
�� ��� ��)-��	� �
�	 �	���� �-	�	� � ��� ���� �������	�
������ �� ��� ��	��� �	 ������	 ��
��� 	�	.��2����� �� ��� ������
���	�� 4
����� 
���� ��� ���������� ����� �� ��� �1 ��
������ ��	������� 
���� 
�� �	 
��	� �	���� ��	��� ��
�	 �'�� �	�����
� 
��� 
�������� �� �� 	�� 	����������	�
���� ���� �������	� ��)���	��� 5���� �������� �� 	�� ��	��������	� ��
�	��	� �	 
����� � ��� 
�������������� ��
��������	� �� ��������� �����	������ ��� �����		���	�� ��	���	�	� ��� ���� �������	�� 6� ��� �	 �)�� ����������� ���
�� ��	� ��� ��	���	������ �

�������	� ��	� �� ������

���	� �	 �������	 ��	��	�� �� �� 
�	�� α ��� ��	���		�	� ���
�	��������	� �����	������ ��
����	��� 
��� ��� ���� �������	� ����������������� �� �� ��� ����� 	������ �� �� 
����
�� �������	 �� �
�	 
��� ���
���� �
�	� ����� ������
���	 ����� �����	��������	� 
����	�	�� 
��� �� ����	� 
����-���
�������	� ��� ���� �������	�� �
�	�����
�� ����� �������	 ��	������ �	 ��� ��������� 
��	��
��� �� �� ���������

7	� ������
���	 � �
���� ��� �������	� ��� �� ������ 
����� �	 
��	� �� ��� �/	������ ��� ��� ���� �������	��
*	 ��	���-�� 
��� ���� �	 
��	� ρ ��� �� ������� ������
�	��	� � �	 ���� �	����� 
��� �� �/��-�� �/	������ �����

�� �� �������	 Rα �
�	��� 0 < α < 1 +

Rα : x ∈ R/Z �−→ x+ α ∈ R/Z�

*	 �� 	�� ����� �	� 
�������	 �� R/Z ��		�� 
�� ��� �	��������� [0, 1−α[ �� [1−α, 1[� �� �	 �����	� ����� sα,ρ(n) = 0
�� �� �������	� �� Rn

α(ρ) ∈ [0, 1−α[� 
��� n ≥ 0� 8��� ����	�� ��� �	�	��� ��������� 
��� �� ��� ����	���� ��
������
������� � α �� ρ� �� 	��� ���� �(����� �� 
�������	 ��		�� 
�� ��� �	��������� ]0, 1−α] �� ]1−α, 1]� �
��� �	 
����� 
���
������ � ����� �� �(��� ��� 	��� �	��������	� ��� �	�����
�� �������� �� �(��� ������
�	� �	 ����� 
��� �� �/��-��
�� 	��������	 �
*����9�:�� � �(����� �
�	 ��� ���� �	�����
�� ������� σ0 �� σ1 ���� ��� σ0 + 1 = 0 �� σ1 + 1 = 0�
��� �	�����
�� ������� σ0 �� σ1 ���	� ���� ��� ������
�	��	� ���
��������	� ��� ���� �������	� 0cα �� 1cα� 
���
�������� �	 ��	���� � 	���� ������ ;�<�$� �� � $���� 
��� �
�������	 �
�	 �	�����
� ������ ���� �	 �	���� 
�������

&� �(���-�� ��� ����� ��	������� 
����	�� 
�� ����
�� ��	� #��� �=� �$�%� ���
��� ��� �� �������	 �
�	��� α� �1
α ��� �	 	����� �������		�� ���� �	� 0 < α < 1� ������ n ���� � 
����� �
�	 
��	� ������	���� �����
� �� ������ �	
n+ 1 ����� �
�� 
��� ����� ��	������ ��)���	���� 4�	� ��� ������	��� �	�������� ��� ��	������ ��� ���� ����	��� ��	��
��	� 
��������� �� ��	� ��
������ � �
���� ��� ��	���	������ �� 	���������� �� ������

���	� �	 �������	 ��	��	��
�� α�

8��� 
��������	�� ���� α = [0, a1, a2, . . .] �� ������

���	� �	 �������	 ��	��	�� �� α� *	 	��� (pn)n≥−1 ��
(qn)n≥−1 ��� 	���������� �� ��	���	������ ���
��������	� ��� ��)���	��� �

���������	� �����		����� �� α ����	���

�� ��	 ������

���	� �	 �������	 ��	��	��� >��� 	����� ���� �� �
�	�������� x ∈ [−α, 1 − α] �
������ ��	� �� ���
�
�

���� �� �/��-�� �� 	��������	 �
*����9�:� ��� 	������ ������ ���� �� ����� +



�� �������� 	
 ���������� 
������ ��� ���� ���������

x =
∑
i≥0

bi+1(pi − αqi)

�� ��� (bi)i≥1 ��	
����	 �
� ����
	
��� ����	�����
 ��
� ��
� ����
���� � �� �� �� ��		� ���	
���� ��
� ��� �������
��� �	
��� ������ ����  !"� #��$% &���� ��� ��������	�	
��� ��� ���'��� ����� ���� ��� '���� ��	
(���� ���	�
���
��������	�	
��� ����	�����
 �
)����	�� ��
���	 ����� � ��� ����� �*�
�% +�
� ������� �
 �,��
	�� - ��
� �� ��	�
�
������	 ��� �
'	
�
	�� ��	�.����� �� ���
���	��	 ���� ��� ���	��
��	
��� ��� ��	� �	
��
���%

/�
�	�����	 ��
� ��	 �	
��
��� �
 ����� 
� ���� �� ��
�	������� [−α, 1−α[ ��	 ����� ��������� ���� �� �0�	(��
�� �
����	
�� ����	�����
� �	 ��		� ��������	�	
�� �����	 �� ���'��
��� �	
��� �0���
�
�� ���
��	 �� �0�	(�� �

��	 �	
��
�� ����
����% &���� ��
� ������� 
��
�
�� ��
� ��������
	
��� ����	�����
 �
)����	�� ��
���	 �����
� 
� �.�� ��	 �	
��
��% &���	 �� 	0�� �� �����
�	� �
� ��
� �,���,��� � ����
���� �
� �� ������������	 ���� ��		�
������� ���	
� �� ���	���	� �
 ������
��� �
� �
� 
�	�����	� �������%
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 �0�	(�� �� �
����	
�� ����	�����
� ���*�� �� ��
	 �
�
� ��
	
��
� �
2�
�� � 
	
�
��� �
� �� �0�	(��� �� �
����	
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�� '��� ��	
(��% &� �0�	(�� 
�	���
��	 �
	��	 ���� ���
���'�(��� ���'�'
�
�	�� �	 ��*��
�
�� �
� ���� ��� �����	� ����0	
�
� �	 ��*��
	,�
�
�� �� �� 	,���
� ��� ���'����
�� ��
��� ����
�	��  -"� -!� 3-� 3�� 4-� 4�� #5#� ##5� ##!� ##6� #64$ ��
� ��� 	����
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� �� �
)����	� ����
��� ��7
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�� �� �� �0�	(�� �� �
����	
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��	% /� ��	
�� ��
�	�����	 ������� �
� ��
� ������	���
���� �� ���	���	� �� '��� �
� 
� ��
�	 �� �
� 
���
�� ��� ���'��� p7��
�
��%

�� ����
�(�� 
�� ���	� α �	 (qn)n≥−1 �� �

	� �� ��� ���	
�
��	�% &�		� �

	� ����	
�� ����
	 ��	
��������	 
�
�0�	(�� �� �
����	
��� ����� �	
�
� ����  3$% &� �0�	(�� �� �
����	
��� ������ �
��
 �� �0�	(�� �� �
����	
��
�� 8��������� �����
� ���� ����
�(�� �� ���	� 1/ϕ� �� ϕ ��	 �� ���'�� ����� � �	� ���'9�	 �� ���'��
��� �	
��� �	
	����
�� ��
�  !�� !3� �"� #5"� #5!� #!3� #�#� #�"$% �� �����
� ��
	�	 �� 	���� �� �0�	(�� �� �
����	
�� ����	�����

�����
� ���� ����� �
 �0�	(�� �� �
����	
�� �����
� � �� �

	� ��� ���	
�
��	� ��
�� ���	� *�������%
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� ������� �������� �
 ���
�	�	 �

���	 �� ���	
�� 	�(� ������	�
��� �� �����	��
��	
�� �
� ��
� ������� ���
����
	
��� ����	�����
 ��
	 �����		�� �� �
�
� ���������� ��� ����
	
��� 6%"%# �����
��� �
� 
�	�����	� �������%
1��� ��		� ������
	
�� ���
�� �
��
 �� ��
	 �
� �����
	
�� ���� �� �0�	(�� �� �
����	
�� ����	�����
 ���'	
��	 ��
����
�
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� ��*��
	,�� *��
	��% �� �����
	 �  3$ ��
� ��
� �� ��	�
�� ���������	 ��� �0�	(��� �� �
����	
���
*�����
�% :�
� 
�� ���
�� �� �� ���
�	�	� ��
�  3$� 	,���(�� !%4%#%

����������� 	
�
�

���� α = [0, a1, a2a3, · · · ] ��� ����� 	� 
���������� (qn)n≥−1
 ���� N =

k−1∑
i=0

bi+1qi ���
 bi ≥ 0 ���� ���� i ≥ 1� ��

���� n ≥ 1
 ��� ������������ ��������� ���� ������������ �

�� ∀l = 1 . . . k�

l−1∑
i=0

bi+1qi < ql�

��� �� � �
� 0 ≤ b1 ≤ a1 − 1�
� ∀i ≥ 1� 0 ≤ bi ≤ ai�
� ∀i ≥ 1� bi+1 = ai+1 ⇒ bi = 0
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	� ����	
��� ��	
���� (bi)i≥1� �� ������� ����
	
��� ����	�����
 �������'�� ��� ����
	
��� ��������
�� ii) ���� �� ������
	
�� 6%#%#% +�
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���	 ��� ����
	
���� �� ���	
�
�
�� ���� ��� ���
�
��	
���
�
� ��� 
�	�����	� �������% &�� ����
	
��� �����
����	 ��	
��������	 ����� ��� ����
	
��� �� �
���
���	
��� ���
�������
��� ��
� �� ����� �� ����� � ���2�
��	� ��	
��� ��	
���� ��� ���	
�
��	� �� �� ���	�� �	 ���	 �2�� �� �(*��
��� ��	��
�� ���� �� �0�	(�� �� �
����	
�� ����	�����
% ;�
�  3$� 	,���(�� !%4%#%

����������� 	
�
�

���� n ≥ 1� �� α = [0, a1, a2a3, · · · ] ��� ����� 	� 
���������� (qn)n≥−1
 ���� ������ N ∈ [0, qn[ ���
��� 	� �������
������ ���� �� �����

N =

n−1∑
i=0

bi+1qi
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�� ��� �����	� (bi)i≥1 �
������� 
�
 ���������� �����	������

�� ����	
� ����
�
�� ���� � ��� ���
������ ���� �����
 N ≥ 0 ���� 
� ��
��

N =

n−1∑
i=0

bi+1qi

�� 
�� (bi)
n
i=1 ���� ��� �����
� ��������� 
� 
�
����� ����������
� �� 
���

����

qn+1 = an+1qn + qn−1�

��
��
� ���
 n ≥ 0� ��
��� �����
�
 � ��� ����
��������� ���� 
���
���
� �� 
������
 N � �� ���� �� ���� ���
  �� 
��
���������� �����
�!�"� ��
������� �� ��
����
 
�������� �� 
���
���
� ���� �����
 N ���� 
� ��
�� N =

∑n−1
i=0 bi+1qi�

��
�� 
� �
��������� ��#�$�
�� ������
� ���� 
� �%����
� &� ���� 
� ������� '&��(� �� 
���� &���#  �� ��
��� �� ����
�
�
 ���� ��
�����

��� 
� ��
�� �� 
� ������������� �����
�!�"� ���� �����
 ���
 
� ��
 �� ������� ��� ��
���
�  �� �� ���������
��� 
�� ���������� �����
�!�"�� )� ����
�
 ���������� �� �
��
	�� ��� ��%�
��� ��� ������
������ ��
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 ��� ��
 �����
� �
	� ��
���� �� ����
���
 
���
���
� ���� 
� �*��	�� �� ����
�����
�����
�!�"� �� 
� ����� �� ���� �����
� ���� �� ������� 
�� ��
���
�� ���� �� �*��	��� ,*�� ������� �� �
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���� ��.��
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�� �� �� ������� ��� �����
���� ��
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��� �� 	�����
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� �� ����� ������� ��� �� ����	��� ������

/� ��������� �������� ���
����� 
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����� ��
��
�� 0���� ���
 
�� ����
�� p1��� ���� �����
��������� �� ���� ��
 
� �������
����� �� ����� ��%�
���� �������
� ���1�1��� ��� ���
������ �� 
�������� ����
� 
��
����������� ����� ������

��������� �	
	�

���� α = [0, a1, a2, · · · ] ��� ����� �� �������
��� (qn)n≥−1� �� �� ��� �������!�� "

Iα =

{
(kn)n>0 ∈

∏
n>0

[0, qn[

∣∣∣∣∣ ∀n ≥ 0, kn = kn+1���� qn�

}
��� ����	����� ��	���� �� �
 ����� α�

2� 
�� �
���������� �
���������� �� ρ = (ρn)n≥0 ��� �� ����
���� ��
��
� �
 ������ ��� ��� �� ����� �������
�
����
�
� (bi)i≥1� ������������ ��� ���������� �����
�!�"�� ��

�  ��

ρn =

n−1∑
i=0

bi+1qi

���
 ���� n ≥ 0� ���� �� ���� �� ��
�� ��
�������� 3

ρ =
+∞∑
i=0

bi+1qi�
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 ��
��
 ��� ��
��� ��
������� ��� ������� ��
����� �	 ����
� ��� ����
�� p�����	��� ��� ��
���
� �����
��� ������ ����������	�� ��� ��	� �
����� ��� ����
����� ��
�����

��	
 n > 0� �� ���� �

Ψn+1
n �

[0, qn+1[ �−→ [0, qn[
k �−→ k ���� qn�

�

�� ��	
 ��� �����
� m ≥ n > 0 �

Ψm
n = Ψn+1

n ◦Ψn+2
n+1 ◦ · · · ◦Ψm

m−1 : [0, qm[ −→ [0, qn[�

���
�

Iα = lim←−[0, qn[=

{
(kn)n>0 ∈

∏
n>0

[0, qn[

∣∣∣∣∣ n ≤ m =⇒ Ψm
n (km) = kn

}

��� �� ������ �
�������� ��� ��������� [0, qn[ �	��� ��� ��������� Ψ
m
n �

 � ������ �
�������� ����
������ ���� �� ��
������ ��� ����
����� ��
���� ��
��� ��� ������������ �� �
��������

Ψm : Iα → [0, qm[ ��	
 m ≥ 1� !���� ��

��������� " �#���
����� �� �
�������� �#	�� ����� ��
��� ���� �� �$��%��
�� �	��
����� �#&��
�'�(��  �	
 �����
������ ��� �	��� ��)���� " ����
���
� �	� �� �$��%�� �� �	��
�����

�#&��
�'�(� �	���*��� �� ��	
 ����	��
 Ψm(N) ��	
 	� �����
 m ≥ 1 �� N ≥ 1� �� ��� ����+� �� �������
�
 �#��
��	
�
���� �� �$��%�� �#&��
�'�(� �� N ��	� �� ��
��

N =

n−1∑
i=0

bi+1qi

" �#���� �� �� �
��
���� ,�-�.� �� �� � ���
�� ��
 ��
�������

Ψm(N) =

m−1∑
i=0

bi+1qi�

/����� ��
 ��
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 	� ����
���� ��
��� ρ �	� �#��
��

ρ =
∑
i≥0

bi+1qi�

�� �� ��	
 ��	� m ≥ 1 �

Ψm(ρ) =
m−1∑
i=0

bi+1qi�

0�	� �����
��� �	 ������
� � ��	���	
� �
��
����� ��
�
��� ��
 ��� ��������� Ψm� ��	
 �� ������� �� ��	� �	 �����

��
� �	� �#�� � Ψm(ρ) < qm ��	
 ��	� m ≥ 1 �� ��	� ����
���� ��
��� ρ� ��	
 �� ������
� ���������� ��	� ����
���
�$��������	�����

ρn = Ψn(ρ)
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 	� ����
���� ��
��� ρ�
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��������

lim←− Z/pnZ

��� �����	� Z/pnZ �	��� ��� ��
������� �� 
��	����� ���	
���� ����� ���
���� ����� ���	 " �#��	�� �	 �$��%��
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qn+1 = an+1qn + qn−1
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�� 	���
�
 ' ���#
�� 	�� ����#��
��
� !

r(T ρn+1(cα),m) +m+ r ≤ λn+1

⇐⇒ 2(an+1 − bn+1)qn + 2qn−1 + qn ≤ (an+2 − bn+2)qn+1 + qn + qn+1 − ρn+1

⇐⇒ 2(an+1 − bn+1)qn + 2qn−1 ≤ (an+2 − bn+2)qn+1 + (an+1 − bn+1)qn + qn−1 − ρn

⇐⇒ (an+1 − bn+1)qn + qn−1 + ρn ≤ (an+2 − bn+2)qn+1

������
 bn+1 �= 0 
� bn+2 �= an+2� (an+1 − bn+1)qn ≤ (an+1 − 1)qn 
� qn+1 ≤ (an+2 − bn+2)qn+1� �
 �
��
 ����
�

��
 !

(an+1 − bn+1)qn + qn−1 + ρn ≤ (an+1 − 1)qn + qn−1 + ρn = qn+1 + ρn − qn

≤ qn+1

≤ (an+2 − bn+2)qn+1

���������� �� 	��	��������
( �� (an+1 − l)qn + r < ρn+1 ≤ qn+1 − 1� ����� 0 < (an+1 − l) ≤ bn+1 �
 �
��
 ����
�
 ��
 bn+2 �= an+2 
� �� �

����� !

r(T ρn+1(cα),m) +m+ r ≤ λn+1

⇐⇒ qn+1 + qn − ρn+1 + (l + 1)qn + qn−1 ≤ (an+2 − bn+2)qn+1 + qn + qn+1 − ρn+1

⇐⇒ (l + 1)qn + qn−1 ≤ (an+2 − bn+2)qn+1,



�� �������� 	
 ���������� 
������ ��� ���� ���������

���� ��	� ��
 ���� 
������ an+2 − bn+2 ≥ 1 �
 l + 1 ≤ an+1�
�� ��
��� ��� 	� ��� �� ��
 	� ���	 ��� �� 	��� �
�	��� ��
�� ��
�
���� bn+2 < an+2� ������� 	� 	������� �� 
	�� 	���


��� � ������ ! T ρn+1(cα) �
 T
ρ(cα) ��
 
	�� 
�
�
� ��� 	� 	������� �� 
	�� 	��� 
��� � ������ ! T ρn+2(cα) �


T ρ(cα) ��	�� 	� 
��
���
��� "����# �� $��
 �� 	� ���������� �� 	� ���
� (λn)n≥1# 	����	�
� r(T
ρ(cα),m) = r(T ρn+1(cα),m)

�
 	� $��
 ��� 	� ����
�
� r(T ρn+1(cα),m)+m ��
 
	�� 
�
�
� ��� 	� 	������� �� 
	�� 	��� 
��� � ������ �� ��� 
��
� T ρn+1(cα) �
 T

ρ(cα) ��
������
 	����	�
� r(T
ρ(cα),m) = r(T ρn+2(cα),m)� %��� ���
�� 	� ������� 
��
�� �� 	�


��
���
���# ���$ ���� 	� ��� ���
&�
�� ��
�
���� bn+2 = an+2 ��
����� bn+1 = 0 �
 ���� ρn+1 = ρn� '������	�
� �� ��� ��# ������ 
�� (an+1 −

l − 1)qn + r < ρn+1 < (an+1 − l)qn ��
����� �	��� ��� l = an+1 − 1� '� 	������� �� 
	�� 	��� 
��� � ������ �� 
��
� T ρn+1(cα) = T ρn(cα) �
 T

ρ(cα) ���
 �	��� λn+1 = qn+2 + qn+1 − ρn+2 − 2 = qn+1 + qn − ρn − 2 = λn� �������
m = qn+1 − 2− r# �� � λn = qn − ρn +m+ r# �
 ���� ��
	���� ��� 	�� ������� 
��� 
�� 	�� ��
� T ρ(cα) �
 T

ρn(cα)
��������
 �� 
���
 Rm ������
�����
 �� $��
��� �
����	 ! ����
�� �������# ���
��� 	� 
������� ��(�)# 	� ��
 T ρn(cα)
*�$����� ���� 	� ���	� ���+��$����
 ! �� �����
 	!# ����
 ��� 	� ��
 T ρ(cα) ���
 
������ ��
��� �� ���	� ��$����
�
%�
 �������
# �

	���� ! 	���
����

 $����	 ��
��� �����
 
�� 	� ���*�� ρn+2# ���
�� �� 	� �,�� $�-�� ��� 	� ��

T ρn+2(cα) 
����� ��
��� �� ���	� ��$����
� %��� �����
�� ���

r(T ρ(cα),m) = r(T ρn+2(cα),m) = qn

���� �� ��� 	!� .��� 	� ������� 
��
�� �� 	� 
��
���
����

&��� ��������� �� ��

� �
��� �
 �� �� ������� ����	
�
 	�� ��	���� �� 	� $���
��� �� ��
�
�
��� ���� ��
 �
������

��� �� ��
��� ���	������� '� ��
������
��� � ��
� �� 	� $���
��� �� ��
�
�
��� ��� ��
� �
������� ����
�
�� 	���
��� ����	
�
� 
�����
�� �� �� ���
���
�

�������� 	
�
�

���� x = T ρ(cα) �� ��� ���	��
� �
 �
��
 α = [0, a1, a2, a3, . . .] �
 
��������� (qn)n≥−1� �� ρ =
∑

i≥0 bi+1qi 
��

�� ���
	

�� ��	�
� �
 �� �
��
 α� 
� ���� m ∈ In = [qn − 1, qn+1 − 1[� ���	� �

�� �� bn+1 = 0 
� bn+2 = an+2� ���	�

� r(T ρ(cα),m) = qn ���	 qn − 1 ≤ m ≤ qn+1 − 2�

�� �� bn+1 = 0� bn+2 �= an+2 
� bn = 0� ���	�
� r(T ρ(cα),m) = qn ���	 qn − 1 ≤ m ≤ qn+1 − ρn−1 − 2�
� r(T ρ(cα),m) = qn+1 − ρn−1 ���	 qn+1 − ρn−1 − 1 ≤ m ≤ qn+1 − 2�

�� �� bn+1 = 0� bn+2 �= an+2 
� an+1 �= 1� ���	�
� r(T ρ(cα),m) = qn ���	 qn − 1 ≤ m ≤ qn+1 − ρn − 2�
� r(T ρ(cα),m) = qn+1 − ρn ���	 qn+1 − ρn − 1 ≤ m ≤ qn+1 − 2�

�� �� bn+1 = 0� bn+2 �= an+2� an+1 = 1 
� bn �= 0� ���	�
� r(T ρ(cα),m) = qn+1 − ρn = qn + qn−1 − ρn ���	 qn − 1 ≤ m ≤ qn+1 − 2�

�� �� 0 < bn+1 < an+1 − 1� ���	�
� r(T ρ(cα),m) = qn ���	 qn − 1 ≤ m ≤ qn+1 − ρn+1 − 2�
� r(T ρ(cα),m) = qn+1 − ρn+1 ���	 qn+1 − ρn+1 − 1 ≤ m ≤ qn+1 − bn+1qn − 2�
� r(T ρ(cα),m) = qn+1 − bn+1qn ���	 qn+1 − bn+1qn − 1 ≤ m ≤ qn+1 + qn − ρn+1 − 2
� r(T ρ(cα),m) = qn+1 + qn − ρn+1 ���	 qn+1 + qn − ρn+1 − 1 ≤ m ≤ qn+1 − 2

�� �� bn+1 = an+1 − 1� an+1 �= 1 
� bn = 0� ���	�
� r(T ρ(cα),m) = qn ���	 qn − 1 ≤ m ≤ qn + qn−1 − ρn−1 − 2�
� r(T ρ(cα),m) = qn + qn−1 − ρn−1 ���	 qn + qn−1 − ρn−1 − 1 ≤ m ≤ qn + qn−1 − 2�
� r(T ρ(cα),m) = qn + qn−1 ���	 qn + qn−1 − 1 ≤ m ≤ 2qn + qn−1 − ρn−1 − 2
� r(T ρ(cα),m) = 2qn + qn−1 − ρn−1 ���	 2qn + qn−1 − ρn−1 − 1 ≤ m ≤ qn+1 − 2

�� �� bn+1 = an+1 − 1� an+1 �= 1 
� bn �= 0� ���	�
� r(T ρ(cα),m) = qn + qn−1 − ρn−1 ���	 qn − 1 ≤ m ≤ qn + qn−1 − 2�
� r(T ρ(cα),m) = qn + qn−1 ���	 qn + qn−1 − 1 ≤ m ≤ 2qn + qn−1 − ρn−1 − 2
� r(T ρ(cα),m) = 2qn + qn−1 − ρn−1 ���	 2qn + qn−1 − ρn−1 − 1 ≤ m ≤ qn+1 − 2
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 ��

�� �� bn+1 = an+1� ���	


� r(T ρ(cα),m) = qn−1 ��
	 qn − 1 ≤ m ≤ qn + qn−1 − ρn−1 − 2�
� r(T ρ(cα),m) = qn + qn−1 − ρn−1 ��
	 qn + qn−1 − ρn−1 − 1 ≤ m ≤ qn+1 − 2
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�	�� ���	��� � ���� ��	�
 �� ������ ���
 �
�� ��
�
����
 ������	��� ��� ��� ��
	�������
�� ���
��� ��	��
�	
 ���� �� 
���� �� ��������	��
	�� �	�� ��
	����� �! �� ����	
� ��������	��
	�� ���� ������
��� ��� ������
� �� 
��
�	��� 
������ �����
 ��� �
��� �� �	"��� ��	���
	����	
� �� �� 
����
�����
� ���� �������
���������  	�
��	��� �� ������ �� �	��"	��� ∑

n≥1

1

10n!

��
 �	��	 �� ������ 
����
�����
� 
� ��� ���� ���
�� �� �
���	����
 ��� ��� �������
 ��	���
	����	
� ��
 	�#�	� $�
��#�	
 ����� �� ������ �� �	��"	��� 
���� �� ������ ���
 ���������
 ��	��
	�����	
� ��
 	�#�	�

���������
 ��	���
	����	
� ��
 
��� �	�
	�� � 
��
���� �� %������� �
 � �
� �
��	� ���� �� �������� 
��"���� "�	�
��� ������� ���
 ��
	���� &'� ()� *+� **� *,� ,,� -�(� -�*.�

��������� �	
	� /0������
 ��	���
	����	
�1
��
	 x 
� 	��� �
������
�� �� ������ 
�� ����
��� ���		���������� μ(x) ����� �� 

�	��
� ��
 	���
 μ ���
 �
�

����������� � ∣∣∣∣x− p

q

∣∣∣∣ < 1

qμ

��� 
�� ������� �� 
��
���� �� �� �	������ 	���������� �		��
������ p/q�

��
 �������
 ������ �� ����	
� ��� ���� ���
 ������� ����� ������	��
	�� �� x ��� ��� ������� ��
	������
���������
 ��	���
	����	
� ���� ��
	����� "��
 -� �
 ��������	��
	�� ��
���� ��� �� ��"���������
 �� 2��

	��

��
	��� ���� 	���
	����� 2����	� ��	��%��	
� μ(x) ≥ 2 ���� 
��
 x 	���
	������ 
�

� ������	��
	�� �� �����
 ��� ��
��	�
	�� ��� 
	��	�� �� �	�	
 ��
� ����� ���� ���"��� ���
	��� ������� μ(x) = +∞� �� �	
 ��� x ��
 �� ������ ��
�	��"	���� �
 	� ��
 �	�� 
���� ��� ��� ������� �� �	��"	��� ���
 ��� ����	��� �������� �� ������� 
����
�����
 �
�"�	� �
� �� 	���� 3��
��� ��� ���� �� ������ ��%���	��� x �� ��%�� d ≥ 1 �� � ��	��%��	
� μ(x) ≤ d 
���
	
�� ���
�	������ �� ����
	
� 
����	���� 0� 2�	
� �� 
 ������ �� 4 ��56	�%��57�
 &-�*.� ���� ������ 8� 7�
 � �
� ��
�������
�� �� ����	��� 9	����� � ���
�� ��� ���� 
��
 ������ ��%���	��� 	���
	����� x �� � �� 2�	
 ���%��	
� μ(x) = 2� �

�� ��	
 �� ���	��� ���� ������
�	�� ��� ������� 
��� ��� ������� ������ ���� �� ������ �� �����%��� ����

��
 (

���� �������
 ��	���
	����	
�� 0� %������� 
�
 �������
 ��
 
��� �	�
	�� � 
��
���� ����	
	
����
 ���� �� ������

����
�����
 ������ �� 
����	
 �� "����� μ(e) = 2 ��	� ��� �� "����� �� μ(π) /�� ��	
 
�������
 ������� ��
 #�	�1�

0� -:+(� 3� ��� 	�
����	
 �� 
����	#
�
	�� ��� ������� ����� ��	"��
�� ;��� P (X) �� ���<���� � 
���
	��

��
	���� �� ��#�	
 ��  ��
��� H(P ) 
���� �� ���	��� ��� "������ �������� �� ��� 
���
	��
�� ;��� d ≥ 1 ��
������ ��
	�� �
 x �� ����� �� ��#�	
 wd(x) 
���� �� �������� ��� ������� ����� w ���� �������� ��� 	��%��	
��

0 < |P (x)| ≤ 1

H(P )
�

��	��
 "��	#��� ��� ��� 	�#�	
� �� ���<���� P (X) � 
���
	��
� ��
	��� �� ��%�� �� ���� d� $� ��#�	
 ����	
�

w(x) = lim sup
d

wd(x)

d

�
 3� ��� ��#�	
 x 
���� �
��
 =
> �� A5������ �	 w(x) = 0�
> �� S5������ �	 0 < w(x) < +∞�
> �� T 5������ �	 w(x) = +∞ �
 wd(x) < +∞ ���� 
��
 d ≥ 1�
> �� U 5������ �	 w(x) = +∞ �
 wd(x) = +∞ ���� �� ��
	�� d ≥ 1�
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 ��
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��� !	�
 u �� �	� ���" �� w ≥ 0 �� 

��" 	� �
���� ��
��������� #
����	����
� uw �	��� �� �	� ��� uw = u�w�v 	$ v ��� �� �

��� �� u �� �	�����
 �(w − �w�)|u|�" ��
�	
�� ��� uk/|u| �	�� �� �

��� �� �	�����
 k �� u" �	�
 0 ≤ k ≤ |u|�
��������� �	
	� %&��	���� �
������" �������'
���� x �� ��� ��	�� 
�� �� ��
����� A� �� ���� ce(x) ���

� ice(x)� ����
�
��� �������� ���

� ��
�
��� ��������
�������� �� x �� 
�
����� ��
 ����
 w ≥ 0 ���
 ����� ���
�� ��� ��	���� �� ���
 u ���
 ��� uw 
��� ������� ���

�

��	��� �� x�

�����	���� �
������ ������� � 
�
 ���
	���� �� 
����
 ��
 �� (���	��" �� )	��	� �� *� +�
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0� �
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#

���� ��� #	
���� �	�
 �� 1����
 �� �����	���� �
������ ������� ���� �	� ���
���� ��
#	����	� �� �	� ����
����" ��� ��� �� �2�� ������ ��� �� #	
���� ��� �	�� 	����	�� ���� �� ��
	
 �� .�-���

��������� �	
	� %&��	���� ��	��������'
���� x �� ��� ��	�� 
�� �� ��
����� A� �� ���� dio(x) ����
�
��� ���
������� �� x� ��	�� ����� �� 
�
�����
��
 ����
 ρ ≥ 0 ���
 ����� ���
�� ���� 
����
 (un)n≥1 �� (vn)n≥1 �� ���
 	��
 �� ��� 
���� �� ����
 (wn)n≥1 ����	���
��
 ����
 ���������
 
�������
 �

�� unvn �
� 
��	�� �� x 
��� ���� n ≥ 1�

�� �� 
���� ��
 ��� ����
 (|vwn
n |)n≥1 �
� 
���������� ����

�����

!�
|unvwn

n |
|unvn| ≥ ρ�

�����	���� ��	�������� � 
�
 ���
	���� ��
 +� 3����4�5�6� �� 7� +������ ���� ���
����� ,8/� 9��� �� ���
� ��
���
 �
�����" "�����
 ����
 �� ���
������ 
��
#�������� ,-/" ��� �	��
��� ��� �	�
 �� �	� ����� x = x1x2x3 · · · ��

�� �������� ������� A = {0, 1, . . . , b − 1} �	�
 �� b ≥ 2" �	�� �����	���� ��	�������� dio(x) ��� ��� �� 1

����� ��
�	�����	� �� �	�������
 �	��:���
��
� ���	� �������� �� ������ ��� �	������� C > 1 ����� ��� p(x, n) ≤ Cn �	�
 �	��
n ≥ 1" ��	
� �����	���� ���

���	�����
 �� �	��
� 

��

y =
∑
k≥1

xk
bk

�	�� x ��� �� �
1��	������� �� ���� b ��� �	���� � �������
�����

max{2, dio(x)} ≤ μ(y) ≤ (2C + 1)3(dio(x) + 1)

�� �� ��
�������
 ��� ��� ��� ������ *� ����
�����
 �
�

��� μ(y) ≥ dio(x)" 	� �� �
����" �	�� ����� �	�����	� ��
�	�������
 �	��:���
��
� ��
 x" ��� �� �	��
� y �	�� x ��� �� �
1��	������� ���� ��� ���� ��� �� ��	�1���� �� ��
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��	� ���� ����	���
� ��� �	 �,�����	 *�+�* � �
 ��&%	 �� ��� ��������������	�

��������� �	
	�

���� ρ =
∑

i≥0 bi+1qi �� �����	�
� ��� ���
� 
�
 �� ������� �� ������ �� 
�

��� /���(ρ) �� ρ 	����

/���(ρ) = {n ≥ 0 | bn+1 �= 0}
�� �� ���	���� Λρ �� �� ������� 
������� �

Λρ(n) = min(/���(ρ) ∩ [n,+∞[)

��� �
� �������
 ���� ������ 
��
��� ρ ���
� 
�
 �������

 ��� �	���
�
� ��� �	����
	� ���������� �	 
�����	 ����	
����	� ��
�	�
�
� �	 
��������	 	� �	� 
������
� �
���#
����	��  ��� ��

�
� �	� ����
������
� �	 �	� ���������� ���� 
��� ��
�	����
� ���	�	
� �� �	��	�� �	 �	� �����	�
����	 �	� 	%	����	� ��
� �	 $�� �	 �	 
���������	� ��	� �	 
��������	 �
��������

�
��������� �	
	�

������ n ≥ 0� �� ρ �� �����	�
� ������� ����


�� n ∈ /���(ρ) 
� �� 
�������� 
� Ψn+1(ρ) ≥ qn� �� 
����	����� �� � ��
 ���������
 �

ΨΛρ(n)+1(ρ) ≥ qΛρ(n) ≥ qn�

 � 
� n ∈ /���(ρ)� ����
 bn+2 �= an+2� �� 
����	����� �� � ����������� �

ΨΛρ(n)+2(ρ) < qΛρ(n)+2 − qΛρ(n) = aΛρ(n)+2qΛρ(n)+1�

!� ΨΛρ(n)+1(ρ) = bΛρ(n)+1qΛρ(n) +Ψn(ρ)�

"������ '
 ����� ���
�	��	�� 
���	� ρ ���� �� 
���	 ρ =
∑

i≥0 bi+1qi� �0 �	� ��	&��	
�� (bi)i≥1 �����
�
� ��% ��
�����
�
��'����(�)�� 1�	%���	
�	 	� ���
����� ���
	 �	��	 �������	 ��
� ��

�	� �	� ����� �� ��!
����
 *�+�� � �����	 �	 ��
��������� *���+�

�. 2������ �� ��!
����
 ����*� n ∈ /���(ρ) �� 	� �	��	�	
� �� bn+1 �= 0� 	� ��
�� ������� *����� �� 	� �	��	�	
� ��
Ψn+1(ρ) =

∑n
i=0 bi+1qi ≥ qn� 3��� �� �	��
�	 �����	 �
�
��	� �� ��&� ���������	� �	 �������� ��	 ���
 ��	
� ���$�	
��

� ��	
��	� Λρ(n) ��� �	��
 �� ��!
����
 ����* 
��� �����	 �� ������� �	 ���
�	��	�� 
���	� ρ� 1��
������� �	 �����	 ���
�
�$�	
�	 ��� �� �������
�	 �	 �� ����	 (qn)n≥−1 	� ���
�������� 	
���	 ���� �������	 ��� �� ��!
����
 ����*� Λρ(n) ≥ n�



���� �����	
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�� �� ��� 	
���
�� 
�� �� ����������
 ��� ��
�����
� ����������� 	
�
�	�� �
�� ��� ����������
� ����� �� ������ ���
�� n ∈ ����(ρ)� ����� bn+2 �= an+2� ���
	�����	 �������
� �
 	���
�
�

ΨΛρ(n)+2(ρ) =

Λρ(n)+1∑
i=0

bi+1qi

=

Λρ(n)∑
i=0

bi+1qi + bΛρ(n)+2qΛρ(n)+1

< qΛρ(n)+1 + bΛρ(n)+2qΛρ(n)+1

< (bΛρ(n)+2 + 1)qΛρ(n)+1

≤ aΛρ(n)+2qΛρ(n)+1

= qΛρ(n)+2 − qΛρ(n)

����� � ������
!� �
 	���� "

ΨΛρ(n)+1(ρ) =

Λρ(n)∑
i=0

bi+1qi

= bΛρ(n)+1qΛρ(n) +ΨΛρ(n)(ρ)

= bΛρ(n)+1qΛρ(n) +Ψn(ρ)
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���� ��������� 	� ����� ������� ��� �� �������� ������
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	����&�
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&��� �
#
��� ��� ����� &�� �� (�����������
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�
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����
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��� ���������
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�
��� �#
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�� ��� (��&����
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� ���� ��� &��� ����&��
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�� ����� &� �� ���
��� �	����� ��� ��,	��
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� ���
 &�� ����&��
 ��� �
 �- &� �� ���-���-� ���
���� �� �� 
�&������� 
����
���� �
 ������ ����
�� ��
� .��$/ ��������� �'�&���� �� �	������� ��
���
�
� ���
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� �� &��� ��	� ��' &��� ����&��
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����'� 0� &�
� ��
�	
	����� ���
�
� �� (��&� ��� (�����������
� ��� ���
 ���-���� ����
�� �� 	������� �� ����� &� ���� 1��� �� � ��&���
��&&� �� � �	������ �� ��������
 �� ���� ���-������� ��� �� ����
�� ��� (��&���� �� (�����������
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�����
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����	� +��� ��

�
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���
�
� �� ������ ��� &���
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�� 2�
���
�
� ��� ����� &�� �� (�����������
� ��� &��� ����&��
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������ .3�� 45� 46� 57� 5�/�
0� &�
� �� �	
	����� ��	���� ��� &��� ����&��
� �&������ �� � ���
�
� ��� (��&���� �� (�����������
�� �
 ������
����� 8 �� ����� ��� ���
��' �� 9� :����&;�� .�!�� �!$/� ���� ��
� �� �- �� ���� �� ��������
 �� <� =��)� �� �� >�&��
��
�	#
�� �
� ����������
 ? ����
� ����	� @ ��� ��� &��� ����&��
�� ��� �� ���� ��� �������� (��&�� �� (�����������
�
��� ������ ��� 
��� ��
���	��
�� �� �	&�
��� �
 ����������� �� (��&���√

f =
∏
i≥0

f̃3i+2

�A (fn)n≥−1 ��� �� ����� ��� &��� ���
���� ������	� �� &�� �� B���
���� f � �� ��
����� ����� ��� ��� &�C�
�
	�	&�
������ ��� �� ������� �	#
�� �
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 α = [0, a1, a2, a3, · · · ] �����	
 � �����
 �
 ��
 ���
����
�

	 

 ����	��
 ��
	�
�
� �
 ����
��
 ��

�� ���	
 �	�
���� (sn)n≥−1 �������
 
�	 ��

�
 ��� �� �
��	��
 �
 ������

�


s−1 = 1� s0 = 0� s1 = sa1−1
0 s−1�

sn+1 = s
an+1
n sn−1

���� 	��	 n ≥ 1� 
	 ����
 � cα = lim sn ������� ������ #��� �

 ��
��
 �
 �� �������	��
 �����
	
� ����  !"� 	$�����

%����&�

����������� 	
�
�

���� m ≥ 1 �� ������	 
�� ���� 
���� m =
∑N

i=0 bi+1qi �� ��� (bi)
N+1
i=1 ��������� ��� ���������� ������������ ����� ��

��
��� �� �������� m �� ��� ������
�����
�� cα ��� ����
 ��� �

Pm(cα) =

N∏↓

i=0

s
bi+1

i = s
bN+1

N sbNN−1 · · · sb10 �

'
 

 �����	 
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� �
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	�


��������� 	
�
�

������ m ≥ 1 �� p ≥ 1 ���� ������� �� N ≥ 1 ���� 
�� m+ p = qN+1 − 2� �� 
���� �

m =
N∑
i=0

bi+1qi �� p =
N∑
i=0

ci+1qi

�� ��� (bi)
N+1
i=1 �� (ci)

N+1
i=1 ��������� ��� ���������� ������������ ����� �� � �� ������� ������� �

s−−
N+1 =

N∏↓

i=0

s
bi+1

i ·
N∏↑

i=0

s̃i
ci+1 �

�� �����������	 �� ���

P̃p(cα) =

N∏↑

i=0

s̃i
ci+1 = s̃0

c1 s̃1
c2 · · · s̃NcN+1

��� �� ������� �� cα�

 ���!�� (�	
� ��
 ��
���	

�
 
	 ���
���	� �
� ����	��
� ��
� �
 �)�	��
 �
 
�����	��
 ��'�	��*�+� ������

	 �
 ��
�������	��
 ,����� -������ �� �������	� ����� ������

	
� 
	 �
 ���	 ��
 �
 ��	 s−−

N+1 
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 ������	 /

s−−
N+1 = Pm(cα)P̃p(cα)

���0 �
 �����	�	 ������
�

�� �������	��
 ����� ���	 �
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�� �
� ��	� �
�� �
 �� ����


P̃m(cα) =

N∏↑

i=0

s̃i
bi+1 = s̃0

b1 s̃1
b2 · · · s̃NbN+1
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i=0 bi+1qi ��� �� ���	�
 ��
	� 
��� �� ������� 
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��	�� 
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��� ����
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� ����	
�
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 ��� ���� 	���	� 
� �� ��
��

+∞∏
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s̃i
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���� ρ =
∑

i≥0 bi+1qi �� �����	�
� �����
 ��� ����� 
�� �� ������� �� ������ 
� ��� �������� P̃ρ(cα) 	���� 
�


������� ������

P̃ρ(cα) =
+∞∏
i=0

s̃i
bi+1

= lim
N→+∞

N∏↑

i=0

s̃i
bi+1

= lim
N→+∞

P̃ρN
(cα).
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� �� ��	� !�� �� �
�
�	� ����� ��� 	���	 �	 ρ ��� �� ���	�
� �� !�� 
��� �� ��� �� ��� P̃ρ(cα)
�� ���� ��� )�
� ����	
�
� ����� �� ��� ���
�	��� ��	�!��	� ��� ��	 
���
�� *�+�,�

-���	�	���	�� 
� �� �����	�� P̃ρ(cα) ���
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�
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���� 
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ρ→ T ρ(cα) �� ρ→ P̃ρ(cα)�

�� ��

� !�� ����� ��

�����
���� ��
��� �� ����	
�
��	�� 
���� 	������	�� ����
���� ��
 �������"�� 
�� 	�.
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��� �����	� ��
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��� /�$�/� �� �� �����	
 ���%�
	��
 � ���	
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�� �����	��� (Ψn)n≥1 
���	�� 
���

�� ��

� 
� �� 
���	�	�� /�$�+� �� ���� ���	
� 
� �� 
���	�	�� #�+�/� ���	 ���
�	� � �� �
����	�	�� ��	������ !�	 ��
�

����	 
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���	�	�� 
� �����������	
� 
��� 	���
���� ��
���� -�� 
��% 	���
����� ��
���� σ0 �� σ1 ���� 	��
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�	��

��� �� �
����	�	�� /�$�#�

�
��������� �	
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���� ρ �� �����	�
� �����
 �� 
� 
���� α ��� ����� 
�� �� ������� ���	 ρ /∈ {σ0, σ1}� �������	�
� �����
 �� ���

�������� P̃ρ(cα) ��� ����� ����
����������� 
�� 
� �����

ρ = (Ψn(qΛρ(n)+1 − 2− ρΛρ(n)+1))n≥0�
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�

� 	�� �����	�
� �����
 
� 	��

��������� �� 
������	�
� �����
 ρ�

������� 0�	� �� �1�� n ≥ 0 ��� !�� ρΛρ(n)+1 ≤ qΛρ(n)+1 − 2� -� �
��%� 
� ���(���
 ρΛρ(n)+1 
� P̃ρ(cα) ��� 
����
��


PρΛρ(n)+1
(P̃ρ(cα)) =

Λρ(n)∏↑

i=0

s̃i
bi+1


���
�� #�$�$ �� �� !�� ρΛρ(n)+1 ≥ qΛρ(n) 
���
�� #�+�#� �� ��	� !�� ��� 
��% ����
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T qΛρ(n)+1−2−ρΛρ(n)+1(cα) �� P̃ρ(cα)

��������� 	� 
�
� ���
�� �� 	������� qΛρ(n) − 1� �� �	��� ������� 	������	��� ������	�

qΛρ(n)+1 − 2− ρΛρ(n)+1 < qΛρ(n)+1

��� �� ������ ������� 	� ��
���������� �� ������
� ������ 	� Λρ(n)���
� ���
� �� 	������ ��� !��
�	 �� P̃ρ(cα) ���

����� ��� 	� ���� ���� 
���	� qΛρ(n) �� qΛρ(n)+1−2−ρΛρ(n)+1� "�� ���� ��� ���
��� ΨΛρ(n)(qΛρ(n)+1−2−ρΛρ(n)+1)�
#� ����	��� �� �� ��	� ����"�� n ≤ Λρ(n) ������� ������

#� ����	��� ����� �$���� ����"�� �� ����� �	��� "�� ���� ���� M ∈ %���(ρ) ∩ [N,+∞[� �� � &

ΨN (qΛρ(N)+1 − 2− ρΛρ(N)+1) = ΨN (qΛρ(M)+1 − 2− ρΛρ(M)+1)�

#������ ��� !��
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�
�	�!� "���'�

/� �� ���+����� cΛρ(n)+1 ��� �
� 	�
� 
�� ������� �� n ≥ N � ����� �� � �
�������

ΨΛρ(n)+1(ρ) = qΛρ(n)+1 − 2− k

�
�	�!� "���'� 	�
� 
�� ������� �� n ≥ N � 1
�	�!� �� ��������� "���'� ��� ���������� ��'�' �� �� 	��	������� ��'���

���� ��	��&
� &
� ρ ��� �&
������� � �
�������	� ������ �
�� �� &
� ��� �� ������������� ���� ����� ��	���!��� 1���
�� ��� �2 
�� ������� ��� cn+1 ���� �����
��� ����� ���	�� ���
 �
 ���� &
� 	�
� ��
� n ≥ N � �� � 4

qΛρ(n)+1 − 2−ΨΛρ(n)+1(ρ) = cΛρ(n)+1qΛρ(n) + k

�� 	
��&
� ρ �
��� 	�� �&
������� � �
�������	� ������ �
� 	�� ��	���!��� 	�
� n ����5 ����� �� � 4

(aΛρ(n)+1 − cΛρ(n)+1)qΛρ(n) + qΛρ(n)−1 = ΨΛρ(n)+1(ρ) + k + 2

= ΨΛρ(n)+1(ρ+ k + 2)
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Ψn(ρ) = q2�n
2 � − 1− k

���� ���� n ≥ N � �� 	
��

Ψn(ρ) = q2�n
2 �+1 − 1− k

���� ���� n ≥ N 
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�� ���� ���� �� ����
�� ���� �� �� � ����� �

Ψn(ρ) = q2�n
2 � − 1− k = Ψn(qΛρ(n)+1 − 2−ΨΛρ(n)+1(ρ))
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ΨΛρ(n)(ρ) = qΛρ(n)+1 − 2−ΨΛρ(n)+1(ρ)− cΛρ(n)+1qΛρ(n)
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(aΛρ(n)+1 − cΛρ(n)+1)qΛρ(n) + qΛρ(n)−1 + k = q2�n
2 � + 1 + ΨΛρ(n)+1(ρ)
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T̃ ρ(cα) · T ρ(cα)



���� �����	
���
��� 
�� ���� ���	�
��� ���

��� ��� ���	�� �	
	���	� �����	����


�� ����	���	��� ���������� ��� ���	��� �	
	���	�� �� ��� ��������	��	��� �� �� ����� α� ���� �� ��� ��������	��	���

����� ��� �� ������ ��� �� �	����	�� ��������� ���� ���������� ��� ������� �����	������� ���
������ ��	���������

�������


������
 ���� ρ �� ���	
�	�� 
�
�	� ��� ��	�� ��� �������	�� � �����	
�	�� ���� ���
 N ≥ 1� ����
	� ������ �� � ��


����
�������

s−−
Λρ(N)+1 = PqΛρ(N)+1−2−ΨΛρ(N)+1(ρ)(cα)P̃ΨΛρ(N)+1(ρ)(cα)
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F3i+j = F3(�n−j
3 �−1)+j+2 −

�n−j
3 �−1∑
i=1

F3i+j

= F3(�n−j
3 �−1)+j+1 −

�n−j
3 �−2∑
i=1

F3i+j

= F3(�n−j
3 �−1)+j + F3(�n−j

3 �−2)+j+2 −
�n−j

3 �−2∑
i=1

F3i+j

= F3(�n−j
3 �−1)+j + F3(�n−j

3 �−2)+j + · · ·+ F3+j+2 − F3+j

= F4+j +

�n−j
3 �−1∑
i=2

F3i+j

= F2+j +

�n−j
3 �−1∑
i=1

F3i+j
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F (0)
3 = F (0)

3 � F (1)
3 = F (1)

3 + F1� 
� F (2)
3 = F (2)

3 + F3�

"� ���������
�� �
� ���
��
��� ���

�� F (j)
3 � ���� j ∈ {0, 1, 2}� ���� ���� �������
��� $ �
��� ��
���

�����
�
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�������� 	
�
�

���� α = [0, a1, a2, · · · ] ��� ����� 	� 
��������� (qn)n≥−1� ���� M ⊂ N\{0, 1} ��� ��
��� ������ 	� 
�����������
�

������ ���
� ��� 
�����������
�� 	�� ����

���� ��
���� 	� �� ����� α

F (0)
M =

∑
i∈M

a2i+1q2i �� F (1)
M =

∑
i∈M

a2i+2q2i+1

���� 	����� ��
 ��� ��
����� ���������� �� M c 	������ �� 
�����������
� 	� M 	��� N\{0, 1} �

F (0)
M = q3 − 2 + F (0)

Mc �� F (1)
M = q4 − 2 + F (1)

Mc �

�
����� ���� ��		�	� 
� ��
�	�������	 �� �� ����
��� ���� 
� ��
��
 �� F (0)
M � 
� ����	� ��
��
 �����	� 
�� 
�
�


��	���
�	 ��	����� ���� ������� ��� ���� ���� �
�
�	� m ∈M � �	 �

ΛF(0)
M

(2m) = 2m

�� 
��	������� ���
�
 F (0)
M ��
�� �
��� ���� 2m���
� ��
����	�� 
��	����

Ψ2m(q2m+1 − 2−Ψ2m+1(F (0)
M )) = Ψ2m

⎛⎝q2m+1 − 2−
∑

i∈M,i≤m

a2i+1q2i

⎞⎠
= Ψ2m

⎛⎝q3 − 2 +
∑

i∈Mc,i≤m

a2i+1q2i

⎞⎠
= q3 − 2 +

∑
i∈Mc,i≤m−1

a2i+1q2i

�� ��� ���
�� �� ��	�
��� ��� F (0)
M = q3 − 2 + F (0)

Mc

 � �!�� �� ��
��
 "����#� 
��
�
�� �� ���
� $ ��
�
�
�	����� % �
�
�!��  �� ��
��
�� ���	� ������	� ��
�
�����
��	� �� ��� 
&� �����	� �� ����
�� �������� �
�� ��
�
�'�� 
������ 
��	 ��	������ ��� �	�������� ���
�
� ��	� 
�
������� 	���� ��� ��	������ �	����
�	� ���	����� �� 
�
� ������� ��

� 
��	 
�	��� ������	� �'�
�
�� ��		�� ��
����� �� ����� ������	�

(�� �	�������� ���
�
� �����	��� ��	� 
� �)����
� �������	� 	� ��	� 
�	������
�	� "�
��� ������
�	�� & 
����
��
�
�
�	������� 
��� �������� *�������	�� & [2,+∞[+ ���	� ���"��	�� ���� ���' �� 
��� ��
�
�
�	�������  ���	��	��
��

� 
� 
�	��� 
�� ��
��
� �,������ �� ����� �� ����� ������	� �
 ���� ������� ����	 �	������� ���
�
 ���� ������
�	�
& ��	 ��
�
�
�	������

-	 ���
� �� 
��� ����
��	�� ��
� �����	� & 
��'����	�� �� 
��� ����
��	� x ��
� ����
 �'���� �	 
�� #	� u ��
 ���

� 
�� ����	#	� x̃ · u · x ���� �	� ������ ����
��		�� �	 ��		��� ��"& �	 �'�
�
� �� ��
 
�� . 
� 
�� ����������������
/�
� �� 
� ��
�
�
�	����� �� 
�� ��������������� 	���� ��� ��#	�� �	 ���� ��� 
�� ���' ������� ����	#	���

c̃α · 01 · cα �� c̃α · 10 · cα
��	� ����
��		���

0�	� 
� ����� �� ����� ������	� 	��� �)���)�	� & �����
�	�� 
�� �	�������� ���
�
� ��� 
��� ����
��	� x ��� ��	�
������
�	�� & 
��� ��
�
�
�	������� �� �� �� ��� 
��	 ���	� �� ���� ��� 
� 
�� ��������������� �� 
�� ������� ����	#	���
����
 ��#	��� 	��� �����	� 	��� �������	��� & �)���)�� �� ��
� 
��� �	#	�� x ��� 	� ��	� ��� �� �
���� ��������
�	��
	�

��

(� ����	�� & ����� ����
�
������ ����	� �������� �� 
� ����� ��� ������	�� ������
� (ai)i≥1 �� 
� ��	�� α� ��

�
� �
�� �������
�	� �� 
� ������ �� ��� ���1���	��� 0�	� ����� 
� ����� �� ����� ������	� 	��� 	�����	� k 
�
��
����� ��� ���� � �� �� �� 
� ��������	 
���
� 2 ���	 �	���� k� ���� ��		�	� 
��	��	�	� �	 ��� �������
��� �3
	��� �����	�	� & �')���� ���� ��
�
�
�	� ����� �	�������� ���
�
�� 	�	�������
�	�� �	��� ��'� ��� ��	� ������
�	��
& 
���� ��
�
�
�	�������
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���� α ��� ����� �� ����	���
 ����	�

 (ai)i≥1 �� �� ����	����� (qn)n≥−1� �� 
����
� ��� 
� 
�	�� �����	��
 (ai)i≥1

�
� ������ �����	��
 ��	�
 � ����	� ���� �����	� ����� 
����
� ��	� �� ���
 � 2k0� �
��
 
�
 ���	
 	��������
 �����



S0 =
∑
i≥k0

a2i+1

2
q2i� S1 =

∑
i≥k0

a2i+2

2
q2i+1� �� S2 =

∑
i≥2k0

ai+1

2
qi


��� ��
 	��������
 �����

 �� 
� ����� α ���	��
���
 � 
���
 ����
������	��
� ��	 
��� �� �
�
 ���� � ���� ����

���	��
���
�

������� ��� ������� �	�
 S0 �� S1 �	�� �
�
��

��� �� �	�� �� �	���
	�� �	�� ��� �� �
���� �	�
 ��� 
���
�����

�	
���� S0 �� S2� �� ��
� ���
�� �� �	
��� ��� ���
������� ���
� ��� ���	��� �� �� �
	�	�
�
	� ������

�
	���	�� �� ������ �� S0� �	��� �	�
 �� ���	���
��
	� �� �� �
	�	�
�
	� ������ 	� �� �	�
 �	�� ���
�
 m ≥
�k0/2�+ 1�

ΛS0
(2m) = 2m

�� 	� �������� �	�
 �� ��� m ≥ k0�

Ψ2m(q2m+1 − 2−Ψ2m+1(S0)) = Ψ2m

(
q2m+1 − 2−

m∑
i=k0

a2i+1

2
q2i

)

= Ψ2m

(
q2k0−1 − 2 +

m∑
i=k0

a2i+1

2
q2i

)

= q2k0−1 − 2 +

m−1∑
i=k0

a2i+1

2
q2i

�	���� ���� �� �� �	
���� �����
���

q2m+1 − q2k0−1 = a2m+1q2m + a2m−1q2m−2 + · · ·+ a2k0+1q2k0

�� ��
���� �� ����	
� �� ����

��
� ���� �� ������� �� ����
��
	� �����
	 �!
 �� �����
�
 q2k0−1 − 2 ��� �	�����
���� ��
���
����� ���
�
 [1, 2k0 − 1[� ���
 ���	��
� ���

S0 = q2k0−1 − 2 +

+∞∑
i=k0

a2i+1

2
q2i

�� ��
� ��
 �� �
	�	�
�
	� ������ �	��
� ��� S0 ��� ���
������ " �	� �	���������

��

�	�
 �� ������ �� S2� 	� �	
� �� �
��
�
 �
�� ��� ΛS2
(m) = m �	�
 �	�� m ≥ 2k0� �� ������� ��	
�

Ψm(qm+1 − 2−Ψm+1(S2)) = Ψm

(
qm+1 − 2−

m∑
i=2k0

ai+1

2
qi

)

= Ψm

((am+1

2
− 1

)
qm + q2k0−1 + q2k0−2 − 2 +

m−1∑
i=2k0

ai+1

2
qi

)

= q2k0−1 + q2k0−2 − 2 +

m−1∑
i=2k0

ai+1

2
q2i

�	���� ���� �� �� �	
����

qm+1 + qm − q2k0−1 − q2k0−2 = am+1qm + amqm−1 + · · ·+ a2k0+1q2k0

�� �� ��
� ��� �����
�
 q2k0−2 − 2 ����� ��� ��

��
� ���� �� ������� �� ����
��
	� �����
	 �!
 ����� �� ����	
�
�	����� ���� ��
���
����� ���
�
 [1, 2k0 − 2[� ���
 ���	��
� ���
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S2 = q2k0−1 + q2k0−2 − 2 +

+∞∑
i=2k0

ai+1

2
q2i

�� ���	 
�� 
� 
��
������� �����	 ������ ��� S2 ��� ������
��� � ��� ���

����������

���� ��������� ���������� � ���������� ��� �������
�� �����
� ������
���� � 
��� ���

��������� 
��� ��� 
�����
������
��� �� 
� ����
��� ����� ��� 
 �� ����� � �!�����	 ���� 
������� ���� ����������� �� ��� �" 
�� ���#������ (ai)i≥1

�� ���� 
�� ���� 
���� � 
����� � �� ������� �����

$%� �� ��������� ��� �������
�� �����
� ������
���� � 
��� ���

���������	 ���� �

��� ���
���� 
�� �����
��
��������� ��� 
�� ����������� (qi)≥−1	 ��
�!
� 
��� ���� i ≥ 0 �� ���� k ≥ 0 &

qi+2 − qi = ai+2qi+1 �� qi+3+k − qi = (ai+3+k − 1)qi+2+k +

k∑
l=1

ai+2+lqi+1+l + (ai+2 + 1)qi+1

��� �� ���������� ��'� ����
����� 
�� ���������� ��� k ≥ 1 
��� 
� �������	 
� 
����'�� ����� ������
�� (� 
����'��
���� ������� ���� 
� ��� �" ai+2 ��� 
���	 �� 
� ������� ���� ������� ���� 
� ��� �" ai+2 �� ai+3+k ���� ��
����	 ��
���� 
� ��� �" ���� 
�� (ai+2+l)

k
l=1 ���� 
�����

)� ������'�� 
 �����!
� B �� ���� ��� 
 �

��!�� {0, 1} ����� 
�� &

B = {00, 01} ∪ {10k10, 10k11 | k ≥ 0}

�� �� �������� 
�� �� 
�����

����� �����

���� u �� ��� ��� 	�
 ��
���
��� {0, 1}� 
��
	 �

�� �� ��� u 
���� 
� ���	 ��� �
���
�	
���� ���� ��	 ��
��	 	��� ��	 �������	 �� B�
�� �� �� �� 	��� ��	 �
��	 ���	 u� 1u �� 11u 
���� ��� �
���
�	
���� ���� ��	 ��
��	 	��� ��	 �������	 �� B�
�� ���� ��� ����� y 	�
 ��
���
��� {0, 1} �
�	 ������ �
 ����
� � 
��


�� ��� ������� �� ���	 
���� ��� ������

�
���
�	
���� ���� ��	 ��
��	 	��� ��	 �������	 �� B�

�
����� �* �� �� ����� �
����� �� B � ��� 
��%+� � �� ����� �
����� �� B	 �� u ����� ��� ������������� 
��
��� �
������ �� B	 
� 
������ ����� � ��� ��

� ������������� ��� ���������� ���������� )� ����'�� ������� ��
������������ �� ��� �!���� �� �������� 
� 
������ ������� �� 
� ������������� �����������

�* (� 
��
����� �� ����%� ����
����� 
��� ��� ���� u �� 
������� |u| ≤ 3� )� 
���'�� �
��� 
�� ���������� ���
|u|	 �� �� ��

��� ���� ��� |u| > 3� ,� u ��� ��� 
�������� �� 
� 
����� �	 
� ����
��� ��� ����
����� ����%�� ,� u
������� 
�� �� �� ��	 �
��� �� 
��� ����
��� 
�� ����������� ,� u �������� �� ����� ���� ����������� �� 
� 
����� �	
�
��� �
 ����� �� ��#+� �

�������� � 
 �����!
� {10k10, 10k11 | k ≥ 0}	 �� �� 
��� ����
��� 
�� ����������� -�
�.�� �� u �������� ���+ ����������� �� 
� 
����� � �� %��� 
�� 
� 
����� �� /�%�	 �� u ��� �� 
� ����� 0k11 �� �� 
�
����� 0k10 
��� �� ������ k ≥ 0	 �
��� 
� 
��
����� ��� �
�������� ����%���

0* - �
�'� 
 �1
���'��	 �� ����� �� �
����� �� B ��� 
��%+� �� y	 �� �
 ��� ���������� ��������� �� 
� ��%������
�� B� /� ��������� �� 
��%+� � y	 �� �� ��������� ��� ��������	 �� �� ������ 
 �+������� �� 
 ������� � ��� ��

�
�������������� ����� ��� 
�� �+��

� 
� ��� 10000 · · · � ����� 
�� �� ������������� ���� 
�� ������ ���� ��� �
������
�� B�

2��� ���������� ��� �������
�� �����
� ������
���� � 
���� ���

����������	 ���� �

��� ���
���� 
� ������ ��
������������� � �� ��#+� ����+� � �� ��� ��%�� y ��� �� �

��!�� %��� 3� ��� ���� ���� � .��� 
� ��� ���� 
�
i4�'�� 
����� ���� � �� � ������� 
� 
����� �� 
 ������ ai� 5�� ������������� � �� ��#+� ����+� �� y ��� �� ���

�
(n, (uj)j≥1) �" n ≥ 0 ��� �� ������ �� (uj)j≥1 ��� ��� ����� �� ���� ��
� ���

Tn(y) = u1u2u3 · · · �
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 ��� ��(�� ���� 	� i����
 	
���
 
�� 	� ��������� ����	� 2 �� ��
���
�� ai�
��
��������
 ��
 	��� ���
� ���� �� 
���
� k ≥ 1� k = 0 �� k 
�� ����� 
� k = 1 �� k 
�� ������� .�� -/���-��
� y
�����
�� ��
 ��(���� �
 
��� 	� 	
���
 �� 
� ��� 	� �����������  �!�!� y ���
� 
����
�
�� ����� �	���
� ��������	
��
�
�
 B�
������������� ���� ����
 ���
���

�� �� ���,��� �������
� 	�
����
��
 �
 ����� �
		
� �	���
�� 
� 	
� ������������ � ������ �
 �	���
� ��������	
��

�
 ����
� ���
��� �
 y �
 	� ������
 �������
�

0��� i ≥ 1 
� u = ai+2ai+3 �� 
���
�� �
 y �
 	��+�
�� &� 
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− qch
2
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�������� !������ ���	���
� " ����
� ����� B#!�����
	��
�� ���� 	�$%� 
���%
 ��
y� �
��
� ���� �� ��� 	����
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− qck
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��
���� ���	 �� 	�	���� �� ���
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Ψck−1
(qck − 2−Ψck(ρ)) = Ψck−1

(
qck − 2−

k−1∑
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qcl+1
− qcl
2
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qck − 2− qck − qc1

2
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qck − qc1

2
+ qc1 − 2
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 �� !� �	 ��	)��	�� 	
� ��� �� � �	����
�

	� 
 �� ���� �� ����
 �� 
�����*������ qi0+1 = ai0+1qi0 + qi0−1 
	 �������� 	� �	
 ��	)��	��
 �������

��� �	���� qi0+1

	� qi0 
��� �	
�	����	�	�� ��+
��	��
 # ai0+2 	� ���
� �	 ��� 
����*	 ��	 � 
������	 *���	 ���	��	 �
��*	 �	
 ���������


� $
���%
&� ��	� �	
 ���������
 
����
	
 ���
 �	 �	��	�

,��
 �	 ��
 �- bi0 �= 0� ����
 �� �	�� ����
�	� ���	��	�	�� # �� 
�����*������ qi0+1 = ai0+1qi0 +qi0−1� �� ����	��

����


n =
M∑

i=i0+1

bi+2qi + (bi0+2 + 1)qi0+1 + (bi0 − 1)qi0−1 +

i0−2∑
i=N

bi+1qi

	� bi0+2 + 1 ≤ ai0+2 ��� �
*������ �	 i0� ��� ("���(�
	 �	 �
����	��	� � 	���	� (bi0+2 + 1)qi0+1 + (bi0 − 1)qi0−1 +∑i0−2
i=N bi+1qi � ��	 
������	 ���
 �	 
"
���	 �	 ���
������ � $
���%
&� ���� �	 
������ 	
� ����� ���
 � 	�
	���	

[N, i0]� 	� 
�� ��	)��	�� �������� ���� �� ���
 �� .� �	�� 	����	 
	 �������	 �� 
�����*������ qi0+2 = ai0+2qi0+1+qi0 �

���
 ���
 ���
 �	
 ��
 �� ����	�� ��	 
������	 ���
 �	 
"
���	 �	 ���
������ � $
���%
&� �	 n ���� �	 
������ 	
�

����� ���
 � 	�
	���	 [N,M + 1]�

,��
 �	 
"
���	 �	 ���
������ � $
���%
&�� �	 ����	

�
 �	 � �	�	��	 �� 	
� �	������ ���
 ��)���	 # �������	�

��	 ���
 �	 ��
 �	
 
"
���	
 �	 ���
������ ���
 �	
 ��
	
 	�����	
� ����	 � ����	��
 �	 �����	 �� �
���
�������

�� �	��	 /�0�� ��1�	

�
� �	
 �	�	��	
 �	��	�� ��2�	��	� ��	 
������	 � $
���%
&� # �� +��
 � �	�
 �� ����(	 � 	�

� �	�
 �� �����	 �� � �- �� �
�	

��
 �	 �	��	
 �	 �����3�	 �� 
������ ���
 �	 
"
���	 �	 ���
������ � $
���%
&�

����	 �	 �	��	 /�0��� 	� �� �
�	

��
 � ("���(�
	
 ���
 �� ����
 �	
�������	
 
�� �	
 ��	)��	��
 (bi) ��� �	 �
��*	��

��
 �	
 ���������
 � $
���%
&��

4��
 �	������
 ����	 
���	 ��� �	�����
 �

�����
 ������ ���
 �� ���	����� � ��	 �����
(	�
��� �	 � ��
������ �	

����
��� ��� �� �����	 	���	� N ���
 �	 
"
���	 �	 ���
������ � $
���%
&�� 	� �
�
����
��� �� ���
�������� �������	

���
 �� ��	��	 �� �

����� ����	����� �� ���
�������� � ���	��	��
 +���	�
 
������	��
 # �	��
 �����
�	�����	
�

$� ��
��
	 � ����� �	 ����	 �	 �� �
���
������� �	 �	 �(
����	� 4��
 �����
 
����	�� ���� �� 	���	� N ≥ 2� �	



������	
 ���
 �	 
"
���	 �	 ���
������ � $
���%
&� � 	���	�
 �	 �� +���	 �

qn+k − qn
N

�	 ��� �
�	

��	 �
�# ��	 �	
 �����	
 
��	�� 	���	�
�

$� ���
����	� ���� �� 	���	� a ��	������	� �� ������	

Aa =

(
a 1
1 0

)



���� �����	
�� 
� �
��	
� ���

�� ����� ��	�� 
�� ��� ��
��
��
�� (qn)n≥−1 ����
� ������ � �� 	������
(
qn+1

qn

)
= Aan+1

(
qn
qn−1

)
= Aan+1AanAan−1 · · ·Aa1

(
1
0

)
.

�
 ��� ���
��
�
� �
 �
���	 N ≥ 2� �� �
 �� ������	 �� �����	����
� �� �� ����� ��� ��
��
��
�� �	��� ������
N � ���	 k �
 �
���	� �
 �� 
���	 k ��
 ����� ��
� Z/NZ� �� �
 
���	�

Ak

������� �� �� ���	��� Ak ��
� Z/NZ� �
 ��
����	� �� �	���� G �
��
�	� ��	 ��� ���	���� Ak ��
� GL2(Z/NZ)�
����	�� ��� 	������
�

A0A1A−1A0A
−1
−1A0 =

(
0 −1
1 0

)
�� A1A0 =

(
1 1
0 1

)
��� ���� ���	���� ���
�� ��	�
�� ���� � �������
�� ��
� Z ��� ��
�	����	� ������
��� �� SL2(Z)� �� ����	�� ��
��	 �������� �� ������������
 �� 	�������
 SL2(Z) −→ SL2(Z/NZ) ��
� �
� �	���� ���� !�	� �	����� ��
� �� �	����	
�"����	� �� #$%&� � ���� �� '��� 
�� ��� ���	���� Ak ��
� �� ����	��
�
� −1� �
 �
 ������ 
��

G =
〈
Ak

〉
k∈Z/NZ

= {A ∈ SL2(Z/NZ) | ���A = ±1}�

�
 ��
����	� �� �	��"� �����
�� 
�� �
���� �������
 �� G ��
�� ��� ��
�	����	� (Ak)k∈Z/NZ
��	 ���	(��� �� ��


�����
 
���	���� ��	 �� ������	 ����

�

(
1
0

)
� )� ������ �� �	��"� ��
� ���
���(�� V ��� ������� ��
� ��� ������	�

����

��

(
u
v

)
���� 
���� ������ �
� ���	��� A �� G ����� 
��

(
u
v

)
= A

(
1
0

)
� �� ��
� ��� �		!��� ��
� '�	���� ��	 ���

������	� ����

�� 	����� ��	 �
 ��
�	����	 �� G ����	��
�
� � �� '������ (Ak)k∈Z/NZ
*(

u1
v1

)
Ak−→

(
u2
v2

)
�� �� �������
� ��

(
u2
v2

)
= Ak

(
u1
v1

)
�

+� �	��"�� ��������
� �
�� ��	� �	���
�� ���	 '��	� �� ����
��	����
 �� 
��	� �	��"��
 	��������
,� �	��"� �� ����� �����
 ��	��� ��������	 �� ���
� �� ��� ��� ��������� � 
��	� ��������
� �
 ��
����	�

�����"�(�� A = Z/NZ� �� �
 �� ��
����	�	 �� �	��"� �	��������
� ���	�� ����� �
 ��������� ��
� ������ �
����� ��

������ �
�� ��		����
��
� �� ������	 ����

�

(
1
0

)
� �
 ��
����	� ���
���(�� Γ ��� ���� ��	 �����"�(�� AN = Z/NZ

�������� ��	 ��� �������� *

Γ =

{
u = u1u2u3 · · ·un ∈ (Z/NZ)+

∣∣∣∣ Aũ = Aun
Aun−1

· · ·Au1

(
1
0

)
=

(
1
0

)}
�- ���
 
���� ���	 �
 ��� �
� v = v1v2 · · · vn ��	 �����"�(�� AN = Z/NZ�

Aṽ = Av1Av2 · · ·Avn �

.��
��
�
� 
�� 
��� ���
� �	����� �� ���	� �� ��	���
�� 
������
�� 
��� ������ �
 ����	� �� ����
�	�	 ��
�"��	��� �����
��

�������� 	
�
�

���� α ��� ����� 	� 
��������� (qn)n≥−1� 
���� ���� ���� ������ N ≥ 2� �� ������ �� ���� n0 � ������ 	����� ����

���� n ≥ n0 �� ������ �� ������ k ≥ 2 ��� ��� N 	����� qn+k− qn �� ����� ��� �� �������� (qn+k− qn)/N ��� �� �������

	��� �� ������� 	���������� ��������  



��� �������� 	
 �������
�����
 ��
 ���
 
�������


����

(
qn+k − qn

N

)
⊂]n, n+ k[�

������� �� ��	
 (ai)i≥1 �� 
��	
 �

 ���	�
�	
 ���	�
�
 �
 �� �
�	
 α� 
	 �� ��	
 y = a1a2a3 · · · � ��� 

	 �� ��	

����� 
�� ��������
	 AN = Z/NZ�
�� ���
����
 �

 �������	��� RN : N −→ [0, N [� ��� � �� 
�	�
� k �

���
�	 �

�
�	��
�
�	 �
 �

	
 ���
 ��

����
��� 
������
��
 �
 k ��� N � �
 
��	
 ��
 ���� ��	 �� �
��	���

k =

⌊
k

N

⌋
N +RN (k)�

�� �	���

 �
		
 ��	�	��� ���	�	 ��
 �� ��	�	��� k ���
��
 ���
 	���������
 ��
� �

 
�	�
�
 ��
�	��
� 
	 ���
 �����������

�� ��	�	��� k ���� �

 ���
���
�
�	
 ���
��	 ��	
��
��� �� 
	���	��
 �����
�� �
 Z/NZ�

�� ���
����
 �� 
�	�
� n ≥ 1 ��
 ���� ���
����
 ����
 ����	����
�
�	 ����� ���� �

 ������
 ��� 
���
�	� ��

����	 !

qn = anqn−1 + qn−2

= (�an/N�N +RN (an))qn−1 + qn−2

= (an −RN (an))qn−1 + (an−1RN (an) + 1)qn−2 +RN (an)qn−3

= (an −RN (an))qn−1 + (an−1RN (an) + 1−RN (an−1RN (an) + 1))qn−2+

(RN (an) + an−2RN (an−1RN (an) + 1))qn−3 +RN (an−1RN (an) + 1)qn−4

= (an −RN (an))qn−1 + (an−1RN (an) + 1−RN (an−1RN (an) + 1))qn−2+

(RN (an) + an−2RN (an−1RN (an) + 1)−RN (RN (an) + an−2RN (an−1RN (an) + 1))qn−3 + · · ·
�
 
��	
 ��
 
� ���� ���
����
 �� 
��	
 (ri)

n−1
i=0 �����
 ��� �� ������
��
 !

r0 = 1� r1 = RN (an)� 
	 ri+1 = RN (an−iri + ri−1)�

�� ��	� ���� 	��	 1 ≤ k ≤ n− 2� �� �
��	��� !

qn = (an − r1)qn−1 +

k−1∑
i=1

(an−iri + ri−1 − ri+1)qn−i−1 + (an−krk + rk−1)qn−k−1 + rkqn−k−2

= (an − r1)qn−1 +
k∑

i=1

(an−iri + ri−1 − ri+1)qn−i−1 + rk+1qn−k−1 + rkqn−k−2

= N
⌊an
N

⌋
qn−1 +

k∑
i=1

N

⌊
an−iri + ri−1

N

⌋
qn−i−1 + rk+1qn−k−1 + rkqn−k−2.

"� 
��	
 (rk)
n−1
k=0 � ��
 ���
 Z/NZ� 
�	�
���	 �� �
��	��� �
 ������
��
 
�����	
 !(

rk+1

rk

)
= Aan−k

(
rk
rk−1

)
= Aan−k

Aan−k+1
Aan−k+2

· · ·Aan

(
1
0

)
.

�� �� ���	�
� ��
 ���� �
�	 	����
� �� 
�	�
� 1 ≤ k ≤ n−2 	
� ��
 ���� ��	

(
rk+1

rk

)
=

(
0
1

)
� �
 ��� 

	 �������
�	

� �� �
��	���

Aan−k−1

(
rk+1

rk

)
=

(
rk+2

rk+1

)
=

(
1
0

)
.



���� �����	
�� 
� �
��	
� ���

���� ���	�
� ��

��	
��
 ���� 	
� k� �� �� �	����
� �
 ����	 �
 ��
 �
� ��	���	
� ��
 ���� � ����
�	� ���	
 ����	 ��
������	��	��� �
 �
 	������
� ��

��	
��
 ���� 	
� k 
�	 �������
�	
 � �� �
��	���

Aan−k−1
Aan−k

Aan−k+1
Aan−k+2

· · ·Aan

(
1
0

)
=

(
1
0

)
�

�� ��������
 ����� �� ���	
 �
� �
�	
��� ������
�(
APn(y)

(
1
0

))
n≥1

=

(
Aa1Aa2Aa3 · · ·Aan

(
1
0

))
n≥1

��� 
�	 ��
 ���	
 ���	 �
� ���
��� �����	�
��
�	 � �� 
��
���
  �� !�
 �������� ��"���
�� � N2#� $� 

��	
 ���� ��
���% n1 ≥ 1� � ���	�� ����
� �
		
 ���	
 �
 ��
�� ��
 �
� ���
��� ���
��
 �		
��	 ��
 �� ��	� �
 "���� &�
�	'�'���

����� 

��	
 �� ���% n1 ≥ 1 	
� ��
 ���� 	��	 n ≥ n0� �� 

��	
 �� 
�	�
� m > n 	
� ��


APn(y)

(
1
0

)
= Aa1

Aa2
Aa3

· · ·Aan

(
1
0

)
= APm(y)

(
1
0

)
= Aa1

Aa2
Aa3

· · ·Aam

(
1
0

)
���( ���� 	��
� ������
 �
� ��	���
� Au ���	 ���
�����
��(

1
0

)
= Aan+1Aan+2Aan+3 · · ·Aam

(
1
0

)
�

&
�� �����	�
 ��

��	
��
 ���� ���% n0 ≥ 1 	
� ��
 ���� 	��	 n ≥ n0� �� 

��	
 �� 
�	�
� 0 ≤ k ≤ n− 1 	
� ��


Aan−k−1
Aan−k

Aan−k+1
Aan−k+2

· · ·Aan

(
1
0

)
=

(
1
0

)
��� �� ��� �� ���� 
 �����

(
rk+1

rk

)
=

(
0
1

)
�

)��� �
 ���� �� � �� �
��	���

qn = N
⌊an
N

⌋
qn−1 +

k∑
i=1

N

⌊
an−iri + ri−1

N

⌋
qn−i−1 + qn−k−2


	 �� ��
 �
� 
�	�
� (ri)
k
i=0 �����	�
��
�	 � ��
��
���
 [0, N [� �� �
�	 �����
� �����
 ��
*��
�	 �����������	 �
���	

�
� ���	�����	� ��� ⌊
an−iri + ri−1

N

⌋
≤ an−iri + ri−1

N

< an−i + 1.

&
		
 ���%���	� �+��	 ��
� 
�	�
 
�	�
��� �� ��	�
�	⌊
an−iri + ri−1

N

⌋
≤ an−i


	 �� 
�	 ���� ���� �
� �����	���� ���������	��� �� �
��
 �
 ���	�,�
 -����� �� 
� �����	 ��
 �
 �����
 
�	�
�

qn − qn−k−2

N
=

⌊an
N

⌋
qn−1 +

k∑
i=1

⌊
an−iri + ri−1

N

⌋
qn−i−1

���
	 ��
 ����	��
 ���� �
 �+�	��
 �
 ������	��� ����	��.�/� �+��	 �� ������	 ���	
�� ���� ����	
�����
 
�	�
�
[n− k − 1, n]� 0� "��	� �� �� ������	��� ����
�	




��� �������� 	
 �������
�����
 ��
 ���
 
�������


qn − qn−k−2

N
< qn

�� ���� 	��	
��� ��� 	� 
������ �
� �� ���� ��	
� ���
 
��������

� ������ ]n− k − 2, n[�

��
 ���
��������
 
����
������ ���� ���� ������
 n ≤ m ��

 ���

APn(y)

(
1
0

)
= APm(y)

(
1
0

)
�

�� �� � �� ����
 ���
�� n0 ≥ 1 ��
 ��� ���� ���� n ≥ n0 �
 ���
�� �� ������ m ≥ n ��
 ��� 
����
��� 	����

�
 
���

�������� �� 	�	� ������ ���� ������� 
� ��
�
����

�� �������� �� �! ������ ���	 �� 	�����
�� 
� 
������ �� 
��	������ ���
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"
���� ��#
���$
%� �� 	������
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���
 �
�����
 �� 	��������
��� �� 	����������� �� 
"
���� �� ���������� ��#
���$
%�


��
 
���������� �� &�
� ����
� 
� ����
��� ��� �� ������ N ≥ 2� '� �������� ������� ��� ������
�
����� ��
 ��
�����


�� �"�� 
������� �( (Fn) �
� 
� 
���� �� )�&���		� *

Fn+3 − Fn = 2Fn+1� Fn+8 − Fn = 3(Fn+5 + Fn+3) �� Fn+6 − Fn = 4Fn+3

�� ��	���

Fn+20 − Fn = 5(Fn+16 + Fn+13 + Fn+11 + Fn+9 + Fn+6 + Fn+3)

���� 
�
���

�
 �� ��
�
�� 
�� 
� ���� ��� 
�
 
������
 ��
 �����
 ��
 ���&��
 �� ������ ���
 
� 
"
���� �� ����������

��#
���$
%� 
��� ������������ 	�����
�
� ����� �����
������� �
� ��

� �� ������ 	��
���	���� ���
 
� 	�
 �( 
���

������ + ���������� 
������� n1 ≥ 1 ��
 ��� 
� 
����

(
APn(y)

(
1
0

))
n≥n1

������ �����
 
�
 ��
���
 ��� ������� �� ���
� ,� 
��� ����� �� ������ n ≥ n1 ���
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Fn+20 − Fn = 5(Fn+16 + Fn+13 + Fn+11 + Fn+9 + Fn+6 + Fn+3)
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Fn+20 = Fn+19 + Fn+18

= 2Fn+18 + Fn+17

= 3Fn+17 + 2Fn+16

= 5Fn+16 + 3Fn+15

= 5Fn+16 + 3Fn+14 + 3Fn+13

= 5Fn+16 + 6Fn+13 + 3Fn+12

= 5Fn+16 + 5Fn+13 + 4Fn+12 + Fn+11

= 5Fn+16 + 5Fn+13 + 5Fn+11 + 4Fn+10

= 5Fn+16 + 5Fn+13 + 5Fn+11 + 4Fn+9 + 4Fn+8

= 5Fn+16 + 5Fn+13 + 5Fn+11 + 8Fn+8 + 4Fn+7

= 5Fn+16 + 5Fn+13 + 5Fn+11 + 5Fn+8 + 7Fn+7 + 3Fn+6

= 5Fn+16 + 5Fn+13 + 5Fn+11 + 5Fn+8 + 5Fn+7 + 5Fn+6 + 2Fn+5

= 5Fn+16 + 5Fn+13 + 5Fn+11 + 5Fn+8 + 5Fn+7 + 5Fn+6 + 2Fn+4 + 2Fn+3

= 5Fn+16 + 5Fn+13 + 5Fn+11 + 5Fn+8 + 5Fn+7 + 5Fn+6 + 4Fn+3 + 2Fn+2

= 5Fn+16 + 5Fn+13 + 5Fn+11 + 5Fn+8 + 5Fn+7 + 5Fn+6 + 6Fn+2 + 4Fn+1

= 5Fn+16 + 5Fn+13 + 5Fn+11 + 5Fn+8 + 5Fn+7 + 5Fn+6 + 5Fn+2 + 5Fn+1 + Fn

���� ���� �������

Fn+20 − Fn

5
= Fn+16 + Fn+13 + Fn+11 + Fn+8 + Fn+7 + Fn+6 + Fn+2 + Fn+1�

���� 	���� ���
����� �� ���� ���	���� �
� �������	������ �
 ������� �� �
�������� ������� �!� ��
� ������� ��
"���
�� ������ ��	#��� �
� 	�� �������	������ �� ��
����� ��� �$��� 
�� ���� %����� &��� ����'
��	� ������� ��
����� �� 	����(�� )�*��� +� ����� �� 	����(�� )�*�� ��� ����� 
� ����� ��������� �� �� 	�����#������ �
 �������
�� �
�������� ������� �!�� �� ��� 
�� ����� 	��" �� �� ������������� �
 �#������ )�*�,�

-�
� ������� ���������� 
�� .
����	����� �
 ����� �� / ��������� �� ������� 0 �������� ����	��� 1 
�� �����2
��������� �� 	� ���
���� �
 ����� �� $
� �� ����� "��������� ��� �����	���� "�������

-�
� 	�����3��� ��� 
�� ������������ ��������� 1 	����� ���
����� �����
� ���� �� ��	���� 4)�56 ���� �� ����
��
��� �����	���� "������ ��
�$������ 1 ��
�� 	��������������� +� ������������� �
 �#������ )�*�,� ������ �
� �� ��
����

y = a1a2a3 · · ·
����� ��
� ��� �
7��� �� y ����� 
�� "�	���������� �� ����� �� ��� u ����������� 1 ����������

Δ =

{
u ∈ A+

N

∣∣∣∣ Au

(
1
0

)
=

(
1
0

)}
= Γ̃

= {u ∈ A+
N | ũ ∈ Γ}

�� �������� �8�� ��
� ���	������� �
��� ������ 
� ������ n0 ��� �
�� ��
� ��
� n ≥ n0� T
n(y) ����� 
�� "�	2

���������� �� ����� ���������� �� Δ� �� ��
� ����� ������ ���������� ��� ���� B �
� ���� ��� �������� �� Δ ��
���	��$��� ��� 	���� �� 	��	��������� �� ��
� �������� �� Δ� �� �� ������9� ����� �
�
� ��� ��� ����� �
 ��
�

�� "�	���������� ���� ��� ������ ���� ��� �������� �� B� ���
��� ����� y ����� 
� �
7�� z ��� �
� ��
� �
7�� ��
z ����� 
�� 
���
� B2"�	����������� :�� ���������� ���� ��� �����%
�� ����	�� �� ������	� )�5�;� ���� �� 	�� �� ��
��	#��	#� ��� ���������� ��� ��� �� 22������� 	���� ���� �� ��	���� 4)�56� ���� �� N 2��������
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��� ��� 	
	���	� �
�� ��������	 �� 	��	���	 ��� E �	 ���� ��� �
������	� AN � �	� ��	 ���� �	��	�� ������	 ���
���� ����	� �� �����	 ��������� �	����� �� ������������� �� �������	 ���� � �����	 �
�����	 �	 ������	 �����	

���� �� !���	 A−1
v

(
1
0

)
� "���� �� �	�� ���� ��	 ���� ���� ��� ��� u ∈ A+

N � �� 	
���	 �� �����	 ��� v ������	���� #

E �	� ��	 vu ���	��	 ��	 !������������ 	� �	��	 �
����	��� �	 B� $	 �%�	 �	 �	�����	 !������ ��	 ���	����������
���� �������	 �	 �
������ ��&�'�

$���	 ���� �� �	����� (��&)� �� �	�� ���������	� # ������ �
��	 B*!������������ �
�� ��+
	 ���	
� �	 y� ��
���	��	�� !���	� ��� �	����	�	�� �	� ��,��	��	� 	
��	������ ���� �	 �%����	 �	 ���������� �
-����.�/� ��	 �	
�������	 ���� ���� !������� 0� ����������� �� ��+
	 Tn(y) �	 y ��� ���	� ��	 B*!������������� 	� ��	 �
�� ��������	
�� B*!������������ (n, (ui)i≥1) �	 �	 ��+
	 ���	
�� �� �	�� ���������	� 	� ������ (cj)j≥1 �� ����	 �	� �����	� �1 �	�
�	��	� �	 �� !������������ ���������	��� �
	��*#*���	 cj = n+1+ |u1u2 · · ·uj−1| �	 ����	 ��	 T cj (y) = ujuj+1uj+2 · · ·
�	� ���	��	��� !���	�� ��	 ���� ��	��	���� �	� ������ �	 N *��������� -� � �� �� �������	 ���� ��	 �	� 	���	��� ����
1 ≤ l < k

qck − qcl
N

=
k−1∑
h=l

qch+1
− qch
N

���	��	�� �	� �������	� ���� �	 �%����	 �	 ���������� �
-����.�/� ���� �	� ������� ���� ����	��� ���� �	� ���	�����	�
]cl, ck[� $	�� ������	� �
����� �� ��������� �� ��� ��	 �� ����	 �����	

ρ =
+∞∑
k=1

qck+1
− qck
N

�����	 �� ���	��	�� !���	�� $	� ���	��	�� !���	�� ��������� # ������ �
��	 B*!������������ �
�� ��+
	 ���	
� �	
y� ������ ���� �� ��� ������	� �
����� �	 �������	 �� ��� ��� 	�� ���	�� 	� 2 �	������� 3 �	� 	���	�� �	 �� !���	
(qck+1

− qck)/N � �	 ��� 	�� ��	 ��������� �����	 �� �	� �������� �	 �	��� �������	� ���� �	 �%����	 �	 ����������
�
-����.�/�� 4� 	�� ����� ����� ��	 �	�
 �	�� ���	��	��� ����� ���������� ���� �������	��� �� �	�� �	 ����� �� 	� �	��	�	��
�� �	� B*!������������� �	 ��+
	� ���	
�� �	 y ���� �������	��	�� $	 �%�	 �	 ������������ ���� N ���������	 ����
�� ������������ ���	��	 ���� �	� ���	��	��� !���	�� �������	��� # �	��� �������	�����	�� 4� 	�� 	� 	,	� ���� �����	
�	 �����	� ��
	,	����	�	�� �	� ������������� �	 �	��	 �	����� �	��	��	�� ��
 �5�	� ��	 �	��	� ����	���	� ���� ��
�	����� (��&) # �
	
�	����� �	 �� ����������� ��&��� ���� ����	��	 ���� �
����� ��� ������ �
�������	 ���	��� 6	 !���
��	 �� ������ �	 �������	�����	 ���� ���� �����������	 	� ����	 # �����	���	 	� # ���	�����	�� 	� ���������	� 	� �	��	
�	 ���� ������	��� 7�����	 �������� ���� ����� ������ �	� ����	� �	��	� ���� �	� ��� N = 2 	� N ��	������	� �	�
������������� �	 �� �	����� (��&) ����� 	� 	,	� �	������ ���� ������	� ��	 �	��	� ���	��	� ���� �	��	 �	����� (���)�

$	�	������ ���� �	 ��� �	� ������ �	  *�������� �
	��*#*���	 �	� ���	��	��� !���	�� �������	��� # �	�� �������	�*
����	�� �� ��������� �
��	 ���	���������� ���	8 ������	 �	� ���������� �	 �	� ���	��	��� !���	��� -� � �� �
����	���
�	����� ����	 ����	 �	 �� ������ �������	�����	 ���� �	� �	������ (�� ) 	� (��')� ��	 �	��	 ������ � �	������
�
���	��� ������� 	� ��� ���� ���� ��+���	� # ����������� ���� �	� 	���	�� N ��	������	�� ��� 	
	���	 # �
���	 �	
!�����	� ��������

$	 ��	 ���� ��	����� �	� �	������� �	 ������� ����	����� ��
 �������	� �	� 	���	��

qn+k − qn
N

���� �	 �%����	 �	 ���������� �
-����.�/�� -� � �� ��	 �	� 	���	�� ����	�� ���	��� # �
���	 �	� ���� u �����������
�
	��	���	 B� 	� ��	 �	� ����������� ������������ ���� �	� !�����	� ���� �	� ����������� (qi) ���� �	� �����	� i
�������� �
���	�����	 	���	� !���� ��� ��	 ������	��	 �� ��� u ���� y� "����� �	� �	������� ���� 	� !��� ������	 ����
����	 ������	��	 �
�� ��� u ���� �	 ��� y ������� # �
������	 ��	��	 �	��	� $	 �%�	 �	 �������	�	�� �����	 ��	
�	� !�����	� �	 ���� ��� �� ���� ���	� ��
 ������� �	� ����������� �	 �� �	��	� ���� ���� 	� !��� ���	� ��
 �����	
��

��
	�� ���	�����

6	 �	��	 	����%� �	 2 ������� 3 �����	�� �	 �� ������	 �	� �����	�� 9� ����� �	 ������� ���� �� �����	 	�� ��
����	�� g �	 �	 �����	 �������� N ·g = 0 �1 0 	�� �
����	�� �	���	 �� �����	 ���������� :� ��	 �	� ���	��	��� !���	��
���� ����� ���� !���	 �
��	 ����	 �����	� �� 	�� �����	� �	 �	 ���	� �� ��	����� �	 ������ �� �
�� �	�� �	� ����	��
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������� ������ ��������
�� ��� ����� ��	 �� ������ 
 �
� 	
����	�
�
+�	� �� 
������# ������� �������
� *�� ���
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 ���
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��	
�������� �������� !������ ����� �� ��	
� �� ��� �,
��	*�� ��� ���� �����	�
� ������ �� ��	� �
 	
������� ������
����� �
 �����
� �� ���� R/Z� *�	 ��� ��	�����
� ��
	 ���
� ��	 ���	�	��� %
 ������	� ���
	� �
� ��	 �� ������
��� ���
������ ��� 	
��������� �"�� �������
� �,
��	*���� �� ���
	� ��� ���
����	�	�
 �� ��������� ����� ��	 ���
��� 	
�������� �������� ��	� �� ������� 
� ���������	� ��� �� ������
��� �� ��������� ����	
���	�� �� ����� ��	�
�
 ���� �� ����� ��� ��������� ���� ��� ���� �����	�
� �����
��
� ��� �	
�����	�� ����� �� ��� ��������	��	*���
����
��
�� 
 �� ���	��� �� ������# ����� ���# �� -� .�����/'	 0�1�2� *�	 ���
	�� ��
� �� ����� ���� �� �	����	�
 ��
3� 4��5� �� 6� 7����
	� ���� �
� ����� ������ ����	��	���	��� �
� ����	���	�
 ���	
� ������ ��� ��� ���� �����	�
�
*�	 ���	�
���	� 
 �	�	��� ���  ����
 �� ��	 �� ������ ��� ���
������ ��� ������� ��	
�������� �������� �
 ���� �������
������ �
 �����	�
 ��� �	8���
�� ��	
�� �� ����

6� ����� �� ��	
� �� ����	�
 �����,� ����	�
� �� ��	� *�� �	 �
� ����� ��	 �� ������ ��� ��� ������� ���*�	����
��
��	
�������� ������� �#	���	�� ����� �
 ������	� 9 ������ ������ 
 ������ : �� ���� 	
�������� �������� ;
 ����	���	���
�
 ��������	� *��� �
 ��
�	����
� ���# 	
�������� ������� ��
� ��� �������� ��
� ���� ���# ��
��
�� ��
� ���
�
������� �� �,��

]c1, c2[∪]c2, c3[∪]c3, c4[∪ · · · ⊂ N

���� �
� ��	�� ���	�����
� ���	���
�� (ci)i≥1 ���� ��*����� ��� 	
��������� �
�	��� ��
�	����� ��
� 
�
��	���� �� �����
�� ��� ���# 	
�������� ������� ���	�
���	� 
 ���	�� ���� �
� ����� 	
�
	� �������
� ��� ������ ��������
��
��� 
 �

�"�� 	
�������� ��
��	����
� �� ��������

<� ��� �������� ����
�� ���� ��� 	
�������� ������� *�	 ����	�
� ��� ��	
�� �� N �����	�
� ���� ���	�
���	� 
 ���
	�
�
� ��	 �� ������ *�	 ��
��� ������
� �
 ������ �� �,�� ��	��
�� %
 ��
�	���� �
 	
������� ������ ρ *�	 ��� �
 ��	
�
�� N �����	�
� ������
��	�� ��� �� �� �����

ρ =

+∞∑
k=1

qck+1
− qck
N

����� �
 �	����	� *�� �� ������ ��	��
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